Budget Development Detail Report

Fiscal Year: 2022

Budget Account	Description	Quantity	Unit Cost	Unit Measure	Request/ Item Amount	2019-2020 Actual Expenditure	2020-2021 Adopted Budget	2021-2022 ** Proposed Budget	Percent Change
1010 Board Of Education	Function					•			
1010-430-03-9000-306	CONTRACTED SVCS					1,000.00	10,000.00	11,000.00	10.00
BOE Services provided b	by outside vendors								
Purcha	ase BoardDocs or Equivalent	1.00	11,000.00	EA	11,000.00				
1010-440-03-9000-306	TRAV CONF WKSHP					1,630.00	5,000.00	5,000.00	-
BOE T	ravel ,Conference and Workshop Expenses	1.00	5,000.00	EA	5,000.00				
1010-450-03-9000-306	SUP & MATERIALS					484.53	1,000.00	1,000.00	-
Supplie	es and Materials Subscription	1.00	1,000.00	EA	1,000.00				
	1010 Board Of Education Function SubTotal					3,114.53	16,000.00	17,000.00	6.25%
1040 District Clerk Function	on								
1040-160-03-9000-303	DIST CLK SAL					71,610.00	73,002.00	78,353.00	7.33
1040-161-03-9000-303	DIST CLK SAL SUPP					-	-	1,000.00	-
Overtime for District Cler	rk								
1040-433-03-9000-306	DUES AND MEMBS					-	500.00	500.00	-
District	t Clerk Membership	1.00	500.00	EA	500.00				
1040-440-03-9000-306	DIST CLK TRAV CONF WKSHP					1,401.65	2,000.00	2,000.00	-
Attend	ance at Business Management Workshop	1.00	2,000.00	EA	2,000.00				

Budget Development Detail Report

Fiscal Year: 2022

Budget Account	Description	Quantity	Unit Cost I	Unit Measure	Request/ Item Amount	2019-2020 Actual Expenditure	2020-2021 Adopted Budget	2021-2022 ** Proposed Budget	Percent Change
1040-450-03-9000-306	DIST CLK SUPPLIES					46.19	500.00	500.00	-
Dist	trict Clerk Supplies	1.00	500.00	EA	500.00				
	1040 District Clerk Function SubTotal					73,057.84	76,002.00	82,353.00	8.36%
1060 District Meetings	Function								
1060-161-03-9000-303	BOE SAL SUPLM					3,675.47	3,500.00	3,500.00	-
Allowance for perform	nance of duties related to annual election.								
1060-430-03-9000-306	DIST MTGS CONT SVCS					9,272.94	18,550.00	18,150.00	-2.16
Rer	ntal of Voting Machines	2.00	1,500.00	EA	3,000.00				
Ser	rvices of Election Workers	2.00	3,200.00	EA	6,400.00				
Prir	nting of Ballots, Brochures, Absentee Ballots	2.00	750.00	EA	1,500.00				
Pos	stage for Brochures, Absentee Ballots	2.00	2,000.00	EA	4,000.00				
Ref	freshments for Election Workers	2.00	325.00	EA	650.00				
Trai	nslation Services for required Spanish Documents	2.00	1,300.00	EA	2,600.00				
1060-434-03-9000-306	DIST MTGS ADVERTI					2,191.10	8,000.00	8,000.00	-
Lon	ng Island Business News (Annual Election)	1.00	1,500.00	EA	1,500.00				
Lon	ng Island Business News (Revote)	1.00	1,500.00	EA	1,500.00				
Blai	nk Slate or Roslyn News (Annual Election)	1.00	2,500.00	EA	2,500.00				
Bla	nk Slate or Rolsyn News (Revote)	1.00	2,500.00	EA	2,500.00				
1060-490-03-9000-306	BOCES SVCS - ELECTION					11,034.79	17,250.00	16,750.00	-2.90
BOI	LD - Initial Preparation of Voting Books	1.00	11,750.00	EA	11,750.00				
BOI	LD - Revote Preparation of Voting Books	1.00	5,000.00	EA	5,000.00				
WinCap Ver. 21.04.06.1	104								

Budget Development Detail Report

Fiscal Year: 2022

Budget Account	Description	Quantity	Unit Cost	Unit Measure	Request/ Item Amount	2019-2020 Actual Expenditure	2020-2021 Adopted Budget	2021-2022 ** Proposed Budget	Percent Change
	1060 District Meetings Function SubTotal					26,174.30	47,300.00	46,400.00	-1.90%
1240 Chief School Admini	strator Function								
1240-150-03-9000-303	SUPERINTENDENT					269,898.00	275,296.00	280,802.00	2.00
1240-160-03-9000-303	CENT ADM NON-INST					82,977.00	84,597.00	86,498.00	2.25
1240-161-03-9000-303	CENTR AD NON-INS SUPLM	partian is based on history	ical expanditures	ofor		2,319.08	2,000.00	2,400.00	20.00
the past seven years.	and special assignments throughout the school year. The allo	cation is based on histor	icai experiultures	S IOI					
1240-433-03-9000-302	MEMBERSHIP DUES					3,745.26	3,820.00	4,195.00	9.82
NYSC	COSS/ASA	1.00	3,195.00	EA	3,195.00				
NCCS	ss	1.00	500.00	EA	500.00				
NCCS	SS Northwest Quadrant	1.00	500.00	EA	500.00				
1240-440-03-9000-302	SUPT TRAV CONF WKSHP					5,389.28	8,025.00	8,125.00	1.25
ATM F	Retreat	1.00	2,300.00	EA	2,300.00				
NYSC	COSS Fall Summit in Saratoga	1.00	2,100.00	EA	2,100.00				
NYSC	COSS Winter Institute in Albany	1.00	2,100.00	EA	2,100.00				
Misc.	Mileage Reimbursements	1.00	75.00	EA	75.00				
Valdei	ictorian/Salutatorian Recognition	1.00	300.00	EA	300.00				
	ellaneous Conferences (i.e., LIASCD, School Law erences, League of Women Voters)	1.00	1,250.00	EA	1,250.00				
1240-450-03-9000-302	SUP & MATERIALS					3,708.48	4,425.00	4,425.00	-

Budget Development Detail Report

Fiscal Year: 2022

Budget Account	Description	Quantity	Unit Cost	Unit Measure	Request/ Item Amount	2019-2020 Actual Expenditure	2020-2021 Adopted Budget	2021-2022 ** Proposed Budget	Percent Change
	School Lunch Fund (Board of Education Metings, Admin. Bldg. Supplies, Misc. PD Workshop Mtgs.)	1.00	3,200.00	EA	3,200.00				
	Holiday Farms (Summer PD workshop supplies)	1.00	200.00	EA	200.00				
	Periodicals (BOCES Directory, Roslyn News, Roslyn Times, Education Week, American School Board Journal) LEAF Subscription Service	1.00	550.00	EA	550.00				
	Barnes & Noble (Administrative PD Reading)	1.00	375.00	EA	375.00				
	Office Supplies	1.00	100.00	EA	100.00				
	1240 Chief School Administrator Function SubTotal					368,037.10	378,163.00	386,445.00	2.19%
1310 Business Ad	Iministration Function								
1310-150-03-9000	0-303 CHIEF BUSINESS OFFICIAL					383,764.76	391,440.00	356,371.00	-8.96
1310-160-03-9000	D-303 BUSINESS NON-INST					64,880.00	66,138.00	71,387.00	7.94
1310-161-03-9000	D-303 BUSINESS NONCERT SUPPLEM					1,036.51	6,000.00	2,000.00	-66.67
Allowance for co	overtime and special assignments throughout the school year. The allo years.	cation is based on histori	cal expenditure	s for					
1310-200-03-9000	D-303 BUSINESS EQPT					-	15,000.00	15,000.00	-
	Allowance for equipment needed by other programs and administrators that was not or could not have been anticipated at the time the budget was created.	1.00	15,000.00	EA	15,000.00				
1310-230-03-9000	D-303 DISTRICT OFFICE FURNITURE					2,160.38	10,000.00	10,000.00	-
	Allowance for furniture needed by other programs and administrators that was not or could not be anticipated at the time of the budget development	1.00	10,000.00	EA	10,000.00				

Budget Development Detail Report

Fiscal Year: 2022

Budget Account	Description	Quantity	Unit Cost	Unit Measure	Request/ Item Amount	2019-2020 Actual Expenditure	2020-2021 Adopted Budget	2021-2022 ** Proposed Budget	Percent Change
1310-430-03-8900	-303 COVID Cont Svces					10,800.00	-	-	-
1310-430-03-9000	-303 BUSINESS CONTRACTUAL					13,393.50	16,116.00	31,116.00	93.08
	Omni Group 403b Annual Processing Fee - updated esti 11/18/2020	mate 352.00	33.00	YR	11,616.00				
	Actuarial Calculation of Workers Comp Liability for claims incurred prior to July 1, 2014	1.00	4,500.00	EA	4,500.00				
	Allowance for Consultant to Support New Assistant Superintendent for Business	1.00	10,000.00	EA	10,000.00				
	Allowance for Consultant R. S. Abrams to work with our Accountant Treasurer during the school year as necessar	1.00 'Y	5,000.00	EA	5,000.00				
1310-433-03-9000	-303 BUSINESS MEMB DUES					1,950.00	2,685.00	2,575.00	-4.10
	Nassau ASBO	2.00	300.00	EA	600.00				
	NYS ASBO Institutional Membership	1.00	1,500.00	EA	1,500.00				
	ASBO International	2.00	200.00	EA	400.00				
	NYS Association of Personnel Administrators	1.00	75.00	EA	75.00				
1310-440-03-9000	-303 BUSINESS TRAV CONF WKSHP					5,958.79	9,720.00	9,696.00	-0.25
	School Business Management Workshop including Assis Superintendent, Assistant Administrator, Accountant and Assistant Payroll Supervisor. District Clerk may also atte but has this amount in her own budget code.		1,500.00	EA	6,000.00				
	NYS ASBO Annual Conference	1.00	2,300.00	EA	2,300.00				
	Allowance for Mileage Reimbursement at IRS Rate (\$0.5 mile for 2021)	6 per 1,600.00	0.56	EA	896.00				
	Other Meetings as Necessary including attendance at webinars, seminars and local conferences	1.00	500.00	EA	500.00				

Budget Development Detail Report

Fiscal Year: 2022

Budget Account	Descriptio	n	Quantity	Unit Cost	Unit Measure	Request/ Item Amount	2019-2020 Actual Expenditure	2020-2021 Adopted Budget	2021-2022 ** Proposed Budget	Percent Change
1310-450-03-9000	-303 BUSINES	S OFFICE SUPPLIES					1,400.88	2,000.00	2,000.00	-
	Supplies for Office of Business and Adminis	he Assistant Superintendent for tration	1.00	2,000.00	EA	2,000.00				
			1.00	0.00	EA	0.00				
1310-490-03-9000	-303 BUSINES	S BOCES SVCES					45,811.25	53,225.00	53,300.00	0.14
	Questar III State Aid F	lanning Service	1.00	3,500.00	EA	3,500.00				
	Actuarial Services for Questar III BOCES	analysis of GASB 75 Liability by	1.00	4,800.00	EA	4,800.00				
	Allowance for Annual Questar III BOCES ar	nventory of Fixed Assets through d Assetworks	1.00	25,000.00	EA	25,000.00				
	in order to complete F	ncluding 5Share, 5Cast and 5Cast Plus ederal and State Transparency 14 and ESSA) requirements.	1.00	20,000.00	EA	20,000.00				
	1310 Busine	ess Administration Function SubTotal					531,156.07	572,324.00	553,445.00	-3.30%
1311 Accounting S	Services Function									
1311-160-03-9000	-303 ACCTG N	ON-INST					335,764.31	358,613.00	298,418.00	-16.79
1311-161-03-9000		ON-INST SUPP gnments throughout the school year. The allocati	on is based on histor	rical expenditure	es for		28,664.92	20,000.00	25,000.00	25.00
the past seven y	•	, monto anoughout the concern you.		Todi experience						
1311-430-03-9000	-303 ACCTG C	ONTR					56,393.91	59,477.00	60,567.00	1.83
Allowance for 26	% Increase over fees pa	d during 2020-21								
	Annual Support and M Accounting	laintenance for Win Cap module -	1.02	9,220.00	EA	9,404.40				
	Annual Support and M Payroll System	laintenance for Win Cap module -	1.02	9,220.00	EA	9,404.40				

Budget Development Detail Report

Fiscal Year: 2022

Budget Account	Description	Quantity	Unit Cost	Unit Measure	Request/ Item Amount	2019-2020 Actual Expenditure	2020-2021 Adopted Budget	2021-2022 ** Proposed Budget	Percent Change
	Annual Support and Maintenance for Win Cap module - Employee Attendance	1.02	3,070.00	EA	3,131.40	·	· ·	<u> </u>	
	Annual Support and Maintenance for Win Cap module - H/R, Appointments	1.02	3,070.00	EA	3,131.40				
	Annual Support and Maintenance for Win Cap module - Employee Benefits	1.02	3,070.00	EA	3,131.40				
	Annual Support and Maintenance for Win Cap module - Enhanced Reporting Module	1.02	2,100.00	EA	2,142.00				
	Annual Support and Maintenance for Win Cap - Application Server	1.02	5,900.00	EA	6,018.00				
	Annual Support and Maintenance for Win Cap module - Remote Offsite Backup Service	1.02	2,045.00	EA	2,085.90				
	Annual Support and Maintenance Fees for Pay Authorization Level 2 Timesheet Interface	1.02	1,387.00	EA	1,414.74				
	Formax folding machine System Maintenance - previously the Allison Payment System Maintenance provided by Acorn Media	1.02	850.00	EA	867.00				
	Annualized cost of Timesheet Fees Based on Usage on a per employee sliding scale of \$2 per month per employee plus \$0.25 per month per employee for clock input	1.02	6,120.00	EA	6,242.40				
	Electronic Payroll Vouchers for Stipends and Term Contract Pay such as coaches, club advisors, etc.	1.02	5,100.00	EA	5,202.00				
	Annual Employee Self-Service fee	800.00	6.25	EA	5,000.00				
	Annual Support and Maintenance Fees for Pay Authorization Level 1 (Basic Functionality)	1.02	2,100.00	EA	2,142.00				
	MOT Remote Executiuon 3rd Party Software Annual Fee	1.02	1,225.00	EA	1,249.50				
1311-450-03-9000	1-303 ACCTG SUPPLIES					747.68	3,000.00	3,000.00	-
	Office Supplies for Payroll and Accounting	1.00	3,000.00	EA	3,000.00				
	1311 Accounting Services Function SubTotal					421,570.82	441,090.00	386,985.00	-12.27%
1320 Auditing Ser	vices Function								
1320-430-03-9000	0-303 AUDITING- CONTRACT SVCS					24,879.86	25,000.00	25,000.00	-

Budget Development Detail Report

Fiscal Year: 2022

Budget Account	Description	Quantity	Unit Cost	Unit Measure	Request/ Item Amount	2019-2020 Actual Expenditure	2020-2021 Adopted Budget	2021-2022 ** Proposed Budget	Percent Change
serv	rices of Cerini and Associates for Claims Audit	1.00	25,000.00	EA	25,000.00				
1320-443-03-9000-303	AUDITING- PROF SVCS					105,443.50	105,500.00	105,500.00	-
Exte	ernal Auditor Services as per 2017 RFP	1.00	52,500.00	EA	52,500.00				
Inter	rnal Auditor Services as per 2019 RFP	1.00	48,000.00	EA	48,000.00				
Allov	wance for Additional Charges as necessary	1.00	5,000.00	EA	5,000.00				
	1320 Auditing Services Function SubTotal					130,323.36	130,500.00	130,500.00	0.00%
1325 District Treasurer	Function								
1325-160-03-9000-303	TREASURER NON-INST					29,006.00	29,586.00	96,900.00	227.52
	1325 District Treasurer Function SubTotal					29,006.00	29,586.00	96,900.00	227.52%
1345 Purchasing Functi	ion								
1345-160-03-9000-303	PURCH NON-INST					103,007.20	106,636.00	160,324.00	50.35
1345-161-03-9000-303	PURCH OFC SUPLM					5,214.78	3,000.00	4,000.00	33.33
Allowance for overtime the past seven years.	e and special assignments throughout the school year. The all	location is based on histor	rical expenditure	es for					
1345-430-03-9000-303	PURCH CONTR					10,124.14	11,700.00	11,700.00	-
Edu	cational Data System Bidding Services	1.00	11,700.00	EA	11,700.00				
1345-434-03-9000-303	PURCH ADVERTISING					2,730.82	2,000.00	2,000.00	-
	al Notices for Bids and RFPs including the costs ociated with capital projects	1.00	2,000.00	EA	2,000.00				

Budget Development Detail Report

Fiscal Year: 2022

Budget Account	Description	Quantity	Unit Cost	Unit Measure	Request/ Item Amount	2019-2020 Actual Expenditure	2020-2021 Adopted Budget	2021-2022 ** Proposed Budget	Percent Change
1345-450-03-9000-	303 PURCH SUPPLIES					3,090.11	3,500.00	3,500.00	-
	Office Supplies for Purchasing Department	1.00	3,500.00	EA	3,500.00				
1345-490-03-9000-	303 PURCH BOCES					8,500.00	9,795.00	9,795.00	-
	Cooperative Bidding Fees - Subscription	1.00	9,795.00	EA	9,795.00				
	1345 Purchasing Function SubTotal					132,667.05	136,631.00	191,319.00	40.03%
1420 Legal Service	es Function								
1420-442-03-4700-	307 LEGAL SVCES - SPED & PPS					5,000.00	6,000.00	6,000.00	-
Impartial hearing - Prep for Impart	g officers, court stenographers and other legal services relati ial Hearings	ed to Special Education and Pup	il Personnel Serv	rices					
	Legal Services - Special Ed & PPS	1.00	6,000.00	EA	6,000.00				
	-303 LEGAL SVCES to a new code (1420.442.03.4700.307) to track legal service st of impartial hearing officers, residency investigators, etc.	es in Special Education and Pupi	Personnel Servi	ces		466,673.45	425,000.00	575,000.00	35.29
Ü	Ingerman Smith Fees including Retainer. The significant increase reflects the additional litigation we have entered with respect to bus contracts, village zoning and environmental issues	1.00 into	500,000.00	EA	500,000.00				
	Hearing Officers, Court Reporters	1.00	20,000.00	EA	20,000.00				
	Hawkins Delafield Wood Bond Counsel including fees associated with issuing BANs or Bonds pursuant to voter authorization - most have already been issued	1.00	20,000.00	EA	20,000.00				
	CMA Fiscal Advisor including fees associated with issuingBANs or Bonds pursuant to voter authorization and annual disclosure	1.00 I the	15,000.00	EA	15,000.00				
	Farrell Fritz - although most of the services provided by special counsel have already been rendered, this amount allows for any additional fees that may be required.	1.00	5,000.00	EA	5,000.00				
	Seneca Consulting Group - ACA Compliance - Production and mailing of required 1095 notices	1.00	15,000.00	EA	15,000.00				

Budget Development Detail Report

Fiscal Year: 2022

Budget Account	Description	Quantity	Unit Cost	Unit Measure	Request/ Item Amount	2019-2020 Actual Expenditure	2020-2021 Adopted Budget	2021-2022 ** Proposed Budget	Percent Change
	1420 Legal Services Function SubTotal					471,673.45	431,000.00	581,000.00	34.80%
1430 Human Resources F	unction								
1430-160-03-9000-303	PERS NON-INST					216,303.00	221,435.00	178,266.00	-19.50
1430-161-03-9000-303	CLERICAL SAL SUPLM					12,308.60	20,000.00	15,000.00	-25.00
Allowance for overtime a the past seven years.	and special assignments throughout the school year. The allocatio	n is based on histo	rical expenditure:	s for					
1430-430-03-9000-312	PERS CONTR					44,218.10	45,900.00	49,500.00	7.84
	munity Services (LESCA) Contractual Obligation \$7500 (Our School Physician) \$38,500								
Labor	Education & Community Service Agency	1.00	7,500.00	EA	7,500.00				
Schoo	ol Physician	1.00	42,000.00	EA	42,000.00				
		0.00	0.00	EA	0.00				
		0.00	0.00	EA	0.00				
•		0.00	0.00	EA	0.00				
1430-433-03-9000-312	PERS MEMB DUES					1,185.00	1,085.00	1,210.00	11.52
New York State Associate	emberships for: r School Personnel Administrators (AASPA) tion for School Personnel Administrators (NYSASPA) for School Personnel Administrators (LIASPA)								
And any other profession	nal memberships								
AASP	A	1.00	450.00	EA	450.00				
NYSA	SPA	4.00	115.00	EA	460.00				
LIASP	A A	3.00	100.00	EA	300.00				
		0.00	0.00	EA	0.00				

Budget Development Detail Report

Fiscal Year: 2022

Budget Account	Description	Quantity	Unit Cost	Unit Measure	Request/ Item Amount	2019-2020 Actual Expenditure	2020-2021 Adopted Budget	2021-2022 ** Proposed Budget	Percent Change
1430-434-03-9000-312	PERS ADVERTISING					591.00	12,000.00	12,000.00	-
New York Times Newsday Roslyn News Roslyn Times topschooljobs.org other advertising agencie	es								
Persor	nnel Advetising	1.00	12,000.00	EA	12,000.00				
1430-440-03-9000-312	PERS TRAV CONF WKSHP					-	5,740.00	5,465.00	-4.79
American Association for New York State Associat Registriation / Hotel Long Island Association									
And any other conference	e expenses								
NYASE	PA	3.00	200.00	EA	600.00				
Otesaç	ga Hotel - NYASPA	3.00	980.00	EA	2,940.00				
Travel	/Meal Reimbursement	3.00	250.00	EA	750.00				
NYSSI	BA	3.00	275.00	EA	825.00				
AASPA	A	0.00	0.00	EA	0.00				
Nassa	u or Suffolk Academy of Law	1.00	350.00	EA	350.00				
1430-450-03-9000-312	PERS SUPPLIES					39.89	1,400.00	1,400.00	-
Budget for offices supplied	es needed for the HR office and retirement plaques								
Persor	nnel Supplies	1.00	1,400.00	EA	1,400.00				
1430-490-03-9000-312	PERS BOCES					25,146.00	34,130.00	27,500.00	-19.43

Budget Development Detail Report

Fiscal Year: 2022

Budget Account	Description	Quantity	Unit Cost	Unit Measure	Request/	2019-2020 Actual Expenditure	2020-2021 Adopted Budget	2021-2022 ** Proposed Budget	Percent Change
Fee's for the use of:	e employment application system					Exponential	Bugge	zaaget	Sharige
Web	b Based NIS (602.621)	1.00	5,100.00	EA	5,100.00				
Dist	trict Substitute Mgmt System (659.500)	1.00	8,460.00	EA	8,460.00				
Reg	gional Teacher Certification (660.500)	1.00	5,100.00	EA	5,100.00				
OLA	AS (Putnam) on line application system (625.490)	1.00	7,340.00	EA	7,340.00				
.Glo	obal Compliance Network (507.522)	1.00	1,500.00	EA	1,500.00				
		0.00	0.00	EA	0.00				
	1430 Human Resources Function SubTotal					299,791.59	341,690.00	290,341.00	-15.03%
1480 Public Info and Co	COMM RELATIONS NC SAL					211,847.25	199,715.00	163,784.00	-17.99
1480-161-03-9000-303 Allowance for overtime the past seven years.	COMMUNITY RELAT- SUPLM are and special assignments throughout the school year. The alloca	tion is based on histor	rical expenditure	es for		35.77	50.00	50.00	-
1480-230-03-9000-304 Furniture for CR/AE S	COMM RELATIONS FURN					-	-	5,000.00	-
Blackboard Template Peachjar 3,750 NYSPRA Communica	ations Audit 15,500					1,100.00	1,900.00	30,460.00	1,503.16
Website Launch Train 1480-433-03-9000-304 LISPRA, NYSPRA, NS	MEMBERSHIP DUES					-	-	375.00	-

Budget Development Detail Report

Fiscal Year: 2022

Budget Account	Description	Quantity	Unit Unit Cost Measure	Request/ Item Amount	2019-2020 Actual Expenditure	2020-2021 Adopted Budget	2021-2022 ** Proposed Budget	Percent Change
1480-436-03-9000-304	CONTRACT PRINTING DW				3,527.33	3,950.00	4,000.00	1.27
Printing of school district	calendar (Scope)							
1480-440-03-9000-304	TRAVEL AND CONF EXP				-	-	4,000.00	-
NSPRA National Conver NYSPRA State Conventi								
1480-450-03-9000-304	COMM RELATIONS SUPPLIES				864.65	1,300.00	1,500.00	15.38
Office Supplies - 1,300 Books 200								
	1480 Public Info and Comm Relations Function	n SubTotal			217,375.00	206,915.00	209,169.00	1.09%
1620 Operation of Plant Fu	unction							
1620-150-03-9000-303	ADMIN SAL				161,160.00	164,383.00	167,671.00	2.00
1620-160-03-9000-303	OPER SALARY DW				130,376.00	135,046.00	110,157.00	-18.43
1620-161-03-9000-303	CLERICAL SAL SUPLM				1,062.59	5,000.00	3,000.00	-40.00
	nd special assignments throughout the school year h a special emphasis on the last two years since the		rical expenditures for					
1620-162-04-9000-303	OPER SAL- EH				346,084.63	388,285.00	414,984.00	6.88
1620-162-06-9000-303	OPER SAL- HGTS				333,574.74	346,308.00	382,288.00	10.39
1620-162-07-9000-303	OPER SAL- HH				406,278.11	413,435.00	415,370.00	0.47

Budget Development Detail Report

Fiscal Year: 2022

Budget Account	Description	Quantity	Unit Cost M	Unit leasure	Request/ Item Amount	2019-2020 Actual Expenditure	2020-2021 Adopted Budget	2021-2022 ** Proposed Budget	Percent Change
1620-162-08-9000-303	OPER SAL- HS					799,487.75	818,272.00	872,311.00	6.60
1620-162-09-9000-303	OPER SAL- MS					556,036.89	623,217.00	654,161.00	4.97
1620-163-03-9000-303 Allowance for overtin the past seven years	ne and special assignments throughout the school year. T	he allocation is based on histor	rical expenditures	for		378,907.72	450,000.00	475,000.00	5.56
1620-168-03-3300-303	SECURITY DW					450,446.20	617,323.00	724,800.00	17.41
1620-168-03-9000-303	OPER SAL-SECURITY DW					475.00	-	-	-
	SECURITY SAL SUPLM ne and special assignments throughout the school year. T i. It includes part-time and weekend security assignments		rical expenditures	for		111,788.78	80,000.00	90,000.00	12.50
1620-200-03-8900-303	COVID Equipment					-	100,000.00	-	-100.00
Ge	potential COVID related equipment purposes - the eneral Fund budget had \$50,000 in appropriations. Those has will be provided by CRSSA and ARPA funding	1.00	0.00	EA	0.00				
1620-200-03-9000-310	OPER EQPT DIST					12,188.98	23,113.00	33,325.00	44.18
26	1000lb Capacity Steel Mini Driveable Scissor Lift	1.00	24,500.00	EA	24,500.00				
	00lb Capacity Compact Design AC Drive Unit Heavy Duty ng Tiller Pallet Truck	1.00	3,450.00	EA	3,450.00				
Mil	lwaukee M18 2 Speed Grease Gun Kit with 2 Batteries	1.00	700.00	EA	700.00				

Budget Development Detail Report

Fiscal Year: 2022

Budget Account	Description	Quantity	Unit Cost	Unit Measure	Request/ Item Amount	2019-2020 Actual Expenditure	2020-2021 Adopted Budget	2021-2022 ** Proposed Budget	Percent Change
	Milwaukee M18 1-9/16" FUEL Keyless Chuck Lithium-lonBrushless Cordless Hammer Drill Kit with 2 Batteries	1.00	1,400.00	EA	1,400.00		-		
	NIBCO Press System 2-1/2" Press Jaw for Pro-Press PlumbingCrimper	1.00	700.00	EA	700.00				
	RIDGID 2-1/2: 4" NPT Geared Thread 141 (for pipe threader machine)	1.00	2,575.00	EA	2,575.00				
1620-200-03-9000	0-999 CARRY OVER ENCUMBRANCE					902.84	-	-	-
1620-200-04-9000	0-310 OPER EQPT EH					11,111.84	18,000.00	10,775.00	-40.14
	Karcher Admiral 8 Carpet Exttractor	1.00	4,200.00	EA	4,200.00				
	Karcher Standard Wand for Carpet Extractor, 12' hose	1.00	825.00	EA	825.00				
	WIndow Air Conditioner, Nurses Office, 11.5K BTU	1.00	1,000.00	EA	1,000.00				
	Window Air Conditioner, Room 3, 9K BTU	1.00	550.00	EA	550.00				
	Karcher HD Series Gas Presure Washer, 4000 PSI	1.00	2,200.00	EA	2,200.00				
	Karcher Vacuum 15" Sensor XP	2.00	1,000.00	EA	2,000.00				
1620-200-06-9000	0-310 OPER EQPT HTS					41,394.62	7,700.00	3,175.00	-58.77
	Windsor Walk Behind Floor Buffer	1.00	2,625.00	EA	2,625.00				
	Window Air Conditioner, Room 15, 9K BTU	1.00	550.00	EA	550.00				
1620-200-07-9000	0-310 OPER EQPT HH					6,340.39	14,080.00	13,250.00	-5.89
	Milwaukee M18 16" FUEL Chainsaw Kit	1.00	700.00	EA	700.00				
	Karcher 20" Walk Behind Scrubber	1.00	10,000.00	EA	10,000.00				
	Karcher 18" Wet/Dry Vacuum	2.00	1,275.00	EA	2,550.00				

Budget Development Detail Report

Fiscal Year: 2022

Budget Account		Description	Quantity	Unit Cost	Unit Measure	Request/ Item Amount	2019-2020 Actual Expenditure	2020-2021 Adopted Budget	2021-2022 ** Proposed Budget	Percent Change
1620-200-08-9000)-310	OPER EQPT HS					25,762.68	27,855.00	24,600.00	-11.69
	20' Storage	e Container #810508-4 (Tennis)	1.00	5,000.00	EA	5,000.00				
	Window Ai 13.5KBTU	r Conditioner, rooms 113, 114, Hilltop (X2),	4.00	1,500.00	EA	6,000.00				
	Karcher 15	" Upright Sensor Vacuum	1.00	950.00	EA	950.00				
	Karcher 20	" Walk Behind Scrubber	1.00	10,000.00	EA	10,000.00				
	Karcher 18	" Wet/Dry Vacuum	1.00	1,275.00	EA	1,275.00				
	18"x60" Alı	uminum U-Boat Cart	1.00	825.00	EA	825.00				
	Dewalt 40\	/ Cordless Push 20" Lawn Mower	1.00	550.00	EA	550.00				
1620-200-09-9000)-310	OPER EQPT MS					10,383.43	19,220.00	12,050.00	-37.30
	Split A/C U	Init, Principal and Nurses Offices	2.00	2,000.00	EA	4,000.00				
	WIndow Ai	r Conditioning Units, 13.5K BTU	5.00	1,500.00	EA	7,500.00				
	WIndow Ai	r Conditioning Unit, 9K BTU	1.00	550.00	EA	550.00				
1620-230-04-9000)-401	FURNITURE EH					2,191.50	3,431.00	-	-100.00
1620-230-07-9000)-701	FURNITURE HH					1,566.67	11,496.00	-	-100.00
1620-230-07-9000)-999	FURNITURE					15,814.32	-	-	-
1620-230-08-9000)-801	FURNITURE HS					-	12,800.00	-	-100.00

Budget Development Detail Report

Fiscal Year: 2022

Budget Account	Description	Quantity	Unit Cost	Unit Measure	Request/ Item Amount	2019-2020 Actual Expenditure	2020-2021 Adopted Budget	2021-2022 ** Proposed Budget	Percent Change
1620-411-03-9000-510	Rental OF Property - Tran					175,410.83	178,689.00	181,063.00	1.33
	n received from the SED, the cost of the rental of parking spartation since the expense is not aidable. This therefore repre-								
Rental P Pt Washi	roperty for Bus Parking -and transportation office @ ington	1.00	181,062.48	EA	181,062.48				
1620-421-03-9000-310	CARTING - DIST					68,492.10	65,000.00	68,250.00	5.00
AS PER OGS CONTRACT									
5% increase due to TNH Ti	ipping Fee increase as per vendor								
Jamaica	Ash (pricing as per bid)	1.00	63,730.00	EA	63,730.00				
Town of	North Hempstead (TONH)	1.00	4,520.00	EA	4,520.00				
1620-423-03-6600-310	FUEL OIL - HEAT- Hilltop					6,457.83	7,426.00	7,723.00	4.00
#2 HEATING OIL TO HEAT	THE BUILDING								
NASSAU CTY CONTRACT BPNC11000392 (PLUS .0	T 875 OFF THE JOURNAL OF COMMERCE DAILY PRICE)								
estimated 4% increase									
Fuel oil -	Hilltop	1.00	7,723.00	EA	7,723.00				
1620-423-04-9000-310	FUEL OIL- EH					87,930.98	90,168.00	93,774.00	4.00
#2 HEATING OIL TO HEAT	THE BUILDING								
NASSAU CTY CONTRACT BPNC11000392 (PLUS .0	T 875 OFF THE JOURNAL OF COMMERCE DAILY PRICE)								
estimated 4% increase									
Fuel oil -	East Hills	1.00	93,774.00	EA	93,774.00				
1620-423-06-9000-310	FUEL OIL- HGTS					6,639.63	9,547.00	9,547.00	-

Budget Development Detail Report

Fiscal Year: 2022

Budget Account	Description	Quantity	Unit Cost	Unit Measure	Request/ Item Amount	2019-2020 Actual Expenditure	2020-2021 Adopted Budget	2021-2022 ** Proposed Budget	Percent Change
#2 HEATING OIL TO	HEAT THE BUILDING					•	V		
NASSAU CTY CONT BPNC11000392 (PLI	TRACT .US .0875 OFF THE JOURNAL OF COMMERCE DAILY PRICE)								
estimated 0% increase	ise for 2021-2022								
Fue	el oil Heights	1.00	9,547.00	EA	9,547.00				
1620-423-07-9000-310	FUEL OIL- HH					52,000.00	53,040.00	55,161.00	4.00
#2 HEATING OIL TO	HEAT THE BUILDING								
NASSAU CTY CONT BPNC11000392 (PL	TRACT .US .0875 OFF THE JOURNAL OF COMMERCE DAILY PRICE)								
estimated 4% increas	se								
Fue	el oil Harbor Hill	1.00	55,161.00	EA	55,161.00				
1620-423-08-9000-310	FUEL OIL- HS					26,000.00	26,520.00	27,580.00	4.00
#2 HEATING OIL TO	HEAT THE BUILDING								
NASSAU CTY CONT BPNC11000392 (PLI	FRACT US .0875 OFF THE JOURNAL OF COMMERCE DAILY PRICE)								
estimated 4% increas	se								
Fue	el oil High School	1.00	27,580.00	EA	27,580.00				
1620-423-09-9000-310	FUEL OIL- MS					10,757.05	21,216.00	21,216.00	-
#2 HEATING OIL TO	HEAT THE BUILDING								
NASSAU CTY CONT BPNC11000392 (PLI	TRACT .US .0875 OFF THE JOURNAL OF COMMERCE DAILY PRICE)								
estimated 0% increase	ise for 2021-2022								
Fue	el oil Middle School	1.00	21,216.00	EA	21,216.00				
1620-424-03-9000-310	NATURAL GAS -DIST					18,008.20	25,181.00	18,990.00	-24.59
Anticipated 0% increa	ase for 2021-2022								
Nat	utural gas including maintenance building and bus garage	1.00	18,990.00	EA	18,990.00				
W. C Var. 21.04.06	104								

Budget Development Detail Report

Fiscal Year: 2022

Budget Account	Description	Quantity	Unit Cost	Unit Measure	Request/ Item Amount	2019-2020 Actual Expenditure	2020-2021 Adopted Budget	2021-2022 ** Proposed Budget	Percent Change
1620-424-04-9000-310	NATURAL GAS- EH					11,379.46	16,950.00	15,825.00	-6.64
Anticipated 0% increase	for 2021-202								
Natura	al gas East Hills	1.00	15,825.00	EA	15,825.00				
1620-424-06-9000-310	NATURAL GAS- HGTS					24,073.89	41,807.00	39,035.00	-6.63
Anticipated 0% for 2021-	-2022								
Natura	al gas Heights	1.00	39,035.00	EA	39,035.00				
1620-424-07-9000-310	NATURAL GAS- HH					2,250.94	4,520.00	4,220.00	-6.64
Anticipated 0% increase	e for 2021-2022								
Natura	al gas Harbor Hill	1.00	4,220.00	EA	4,220.00				
1620-424-08-9000-310	NATURAL GAS- HS					88,565.01	149,148.00	139,260.00	-6.63
Anticipated 0% increase	for 2021-2022								
Natura	al gas High School and Administration	1.00	139,260.00	EA	139,260.00				
1620-424-09-9000-310	NATURAL GAS- MS					42,169.08	67,795.00	63,300.00	-6.63
Anticipated 0% increase	for 2021-2022								
Natura	al gas Middle School	1.00	63,300.00	EA	63,300.00				
1620-425-03-6600-310	ELECTRICITY- Hilltop					11,118.00	12,135.00	11,340.00	-6.55
0% increase									
Electri	city Hilltop	1.00	11,340.00	EA	11,340.00				
1620-425-03-9000-310 0% increase	ELECTRICITY- DIST					24,460.00	26,696.00	24,949.00	-6.54
Electri	city District-Wide	1.00	24,949.00	EA	24,949.00				
1620-425-03-9000-510	ELECTRICITY- TRANS					6,180.89	16,000.00	16,000.00	-

Budget Development Detail Report

Fiscal Year: 2022

Budget Account	Description	Quantity	Unit Cost	Unit Measure	Request/ Item Amount	2019-2020 Actual Expenditure	2020-2021 Adopted Budget	2021-2022 ** Proposed Budget	Percent Change
	Electricity Utilization for 8 Harbor Park Drive including lights in the parking lot and electricity in the new office	1.00	16,000.00	EA	16,000.00	·			
1620-425-04-9000- 0% increase	310 ELECTRICITY- EH					70,043.00	76,446.00	71,444.00	-6.54
	Electricity East Hills	1.00	71,444.00	EA	71,444.00				
1620-425-06-9000- 0% increase	-310 ELECTRICITY- HGTS					70,043.00	76,446.00	71,444.00	-6.54
0 % moreage	Electricity Heights	1.00	71,444.00	EA	71,444.00				
1620-425-07-9000- 7.5% increase di	-310 ELECTRICITY- HH ue to 16 new splirt A/C units installed from Sept 2020 to April 203 Electricity Harbor Hill	21.	84,787.00	EA	84,787.00	72,267.00	78,872.00	84,787.00	7.50
1620-425-08-9000- 0% increase	310 ELECTRICITY- HS Electricity High School	1.00	353,294.00	EA	353,294.00	346,367.15	378,587.00	353,294.00	-6.68
1620-425-09-9000- 0% increase	310 ELECTRICITY- MS					180,111.00	196,573.00	183,713.00	-6.54
	Electricity Middle School	1.00	183,713.00	EA	183,713.00				
1620-426-03-9000- 2% Increase	310 WATER- DIST					1,150.00	1,150.00	1,173.00	2.00
	Water Maintenance	1.00	1,173.00	EA	1,173.00				
1620-426-04-9000- Increase due to estimated annua	new 4" water main installed. Service charges and monthly cost r al budget.		/ compute an			2,300.00	2,300.00	3,700.00	60.87
	Water - East Hills	1.00	3,700.00	EA	3,700.00				

Budget Development Detail Report

Fiscal Year: 2022

Budget Account	Description	Quantity	Unit Cost	Unit Measure	Request/ Item Amount	2019-2020 Actual Expenditure	2020-2021 Adopted Budget	2021-2022 ** Proposed Budget	Percent Change
1620-426-06-9000-310	WATER- HGTS					1,265.00	1,265.00	1,291.00	2.06
2% Increase									
Wate	er- Heights	1.00	1,291.00	EA	1,291.00				
1620-426-07-9000-310	WATER- HH					3,800.00	3,800.00	3,876.00	2.00
2% Increase									
Wate	er Harbor Hill	1.00	3,876.00	EA	3,876.00				
1620-426-08-9000-310	WATER- HS					11,500.00	11,500.00	11,730.00	2.00
2% Increase									
Wate	er High School	1.00	11,730.00	EA	11,730.00				
1620-426-09-9000-310	WATER- MS					2,385.71	11,500.00	5,000.00	-56.52
0% increase for 2021-2	2022								
Wate	er Middle School	1.00	5,000.00	EA	5,000.00				
1620-427-03-9000-311	OPER TELEPHONE- B&G					13,521.53	14,800.00	14,800.00	-
Wire	eless Telephone	1.00	14,800.00	EA	14,800.00				
1620-427-04-9000-311	OPER TELEPHONE- EH					1,152.39	1,200.00	1,200.00	-
OPE	ER TELEPHONE- EH	1.00	1,200.00	EA	1,200.00				
1620-427-06-9000-311	OPER TELEPHONE- HGTS					1,152.39	1,200.00	1,200.00	-
OPE	ER TELEPHONE- HGTS	1.00	1,200.00	EA	1,200.00				
1620-427-07-9000-311	OPER TELEPHONE- HH					1,152.39	1,200.00	1,200.00	-

Budget Development Detail Report

Fiscal Year: 2022

Budget Account	Description	Quantity	Unit Cost	Unit Measure	Request/ Item Amount	2019-2020 Actual Expenditure	2020-2021 Adopted Budget	2021-2022 ** Proposed Budget	Percent Change
	PER TELEPHONE- HH	1.00	1,200.00	EA	1,200.00				
1620-427-08-9000-311	OPER TELEPHONE- HS					1,152.39	1,200.00	1,200.00	-
OP	PER TELEPHONE- HS	1.00	1,200.00	EA	1,200.00				
1620-427-09-9000-311	OPER TELEPHONE- MS					1,152.39	1,200.00	1,200.00	-
OP	PER TELEPHONE- MS	1.00	1,200.00	EA	1,200.00				
1620-429-03-9000-310 AS PER CBDMA CO	OPER UNIFORMS NTRACT ARTICLE #24					9,032.39	16,640.00	16,400.00	-1.44
Increasing by 4% for	cost increase and new employees through the year								
Per	r CBDMA contract for approximately 66 employees	1.00	16,400.00	EA	16,400.00				
1620-429-03-9000-999	CARRY OVER ENCUMBRANCE					3,746.36	-	-	-
1620-430-03-9000-310	CONT SVCES - SECURITY					-	10,000.00	10,000.00	-
•	and all outside security hired throughout the year tside security services as needed	1.00	10,000.00	EA	10,000.00				
1620-440-03-9000-310 INCLUDES REQUIR	OPER TRAINING RED ASBESTOS TRAINING, SAFETY SEMINARS, SECURITY,	PRACTICE FIRE/SAFET	Y			455.00	1,500.00	1,500.00	-
Ast	bestos training, safety seminars, security, practice s/safety	1.00	1,500.00	EA	1,500.00				
1620-450-03-3800-310	SUPPLIES - REC MGT					6,384.50	10,000.00	10,000.00	-
	MARKERS, FILES, FOLDERS, ETC.								
Sto	orage boxes, markers, files, folders	1.00	10,000.00	EA	10,000.00				

Budget Development Detail Report

Fiscal Year: 2022

Budget Account	Description	Quantity	Unit Cost	Unit Measure	Request/ Item Amount	2019-2020 Actual Expenditure	2020-2021 Adopted Budget	2021-2022 ** Proposed Budget	Percent Change
1620-450-03-3800-999	CARRY OVER ENCUMBRANCE					9,365.90	-	-	-
1620-450-03-6600-310	CUST SUPP - Hilltop					-	2,788.00	2,788.00	-
INCLUDES, BUT NOT LI	IMITED TO:								
FLOOR CLEANER POLI	MAINTENANCE MATERIALS, TOILET PAPER, PAPER TOWEI SHERS, SANITIZERS, SOAPS, RAGS, MOPS, CLEANSERS, PAILS, CLOCKS, BROOMS, BRUSHES,DISINFECTANTS, MA	SPONGES, BAGS, G	LOVES, RAGS						
	es but not limited to toilet paper, paper towels, floor rs, soaps, rags, sponges, bags, mops, brooms, etc.	1.00	2,788.00	EA	2,788.00				
1620-450-03-6600-999	MATERIALS & SUPPLIES					2,610.33	-	-	-
1620-450-03-8900-303	COVID Supplies						50,000.00	264,825.00	429.65
							7.7	,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,	
Allowa	nce for other COVID Supplies	1.00	20,000.00	EA	20,000.00				
Allowa	nce for replacement student desk guards	1,500.00	40.00	EA	60,000.00				
COVID	Floor Signage/Stickers/Tape	1.00	35,000.00	EA	35,000.00				
Wipes		1.00	63,000.00	EA	63,000.00				
Masks		1.00	12,000.00	EA	12,000.00				
Tent Re	ental: Sept 2021 to Nov 2021	1.00	14,000.00	EA	14,000.00				
(15) 40	9' Storage Container for all Classroom Furniture	1.00	16,200.00	EA	16,200.00				
COVID	Testing Office, (1) 40' Container; August to December	1.00	1,625.00	EA	1,625.00				
Gloves	S	1.00	10,000.00	EA	10,000.00				
Disinfe	ectant	1.00	33,000.00	EA	33,000.00				
1620-450-03-9000-310	CUST SUPP - DIST					138,324.88	8,870.00	114,189.00	1,187.36

Budget Development Detail Report

Fiscal Year: 2022

Budget Account	Description	Quantity	Unit Cost	Unit Measure	Request/ Item Amount	2019-2020 Actual Expenditure	2020-2021 Adopted Budget	2021-2022 ** Proposed Budget	Percent Change
_	JT NOT LIMITED TO:	·							
NOTE: EQUIF	PMENT ITEM COSTING MORE THAN \$500 LISTED ELSE WHERE	(1620-200)							
SINGLE AND	R, PAPER TOWEL, CLEANING SUPPLIES, MAINTENANCE MATE C FOLD, TISSUES, SANITIZERS, SOAPS, RAGS, MOPS, CLEAN E, MOPS, PAILS, CLOCKS, BROOMS, BRUSHES, DISINFECTAN	SERS, SPONGES, BAGS, O	GLOVES, RAGS	,					
	Includes but not limited to toilet paper, paper towels, floor cleaner, soaps, sponges, bags, mops and brooms, etc.	1.00	5,520.00	EA	5,520.00				
	Various hand tools	1.00	1,000.00	EA	1,000.00				
	Milwaukee M12 FUEL SURGE HDD 2-PC Combo Drill/Impact Kit	1.00	425.00	EA	425.00				
	Milwaukee 18V 6-1/2" Li-Ion Cordless Circular Saw	1.00	285.00	EA	285.00				
	Milwaukee M18 ,18V 1/2" 1400ft.lbs. Impact Wrench Kit w/ Friction Ring	1.00	499.00	EA	499.00				
	Milwaukee M12 1/4" Right Angle Die Grinder Kit W/ 2 Batteries	1.00	499.00	EA	499.00				
	2 gal 18V 45 cu.ft/min M18 Cordless Wet/Dry Vacuum	1.00	200.00	EA	200.00				
	Blackhawk Automotive, 4 Ton Portable Spreader Power Kit	1.00	310.00	EA	310.00				
	RIDGID Press Snap 1-1/2" 4" Press Snap Pipe Cutter	1.00	499.00	EA	499.00				
	RIDGID #844 Drive Bar for Geared Threaders	1.00	160.00	EA	160.00				
	RIDGID #300 Loop for Tool 758	1.00	65.00	EA	65.00				
	Merv 13 Filter Changes, 6x a year	1.00	104,727.00	EA	104,727.00				
1620-450-03-900	0-999 CARRY OVER ENCUMBRANCE					28,573.48	-	-	-
1620-450-04-900	0-310 CUST SUPPLY- EH					44,821.16	43,633.00	55,263.00	26.65
1020-430-04-900	0-310 COST SUFFEIT EN					44,021.10	43,033.00	33,203.00	20.0

Budget Development Detail Report

Fiscal Year: 2022

Budget Account	Description	Quantity	Unit Cost 1	Unit Measure	Request/	2019-2020 Actual Expenditure	2020-2021 Adopted Budget	2021-2022 ** Proposed Budget	Percent Change
	CLUDES BUT NOT LIMITED TO:	Quartity	OTHE GOOD 1	Measure	Hem / mount	Experiulture	Duugei	Duugei	Change
BATTERIES, FLANGE KIT BEARINGS, AUGURS, BL ACRYLICS, NYLON, GRA DRYWALL, NIBBLERS, S	ANING SUPPLIES, MAINTENANCE MATERIALS, FRITZ FLO TS, CONDUIT BOX, ROTARY, WASHERS, CAPACITORS, CI LOWERS, CIRCULATORS, CAULKING, PRIMERS, PAINTS, ATING, RUBBER, NEOPRENE, LUBRICANTS, ADHESIVES, SHEARS, SANDERS, GRINDERS, AIR FILTERATION, ETC.	COMPRESSORS, SAWS POLISHERS, BUFFER, COMPOUNDS, ASPHA	'S, COUPLINGS, RS, PLASTICS,	,					
Annual s	M COSTING MORE THAN \$500.00 LISTED ELSE WHERE (1 supplies for maintenance of building including but not to: motors, pumps, cleaning supplies, maintenance ls, fritz floor cleaning supplies, locks, batteries, etc.	1.00	41,263.00	EA	41,263.00				
	oom Ceiling Fan Replacements, 52" 5-Blabe, White	70.00	200.00	EA	14,000.00				
1620-450-04-9000-999	CARRY OVER ENCUMBRANCE					12,281.17	-	-	-
							22.400.00	22.540.00	7.40
1620-450-06-9000-310	CUST SUPPLY- HGTS					32,686.09	36,139.00	33,546.00	-7.18
ANNUAL SUPPLIES - INC	CLUDES BUT NOT LIMITED TO:								
BATTERIES, FLANGE KIT	ANING SUPPLIES, MAINTENANCE MATERIALS, FRITZ FLO TS,CONDUIT BOX, ROTARY, WASHERS, CAPACITORS, CO PER TOWELS SINGLE AND C FOLD, RAGS, TISSUES, SOA	OMPRESSORS, SAWS	S, COUPLINGS,						
NOTE: EQUIPMENT COS	STING MORE THAN \$500.00 LISTED ELSE WHERE (1620-2	200)							
limited to	supplies for maintenance of building including but not to motors, pumps, cleaning supplies, maintenance I, fritz floor cleaning supplies, locks, paint, batteries,	1.00	32,046.00	EA	32,046.00				
Walkie-	Talkie Radios	5.00	300.00	EA	1,500.00				
1620-450-06-9000-999	CARRY OVER ENCUMBRANCE					794.82	-	-	-
1620-450-07-9000-310	CUST SUPPLY- HH					51,445.64	55,581.00	53,725.00	-3.34

Budget Development Detail Report

Fiscal Year: 2022

Budget Account	Description	Quantity	Unit Cost I	Unit Measure	Request/ Item Amount	2019-2020 Actual Expenditure	2020-2021 Adopted Budget	2021-2022 ** Proposed Budget	Percent Change
	PLIES - INCLUDES BUT NOT LIMITED TO:	Quartity	Offic Good 1	vicasarc	tterr/tinount	Expenditure	budget	Budget	Change
BATTERIES, F BEARINGS, AU	MPS, CLEANING SUPPLIES, MAINTENANCE EQUIPMENT, FRITZ F LANGE KITS,CONDUIT BOX, ROTARY, WASHERS, CAPACITORS, JGURS, BLOWERS, CIRCULATORS, CONDENSERS, FANS, BELT I ILTERATION, PAINT, ETC.	COMPRESSORS, SAWS	S, COUPLINGS,						
NOTE: EQUIPM	MENT ITEM COSTING MORE THAN \$500.00 LISTED ELSE WHERE	(1620-200)							
	Annual supplies for maintenance of building including but not limited to motors, pumps, cleaning supplies, maintenance materials, fritz floor cleaning supplies, locks, batteries, etc.	1.00	51,000.00	EA	51,000.00				
	Milwaukee M18 2 Gallon Wet/Dry Vacuum	1.00	200.00	EA	200.00				
	Milwaukee M18 18V Lithium-Ion High Demand Battery Pack	1.00	425.00	EA	425.00				
	Milwaukee M18 4-1/2" 18V Lithium-Ion 8500 RPM Cordless Saw	1.00	275.00	EA	275.00				
	24oz Rubber Head Fiberglass Handle Mallet	1.00	40.00	EA	40.00				
	Walkie-Talkie Radios	5.00	300.00	EA	1,500.00				
	18" x 30" x 7" Rubber Caster 1200lb Hardwood Dolly	4.00	65.00	EA	260.00				
	3Pc Shockwave Impact Duty 1/4" Hex Socket Adapter Kit	1.00	25.00	EA	25.00				
1620-450-07-9000	0-701 FURN<500 HH					-	3,293.00	3,290.00	-0.09
	Blue 1 Inch Tape for Classrooms (Lockdowns)	10.00	4.00	EA	40.00				
	Chair Slippers for Custodians (3,000 pieces)	1.00	3,250.00	EA	3,250.00				
1620-450-07-9000	0-999 CARRY OVER ENCUMBRANCE					400.50	-	-	-
1620-450-08-9000	0-310 CUST SUPPLY- HS					82,624.12	82,137.00	82,137.00	-

Budget Development Detail Report

Fiscal Year: 2022

Budget Account	Description	Quantity	Unit Cost	Unit Measure	Request/ Item Amount	2019-2020 Actual Expenditure	2020-2021 Adopted Budget	2021-2022 ** Proposed Budget	Percent Change
	S - INCLUDES BUT NOT LIMITED TO:					Exponential	Dauget	Budget	Change
KITS,CONDUIT BOX CONDENSERS, FAI	CLEANING SUPPLIES, MAINTENANCE MATERIALS, FR X, ROTARY, WASHERS, CAPACITORS, COMPRESSORS NS, BELT DRIVES, TRANSFORMERS, STARTERS, BRAC EDUCERS, AIR FILTERATION, LOCKS, BATTERIES, ETC	S, SAWS, BLOWERS, CIRCUL CKETS, GRONMETS, CONNE	ATORS,						
NOTE: EQUIPMENT	T ITEM COSTING MORE THAN \$500.00 LISTED ELSE WI	HERE (1620-200)							
lim	nnual supplies for maintenance of building including but not nited to cleaning supplies, maintenance materials, motors, umps, fritz floor cleaning supplies, locks, batteries, etc.		82,137.00	EA	82,137.00				
1620-450-08-9000-999	CARRY OVER ENCUMBRANCE					181.78	-	-	-
1620-450-09-9000-310	CUST SUPPLY- MS					65,105.56	67,966.00	67,966.00	_
ANNUAL SUPPLIES	S - INCLUDES, BUT NOT LIMITED TO:								1
KITS,CONDUIT BOX BLOWERS, CIRCUL	CLEANING SUPPLIES, MAINTENANCE MATERIALS, FR X, ROTARY, WASHERS, CAPACITORS, COMPRESSORS LATORS, CONDENSERS, FANS, BELT DRIVES, PAPER T SANITIZERS, HAND DRYERS, LOCKS, BATTERIES, ETC	S, SAWS, COUPLINGS, BEARI TOWELS SINGLE AND C FOL	INGS, AUGURS,	,					
NOTE: EQUIPMENT	T ITEM COSTING MORE THAN \$500.00 LISTED ELSE WI	HERE (1620-200)							
no	nnual supplies for maintenance of building including but otlimited to motors, pumps, cleaning supplies, maintenance aterials, fritz floor cleaning supplies, locks, batteries, etc.	1.00	66,941.00	EA	66,941.00				
Fie	eld Paint Stripping Machine	1.00	225.00	EA	225.00				
Sa	alt/Ice Melt Spreader	2.00	400.00	EA	800.00				
1620-450-09-9000-999	CARRY OVER ENCUMBRANCE					592.01	-	-	-
1620-490-03-3300-312	2 BOCES SVCS Security					147,518.50	150,000.00	135,000.00	-10.00
Contracted Security									

Budget Development Detail Report

Fiscal Year: 2022

Budget Account	Description	Quantity	Unit Cost	Unit Measure	Request/ Item Amount	2019-2020 Actual Expenditure	2020-2021 Adopted Budget	2021-2022 ** Proposed Budget	Percent Change
	Contracted Security Guard Services Safe Schools NY - ESB-Health & Safety (618.491)	1.00	135,000.00	EA	135,000.00				
	1620 Operation of Plant Function SubTotal					5,882,689.10	6,488,588.00	6,867,031.00	5.83%
1621 Maintenance of	Plant Function								
1621-162-03-9000-30	03 MAINT SAL- DW					857,646.46	928,498.00	916,732.00	-1.27
1621-163-03-9000-30	03 MAINT SAL ADDL					254,508.21	250,000.00	260,000.00	4.00
Allowance for over the past seven yea	time and special assignments throughout the school year. The α irs.	allocation is based on histo	rical expenditures	s for					
1621-200-03-9000-31	0 MAINT EQPT					71,409.80	-	72,950.00	-
2	2021 GMC Sierra 3500HD 4WD Crew Cab	1.00	65,250.00	EA	65,250.00				
N	Meyer Lot Pro 8' Snow Plow Package	1.00	6,000.00	EA	6,000.00				
F	Federal LED Flasjing Light Package	1.00	1,700.00	EA	1,700.00				
1621-200-03-9000-99	99 CARRY OVER ENCUMBRANCE					11,138.72	-	-	-
1621-410-03-9000-31						88.50	1,000.00	1,000.00	-
	construction machinery, etc. Rental equipment if needed	1.00	1,000.00	EA	1,000.00				
1621-428-03-9000-31	0 MAINT GASOLINE					20,203.53	31,212.00	31,212.00	-
	UNICIPAL AGREEMENT FOR GASOLINE PURCHASE PRICING APPLICABLE) 121-2022								
(Gasoline for maintenace vehicles	1.00	31,212.00	EA	31,212.00				

Budget Development Detail Report

Fiscal Year: 2022

Budget Account	Description	Quantity	Unit Cost	Unit Measure	Request/ Item Amount	2019-2020 Actual Expenditure	2020-2021 Adopted Budget	2021-2022 ** Proposed Budget	Percent Change
1621-430-03-9000-310	MAINT CONT SVCES - DIST					204,286.05	198,616.00	208,616.00	5.03
INCLUDES BUT NOT LIM	IITED TO:								
ALARM, SPRINKLERS, S	RS, GENERATORS, PLUMBING, HVAC, PUMPS, FIRE EXTING TORM DRAINS, CESSPOOLS, BACKFLOW, SIAMESE CONNE SERVICE, FREEZER SERVICE, HVAC SOFTWARE MAINT., AVI GEMENT SYSTEM (BMS)	CTION WATER, T	OXIC MATERIAL						
Contrac	tual services throughout district	1.00	170,616.00	EA	170,616.00				
Geese (Chasers	1.00	13,000.00	EA	13,000.00				
Extermi	nator	1.00	15,000.00	EA	15,000.00				
General	or Service Maintenance, District Wide	1.00	10,000.00	EA	10,000.00				
1621-430-03-9000-999	CARRY OVER ENCUMBRANCE					30,002.85	-	-	-
1621-430-04-9000-310	MAINT CONT SVCES - EH					24,955.73	29,000.00	29,000.00	-
INCLUDES BUT NOT LIM	IITED TO:								
ALARM, SECURITY ALAR	IEN EXHAUST CLEANING, BOILER, GENERATOR, FIRE EXTIN RM, PLUMBING, DRAINS, CESSPOOLS, ROOF, PUMPS, GLAZ PARTITIONS, STORM DRAINS, HVAC SOFTWARE MAINT., SPI CK CORK STRIPS	ER, PA SYSTEM,	TOXIC	ΥM					
Various	contractual services for building	1.00	29,000.00	EA	29,000.00				
1621-430-04-9000-999	CARRY OVER ENCUMBRANCE					5,395.44	-	-	-
1621-430-06-9000-310	MAINT CONT SVCES - HTS					51,742.43	75,000.00	84,750.00	13.00
INCLUDES BUT NOT LIM	IITED TO:								
ALARM, SECURITY ALAR	IEN EXHAUST CLEANING, BOILER, GENERATOR, FIRE EXTIN RM, EXTERMINATING, PLUMBING, DRAINS, CESSPOOLS, RO EZER, PARTITIONS, STORM DRAINS, HVAC SOFTWARE MAIN	OF, PUMPS, GLA	AZER, PA SYSTE	M,					
Various	contractual services for building (in description)	1.00	56,300.00	EA	56,300.00				

Budget Development Detail Report

Fiscal Year: 2022

Budget Account	Description	Quantity	Unit Cost	Unit Measure	Request/ Item Amount	2019-2020 Actual Expenditure	2020-2021 Adopted Budget	2021-2022 ** Proposed Budget	Percent Change
	Boiler maintenance with ATI Boiler Manufacturer only	1.00	12,000.00	EA	12,000.00				
	Sand and Finish 4 Classroom Wood Floors	1.00	6,700.00	EA	6,700.00				
	Irrigation for front of HTS (Willow ST and Carlyle PI) for building to be 100% irrigated	1.00	9,750.00	EA	9,750.00				
1621-430-06-9000	0-999 CARRY OVER ENCUMBRANCE					15,162.90	-	-	-
1621-430-07-9000	0-310 MAINT CONT SVCES - HH					9,283.73	12,000.00	12,000.00	-
INCLUDES BU	T NOT LIMITED TO:								
ALARM, SECU	AND KITCHEN EXHAUST CLEANING, BOILER, GENERATOR, FIRE EXPRITY ALARM, EXTERMINATING, PLUMBING, DRAINS, CESSPOOLS, HALS, FREEZER, PARTITIONS, STORM DRAINS, HVAC SOFTWARE M	ROOF, PUMPS, GLA	ZER, PA SYSTE						
	Various contractual services for building (in description)	1.00	12,000.00	EA	12,000.00				
1621-430-07-9000	0-999 CARRY OVER ENCUMBRANCE					757.62	-	-	-
1621-430-08-9000	0-309 CONT SVCES - HS Gym					1,500.00	1,500.00	1,500.00	-
	Gym Inspection/Repairs	1.00	1,500.00	EA	1,500.00				
1621-430-08-9000	0-310 MAINT CONT SVCES - HS					39,560.89	104,500.00	104,500.00	-
INCLUDES BU	T NOT LIMITED TO:								
ALARM, SECU	AND KITCHEN EXHAUST CLEANING, BOILER, GENERATOR, FIRE EXPRITY ALARM, EXTERMINATING, PLUMBING, DRAINS, CESSPOOLS, HALS, FREEZER, PARTITIONS, STORM DRAINS, HVAC SOFTWARE NOT MELOORS	ROOF, PUMPS, GLA	ZER, PA SYSTE	ΞМ,					
	Synthetic turf maintenance program	1.00	4,500.00	EA	4,500.00				
	Various contractual services for building including Administration (in description)	1.00	100,000.00	EA	100,000.00				

Budget Development Detail Report

Fiscal Year: 2022

Budget Account	Description	Quantity	Unit Cost	Unit Measure	Request/ Item Amount	2019-2020 Actual Expenditure	2020-2021 Adopted Budget	2021-2022 ** Proposed Budget	Percent Change
1621-430-08-9000-999	CARRY OVER ENCUMBRANCE					3,434.56	-	-	-
1621-430-09-9000-309	CONT SVCES - MS Gym					1,500.00	1,500.00	1,500.00	-
Gy	ym Inspection/Repairs	1.00	1,500.00	EA	1,500.00				
						27,686.72	33,100.00	33,100.00	-
MATERIALS, FREEZ DOORS	ZER, PARTITIONS, STORM DRAINS, HVAC SOFTWARE MAINT., SPF			EA	29,000.00				
	easonal Crack Repairs to MS Tennis Courts	1.00	4,100.00	EA	4,100.00				
1621-430-09-9000-999	CARRY OVER ENCUMBRANCE					785.89	-	-	-
1621-434-03-9000-310	ADV / LEGAL NOTICES					-	1,000.00	1,000.00	-
Le	egal services	1.00	1,000.00	EA	1,000.00				
1621-435-03-9000-310	MAINT POSTAGE					304.71	1,000.00	1,000.00	-
Ма	aintenace postage	1.00	1,000.00	EA	1,000.00				
	MAINT TRAINING RED ASBESTOS TRAINING, SAFETY SEMINARS, SECURITY, PRACT andated asbestos training, safety seminars, fire safety	TICE FIRE/SAFET	TY 1,500.00	EA	1,500.00	-	1,500.00	1,500.00	-

Budget Development Detail Report

Fiscal Year: 2022

Budget Account	Description	Quantity	Unit Cost	Unit Measure	Request/ Item Amount	2019-2020 Actual Expenditure	2020-2021 Adopted Budget	2021-2022 ** Proposed Budget	Percent Change
1621-443-03-9000-310	MAINT PROF/TECH SVCES					79,078.90	131,000.00	125,000.00	-4.58
INCLUDES BUT NOT LIN	MITED TO:								
ASBESTOS REMOVAL, A	AHERA SURVIELLENCE, FIRE MARSHALL INSPECTION TURE	S, AIR TESTING ALL MO	NITORING OF						
Enviror	nmental services throughout district	1.00	125,000.00	EA	125,000.00				
1621-443-03-9000-999	CARRY OVER ENCUMBRANCE					8,956.25	-	-	-
1621-446-03-9000-310	MAINT-DIST-BUILDING REP					54,720.03	27,000.00	27,540.00	2.00
THIS INCLUDES TRANS	PORTATION GARAGE ALSO. MITED TO:								
	S INSIDE AND OUT, FENCING, GLAZER, WINDOWS, TRI ING, ELECTRICAL, DUCT CLEANING, AIR CONDITIONIN								
limited	ency repairs to Maintenance building including but not to i.e. windows, tree maintenance and trimming, te, plumbing, etc.	1.00	27,540.00	EA	27,540.00				
1621-446-04-9000-310 INCLUDED BUT NOT LIF	MAINT-BUILDING-EAST HILLS MITED TO:					18,056.71	29,960.00	30,559.00	2.00
BUILDING MANAGEMEN	S INSIDE AND OUT, FENCING, GLAZER, WINDOWS, TRI NT SYSTEM (BMS), CONCRETE, LIGHTS, DOORS, BLINI TIONING, ETC. 2% INCREASE FOR 2021-2022			JCT					
window	ency repairs to building including but not limited to vs, tree maintenance and trimming, Building ement System (BMS), concrete, roof, plumbing, etc.	1.00	27,091.00	EA	27,091.00				
Screen	& coat entire gym floor	1.00	3,468.00	EA	3,468.00				
1621-446-04-9000-999	CARRY OVER ENCUMBRANCE					6,679.96	-	-	-

Budget Development Detail Report

Fiscal Year: 2022

Fund: A GENERAL FUND

Budget Account	Description	Quantity	Unit Cost	Unit Measure	Request/ Item Amount	2019-2020 Actual Expenditure	2020-2021 Adopted Budget	2021-2022 ** Proposed Budget	Percent Change
1621-446-06-9000-310	MAINT-BUILD-HEIGHTS					5,915.22	17,300.00	17,300.00	-
INCLUDED BUT NOT LI	LIMITED TO:								
AND TRIMMING, BUILD	NIRS INSIDE AND OUT, FENCING, GLAZER, WINDOWS, TREE DING MANAGEMENT SYSTEM (BMS) LIGHTS, DOORS, BLIN CLEANING, AIR CONDITIONERS, ETC. 0% INCREASE FOR 20	NDS,ROOF, PLUMBING		Æ					
	rgency repairs for building including but not limited to ows, tree maintenace and trimming, concrete, plumbing,	1.00	14,240.00	EA	14,240.00				
Scree	en & coat entire gym floor	1.00	3,060.00	EA	3,060.00				
1621-446-06-9000-999	CARRY OVER ENCUMBRANCE					706.49	-	-	-
1621-446-07-9000-310	MAINT-BUILD-HH					28,341.75	31,400.00	32,028.00	2.00
INCLUDED BUT NOT LI	LIMITED TO:								
BUILDING MANAGEME	IRS INSIDE AND OUT, FENCING, GLAZER, WINDOWS, TREE IENT SYSTEM (BMS), CONCRETE, LIGHTS, DOORS, BLINDS DITIONING, ETC. 2% INCREASE FOR 2021-2022		,	UCT					
windo	rgency repairs to buidling including but not limited to ows, tree trimming and mainteance, Building agement System (BMS), concrete, plumbing, etc.	1.00	28,560.00	EA	28,560.00				
Scree	en & coat entire gym floor	1.00	3,468.00	EA	3,468.00				
1621-446-07-9000-999	CARRY OVER ENCUMBRANCE					8,026.73	-		-
1621-446-08-9000-310	MAINT-BUILDING-HS					79,949.14	87,000.00	88,740.00	2.00

INCLUDED BUT NOT LIMITED TO:

ANY BUILDING REPAIRS INSIDE AND OUT, FENCING, GLAZER, WINDOWS, TREES MAINTENANCE AND TRIMMING, BUILDING MANAGEMENT SYSTEM (BMS), CONCRETE, LIGHTS, DOORS, BLINDS,ROOF, PLUMBING, ELECTRICAL, COMPUTER RM LAN SPLIT SYSTEM, DUCT CLEANING, AIR CONDITIONING, ETC. 2% INCREASE FOR 2021-2022

Budget Development Detail Report

Fiscal Year: 2022

Budget Account	Description	Quantity	Unit Cost	Unit Measure	Request/ Item Amount	2019-2020 Actual Expenditure	2020-2021 Adopted Budget	2021-2022 ** Proposed Budget	Percent Change
	Emergency repairs to building including Administration building including but not limited to windows, tree maintenance and trimming, Building Management System (BMS), concrete, plumbing, etc.	1.00	69,360.00	EA	69,360.00				
	Screen & coat North gym floor	1.00	7,140.00	EA	7,140.00				
	Screen & coat Main Gym, Gymnastic Gym and Wrestling Gym floors	1.00	12,240.00	EA	12,240.00				
1621-446-09-9000-	0-310 MAINT-BUILD-MIDDLE SCH					47,708.92	56,000.00	57,120.00	2.00
INCLUDED BUT	T NOT LIMITED TO:								
BUILDING MAN	G REPAIRS INSIDE AND OUT, FENCING, GLAZER, WINDOW, TRE NAGEMENT SYSTEM (BMS) CONCRETE, LIGHTS, DOORS, BLIND R CONDITIONING, ETC. 2% INCREASE FOR 2021-2022	DS,ROOF, PLUMBING, EL	LECTRICAL, DU						
	Emergency repairs to building including but not limited to windows, tree maintenance and trimming, Building Management System (BMS), concrete, plumbing, etc.	1.00	54,067.00	EA	54,067.00				
	Screen & coat Auxiliary Gym floor	1.00	3,053.00	EA	3,053.00				
1621-446-09-9000-	0-999 BLDG SUP & REPS					23,417.26	-	-	-
1621-450-03-3300-	0-310 SUPPLIES - Security					10,998.12	18,000.00	18,000.00	-
Including but no	ot limited to barricades, signs, uniforms, keying. D/W & associated loc	cksmith materials							I
	Barricades, signs, uniforms, keying, D/W & associated locksmith materials	1.00	18,000.00	EA	18,000.00				
1621-450-03-3300-	0-999 MATERIALS & SUPPLIES					2,701.73	-	-	-
1621-450-03-9000-	0-310 MAINT SUPPLIES - DIST					265,814.43	210,000.00	230,250.00	9.64

Budget Development Detail Report

Fiscal Year: 2022

Budget Account	Description	Quantity	Unit Cost	Unit	Request/ Item Amount	2019-2020 Actual Expenditure	2020-2021 Adopted Budget	2021-2022 ** Proposed Budget	Percent Change
	INCLUDES, BUT NOT LIMITED TO:	Quantity	OTHE GOOD 1	vicasarc	item / imount	Experialitare	Duuget	Budget	Change
COUPLINGS, BEARIN STARTERS, BRACKE BELTS, BUSHINGS, F PADS, SCRAPERS, S	LANGE KITS, CONDUIT BOX, ROTARY, WASHERS, CAPACINGS, AUGURS, BLOWERS, CIRCULATORS, CONDENSERITS, GRONMETS, CONNECTORS, GEARMOTORS, REDUPULLEYS, SHEAVES, CHAINS, SPROCKETS, TIGHTENERIQUEEGEES, BRUSHES, BROOMS, HANGERS, TGRATINDUNDS, ASPHALT, SEALANT, DRYWALL, NIBBLERS, SHES, BATTERIES, ETC.	RS, FANS, BELT DRIVES, TI CERS, V BELTS, DIAGONIS RS, TENSIONERS, SHOVEL G, RUBBER, NEOPRENE, I	RANSFORMERS STIC TOOLS, .S,GASKETS, LUBRICANTS,	5,					
NOTE: EQUIPMENT I	TEM COSTING MORE THAN \$500.00 LISTED ELSE WHEI	RE (1620/21-200-XX-9000-3	310						
Sup	plies throughout district . 5% increase for 2022	1.00	215,250.00	EA	215,250.00				
Miso	c Hand Tools and accessories	1.00	5,000.00	EA	5,000.00				
Truj	a Arborviates for HS Perimeter	1.00	10,000.00	EA	10,000.00				
1621-450-03-9000-999	CARRY OVER ENCUMBRANCE					7,543.40	-	-	-
	1621 Maintenance of Plant Function SubTotal					2,279,969.78	2,277,086.00	2,386,897.00	4.82%
1670 Central Printing &						2,279,969.78	2,277,086.00	2,386,897.00	4.82%
1670 Central Printing & 1670-200-03-9000-311						2,279,969.78 36,856.46	2,277,086.00 65,000.00	2,386,897.00 65,000.00	4.82%
	Mailing Function							, ,	4.82%
1670-200-03-9000-311	Mailing Function CENT PRINTING EQUIP Inches SAN upgrades y upgrades							, ,	4.82%
1670-200-03-9000-311 Including: NOC iSCSI Cisco swit NOC Dell Equal Logic NOC APC UPS Batter NOC Dell ESX server	Mailing Function CENT PRINTING EQUIP Inches SAN upgrades y upgrades	1.00	65,000.00	EA	65,000.00			, ,	4.82%
1670-200-03-9000-311 Including: NOC iSCSI Cisco swit NOC Dell Equal Logic NOC APC UPS Batter NOC Dell ESX server	Mailing Function CENT PRINTING EQUIP Iches SAN upgrades y upgrades upgrades upgrades	1.00	65,000.00	EA	65,000.00			, ,	3.45
1670-200-03-9000-311 Including: NOC iSCSI Cisco swit NOC Dell Equal Logic NOC APC UPS Batter NOC Dell ESX server istric	Mailing Function CENT PRINTING EQUIP Inches SAN upgrades y upgrades upgrades upgrades tot Wide Printers - Copiers, related servers, computers,	1.00	65,000.00 4,116.12	EA	65,000.00 4,116.12	36,856.46	65,000.00	65,000.00	-
1670-200-03-9000-311 Including: NOC iSCSI Cisco swit NOC Dell Equal Logic NOC APC UPS Batter NOC Dell ESX server istric	Mailing Function CENT PRINTING EQUIP Iches SAN upgrades y upgrades upgrades upgrades ct Wide Printers - Copiers, related servers, computers, CENT PRINTING CONTR		<u> </u>		<u> </u>	36,856.46	65,000.00	65,000.00	-
1670-200-03-9000-311 Including: NOC iSCSI Cisco swit NOC Dell Equal Logic NOC APC UPS Batter NOC Dell ESX server istric 1670-430-03-9000-311 Mail	Mailing Function CENT PRINTING EQUIP Iches SAN upgrades y upgrades upgrades ct Wide Printers - Copiers, related servers, computers, CENT PRINTING CONTR	1.00	4,116.12	EA	4,116.12	36,856.46	65,000.00	65,000.00	-

Budget Development Detail Report

Fiscal Year: 2022

Budget Account	Description	Quantity	Unit Cost 1	Unit Measure	Request/ Item Amount	2019-2020 Actual Expenditure	2020-2021 Adopted Budget	2021-2022 ** Proposed Budget	Percent Change
Lexma	ark - 1 Year on site repair (All W850x, 2,MX510/511, x734,x748, x738,x940/x945 copiers)	1.00	28,000.00	EA	28,000.00	•		·	
Neopo	ost Bulk Mailer Annual CASS	1.00	953.00	EA	953.00				
		1.00	0.51	EA	0.51				
		1.00	0.49	EA	0.49				
1670-435-03-9000-311	POSTAGE DW					17,019.12	30,000.00	29,000.00	-3.33
Posta	ge	1.00	29,000.00	EA	29,000.00				
1670-435-03-9000-999	CARRY OVER ENCUMBRANCE					2,628.51	-	-	-
1670-435-04-9000-311	POSTAGE EH					1,999.20	3,000.00	3,000.00	-
POST	AGE EH	1.00	3,000.00	EA	3,000.00				
1670-435-06-9000-311	POSTAGE HTS					600.00	1,500.00	1,500.00	-
POST	AGE HTS	1.00	1,500.00	EA	1,500.00				
1670-435-07-9000-311	POSTAGE HH					2,019.19	3,000.00	3,000.00	-
POST	AGE HH	1.00	3,000.00	EA	3,000.00				
1670-435-08-6800-309	POSTAGE ATHLETICS					2,047.15	-	-	-
1670-435-08-9000-311	POSTAGE HS					7,000.00	10,000.00	9,000.00	-10.00
POST	AGE HS	1.00	9,000.00	EA	9,000.00				

Budget Development Detail Report

Fiscal Year: 2022

Budget Account	Description	Quantity	Unit Cost	Unit Measure	Request/ Item Amount	2019-2020 Actual Expenditure	2020-2021 Adopted Budget	2021-2022 ** Proposed Budget	Percent Change
1670-435-09-9000-311	POSTAGE MS					6,002.40	7,000.00	7,000.00	-
POST	AGE MS	1.00	7,000.00	EA	7,000.00				
1670-450-03-9000-311	PRINTING SUPPLIES DW					124,043.00	135,000.00	135,000.00	-
Printir	ng Supplies Toner and Consumables	1.00	135,000.00	EA	135,000.00				
1670-450-04-9000-311	PRINTING SUPPLIES EH					5,591.63	7,200.00	7,200.00	-
Printir	ng Supplies	1.00	7,200.00	EA	7,200.00				
1670-450-06-9000-311	PRINTING SUPPLIES HTS					2,609.00	2,900.00	2,900.00	-
Printir	ng Supplies	1.00	2,900.00	EA	2,900.00				
1670-450-07-9000-311	PRINTING SUPPLIES HH					3,308.97	6,500.00	6,500.00	-
Printir	ng Supplies	1.00	6,500.00	EA	6,500.00				
1670-450-08-9000-311	PRINTING SUPPLIES HS					11,769.06	11,800.00	11,800.00	-
Printir	ng Supplies	1.00	11,800.00	EA	11,800.00				
1670-450-09-9000-311	PRINTING SUPPLIES MS					6,804.00	8,300.00	8,300.00	-
Printir	ng Supplies	1.00	8,300.00	EA	8,300.00				
1670-490-03-9000-311	PRINTING BOCES SVCS					27,994.47	37,000.00	37,000.00	-

Budget Development Detail Report

Fiscal Year: 2022

Budget Account	Description	Quantity	Unit Cost	Unit Measure	Request/ Item Amount	2019-2020 Actual Expenditure	2020-2021 Adopted Budget	2021-2022 ** Proposed Budget	Percent Change
Lexn	nark Copier Lease	1.00	37,000.00	EA	37,000.00				_
	1670 Central Printing & Mailing Function SubTotal					298,210.31	375,054.00	374,671.00	-0.10%
1680 Central Data Proces	ssing Function								
1680-160-03-9000-303	COMPUTER TECHNICIANS					562,334.75	574,775.00	588,811.00	2.44
1680-161-03-9000-303	NON INS COMPUTER- SUPLM					21,784.36	25,000.00	24,000.00	-4.00
	and special assignments throughout the school year. The alloc This includes the overtime required to have someone from techn		•	s for					
1680-200-03-9000-311	COMPUTER EQPT					105,817.18	338,000.00	342,500.00	1.33
Including:									
District wide security ca	amera upgrades and door access devices.								
District wide network s	witch upgrades for IDF and BDF closets.								
Elementary wireless in	frastructure upgrades.								
The equipment reques	overy Dell Equal Logic SAN storage expansion. ted in this code includes switches, an update of the network infra t and administrative computers. It also includes expenses related		•						
Adm	inistrative hardware, network equipment, district securit	1.00	65,000.00	EA	65,000.00				
Dell/	Apple computers and laptops	25.00	1,100.00	EA	27,500.00				
Core	e switch and Wireless controller upgrade	1.00	250,000.00	EA	250,000.00				
1680-200-03-9000-999	CARRY OVER ENCUMBRANCE					29,193.78	-	-	-
1680-427-03-9000-311	OPER TELEPHONE- ADMIN					10,700.00	8,100.00	8,100.00	-
Wire	less Telephone - Admin (DW)	1.00	8,100.00	EA	8,100.00				

Budget Development Detail Report

Fiscal Year: 2022

Budget Account		Description	Quantity	Unit Cost	Unit Measure	Request/ Item Amount	2019-2020 Actual Expenditure	2020-2021 Adopted Budget	2021-2022 ** Proposed Budget	Percent Change
1680-430-03-9000	0-311	DISTW ADMIN COMPS					153,686.27	134,056.00	149,973.00	11.87
	Cablevis internet f	ion Services - Backup POTs lines and 300 mbps feed	1.00	5,700.00	EA	5,700.00				
		backup systems, disaster recovery, security on,repair services, network wiring and security tions	1.00	90,500.00	EA	90,500.00				
	Emerson	n NX 20 KVA UPS Annual Maintenance	1.00	7,300.00	EA	7,300.00				
	Emerson	n Challenger AC Annual Maintenance	1.00	7,300.00	EA	7,300.00				
	SchoolD	ude Insight system	1.00	5,400.00	EA	5,400.00				
	EqLogic	Support Renewal	2.00	9,255.74	EA	18,511.48				
	Datacent	ter tape library renewal (PowerVault)	1.00	1,500.00	EA	1,500.00				
	Docusigr	n eSignature	1.00	13,761.00	EA	13,761.00				
1680-440-03-9000	0-311	TRAV CONF WKSHP					140.00	3,500.00	1,000.00	-71.43
	Annual T	echnology/Conference or Similar	1.00	1,000.00	EA	1,000.00				
1680-445-03-3300	0-311	DW EQPT REPAIRS Security					13,933.76	15,000.00	25,000.00	66.67
		vide security repairs and materials (such as; wiring, d drives and cameras)	1.00	25,000.00	EA	25,000.00				
1680-445-03-3300	0-999	EQPT REPAIRS					488.20	-	-	-
1680-450-03-9000	0-311	SUPVSN SUPPLIES C C					151,782.75	77,500.00	77,500.00	-
	District w supplies,	vide supplies (Cables, paper, ink, toner, office , etc.)	1.00	77,500.00	EA	77,500.00				

Budget Development Detail Report

Fiscal Year: 2022

Budget Account	Description	Quantity	Unit Cost	Unit Measure	Request/ Item Amount	2019-2020 Actual Expenditure	2020-2021 Adopted Budget	2021-2022 ** Proposed Budget	Percent Change
1680-460-03-9000	0-311 SUPVSN SOFTWARE CC					131,118.00	136,623.00	160,633.00	17.57
	VMWARE ESX Management Software	1.00	25,500.00	EA	25,500.00				
	Cisco Smartnet Annual Software/Hardware Maintenance	1.00	48,500.00	EA	48,500.00				
	Barracuda Spam Firewall 400 Annual Software Maintenance	1.00	3,500.00	EA	3,500.00				
	Barracuda Message Archiver 450 Annual Software	1.00	4,700.00	EA	4,700.00				
	Veeam Backup & Replication Enterprise for Vmware	1.00	6,100.00	EA	6,100.00				
	Palo Alto Threat prevention subscription	1.00	3,744.00	EA	3,744.00				
	Palo Alto WildFire subscription	1.00	3,744.00	EA	3,744.00				
	Palo URL Filtering subscription	1.00	3,650.00	EA	3,650.00				
	Palo Premium hardware support year 1	1.00	3,695.00	EA	3,695.00				
	ManageEngine ADManager Plus with Help Desk	1.00	2,500.00	EA	2,500.00				
	Mobile device management software	1.00	28,000.00	EA	28,000.00				
	Zoom - 1000 licenses	1.00	20,000.00	EA	20,000.00				
	Zoom Webinar licenses	5.00	1,400.00	EA	7,000.00				
1680-490-03-9000	0-311 CENTRAL DATA BOCES SVCS					819,108.46	677,387.00	816,200.00	20.49
	BOCES Network Support - Level 2 and 3	1.00	296,301.00	EA	296,301.00				
	BOCES Blackboard Connect (DW)	1.00	6,800.00	EA	6,800.00				
	BOCES - Maintenance Direct, FS Direct and Insight inventory system. (School Dude)	1.00	13,500.00	EA	13,500.00				
	BOCES Network Support - Level 2 (Copier center)	1.00	93,851.00	EA	93,851.00				
	Scholarchip Maintenance	1.00	35,000.00	EA	35,000.00				
	ELS Ellevations web software - 7 users (CoSer 532.525)	1.00	3,624.00	EA	3,624.00				
	WebEdge (Parent portal document management)	1.00	2,500.00	EA	2,500.00				
	District wide document imaging and records management project	1.00	250,000.00	EA	250,000.00				

Budget Development Detail Report

Fiscal Year: 2022

Fund: A GENERAL FUND

Budget Account	Description	Quantity	Unit Cost	Unit Measure	Request/ Item Amount	2019-2020 Actual Expenditure	2020-2021 Adopted Budget	2021-2022 ^^ Proposed Budget	Percent Change
	FamilyID Online Registration	1.00	2,280.94	EA	2,280.94	·			
	Cisco Umbrella Security	1.00	27,551.95	EA	27,551.95				
	Sophos Central Intercept X Advanced with EDR and MTR	1.00	84,790.88	EA	84,790.88				
	1680 Central Data Processing Function SubTotal					2,000,087.51	1,989,941.00	2,193,717.00	10.24%

1910 Unallocated Insurance Function

1910-420-03-9000-303 INSURANCE 523,427.55 558,252.00 582,360.00 4.32

We have tentatively set the amounts for 2021-22 to be 5% higher than the amount we actually paid during 2020-21 and have allowed a small amount of money to account for other factors that could influence our total premium such as additional vehicles, ongoing construction, additional equipment such as iPads, etc.. The significant increase in premiums over the past few years is due to the continued impact on the insurance industry of Hurricane Irene and Superstorm Sandy as well as the addition of assets to our school district. We have added a separate allocation for cyber security. Although it is now part of our basic NYSIR coverage at no additional cost, we need to increase the coverage limits in response to the rash of ransomware attacks against school districts.

Effective rate-making is a fundamental part of the insurance underwriting discipline, and is essential to maintaining the financial health of the reciprocal. Initial rates for each line of coverage and all subsequent requests for changes are regulated by the New York State Department of Financial Services, and a very detailed underwriting guide is used by NYSIR. It includes the rate modification plan, which also is regulated by the agency.

Along with the rates used, modifications for prior loss experience as well as changes in operations, loss controls and risk characteristics are taken into consideration in specific premium calculations for each NYSIR subscriber. The board's decision to maintain rates at their current levels takes into account NYSIR's strong performance and an appreciation of the tight economic environment for our schools and BOCES across the state.

Commercial Automobile Insurance (NYSIR)	1.05	107,258.00	EA	112,620.90
Excess Catastrophic Liability (Umbrellas NYSIR)	1.05	83,081.00	EA	87,235.05
Underground Storage Tank (BK-Willis-Ace Illinois)	1.05	10,339.00	EA	10,855.95
School Board Legal Liability	1.05	48,737.00	EA	51,173.85
Student Accident Insurance (Brown & Brown)	1.05	26,091.00	EA	27,395.55
Commercial Boiler and Machinery (NYSIR)	1.05	7,991.00	EA	8,390.55
Commercial General Liability (NYSIR)	1.05	81,552.00	EA	85,629.60
Commercial Inland Marine (NYSIR)	1.05	3,777.00	EA	3,965.85
Commercial Property and Casualty including Earthquake and Flood (NYSIR)	1.05	160,149.00	EA	168,156.45
Volunteer Accident (Bollinger/Haylor-Freyer & Coon)	1.05	3,521.00	EA	3,697.05

Budget Development Detail Report

Fiscal Year: 2022

Fund: A GENERAL FUND

Budget Account	Description	Quantity	Unit Cost	Unit Measure	Request/ Item Amount	2019-2020 Actual Expenditure	2020-2021 Adopted Budget	2021-2022 ** Proposed Budget	Percent Change
	Crime (NYSIR - Northern Insuring - St. Paul Traveler's	1.05	6,142.00	EA	6,449.10				
	Motor Vehicle Enforcement	1.05	10,990.00	EA	11,539.50				
	Allowance for Unanticipated Increases in any one or more of the various lines of insurance	1.05	5,000.00	EA	5,250.00				
	Cyber Security now included by NYSIR	1.00	0.00	EA	0.00				
	1910 Unallocated Insurance Function SubTotal					523,427.55	558,252.00	582,360.00	4.32%
1920 School Asso	ciation Dues Function								
1920-433-03-9000	0-306 SCHOOL ASSN-MEMB DUES					19,970.00	20,900.00	20,575.00	-1.56
	National School Board Association	1.00	4,400.00	EA	4,400.00				
	NYS School Board Association	1.00	12,450.00	EA	12,450.00				
	Nassau-Suffolk School Board Association	1.00	3,725.00	EA	3,725.00				
	1920 School Association Dues Function SubTotal					19,970.00	20,900.00	20,575.00	-1.56%
1930 Judgments a	and Claims Function								
1930-430-03-9000	0-303 JUDGMENTS AND CLAIMS					76,541.30	161,566.00	164,648.00	1.91
properties that a taxes collected	code are the payments we expect to make to neighboring school dist are intersected by school district boundaries but for whom taxes are of by our neighboring school districts on properties intersected by the so be educated in Roslyn.	ollected by Roslyn. We	receive, in return	, the					
	Insurance Deductibles	1.00	10,000.00	EA	10,000.00				
	Motor Vehicle Damage Reimbursements (RTA & RASA)	2.00	500.00	EA	1,000.00				
	Motor Vehicle Damage Reimbursements (RESA & RPA)	60.00	100.00	EA	6,000.00				
	East Williston Common Boundary Taxes Owed on 41	1.03	25,853.00	EA	26,628.59				

Woodhollow Road (SBL 7-202-2A)

Budget Development Detail Report

Fiscal Year: 2022

Budget Account	Description	Quantity	Unit Cost	Unit Measure	Request/ Item Amount	2019-2020 Actual Expenditure	2020-2021 Adopted Budget	2021-2022 ** Proposed Budget	Percent Change
	North Shore CSD Common Boundary Taxes Owed - based on anticipated invoice for children in attendance during 2021-22 school year 902 Glen Cove Avenue, S/B/L 20/G/1641A 928 Glen Cove Avenue, S/B/L 20/G/1642A 950 Glen Cove Avenue, S/B/L 20/G/520 15A Marrion Street, S/B/L 20/J06/98F 15 Marrion Street, S/B/L 20/J06/98M 2 Plaza Road, S/B/L 20/38/116A & 127A 37 Maple Street, S/B/L 20/J06/53A	1.03	34,000.00	EA	35,020.00				
	East Williston Common Boundary Taxes Owed on 42 Woodhollow Road (SBL 7-201-12)	1.03	19,700.00	EA	20,291.00				
	East Williston Common Boundary Taxes Owed on 5 Arbor Road Road (SBL 7-203-5)	1.03	15,250.00	EA	15,707.50				
	Other Properties Identified During 2021-22 as yet unknown	1.00	50,000.00	EA	50,000.00				
		1.00	0.15	EA	0.15				
	1930 Judgments and Claims Function SubTotal					76,541.30	161,566.00	164,648.00	1.91%
1981 BOCES Adn	ninistrative Costs Function								
1981-490-03-900	0-303 ADMIN CHARGES					439,085.77	451,689.00	465,240.00	3.00
charges that w	Weighted Average Daily Attendance (RWADA) compared to the total of ill be paid by Roslyn. As of 1/14/21 we had not yet received an update:	•	the portion of the	ese					
budget in these	e three lines so we used an estimated 3% increase over 2020-21.	d estimate of the total B	OCES proposed						
budget in these	e three lines so we used an estimated 3% increase over 2020-21. Capital Projects	d estimate of the total Bi	OCES proposed 62,663.00	EA	64,542.89				
buaget in these					64,542.89 35,365.05				
budget in triese	Capital Projects	1.03	62,663.00	EA					
budget in triese	Capital Projects Rent	1.03 1.03	62,663.00 34,335.00	EA EA	35,365.05	439,085.77	451,689.00	465,240.00	3.00%
·	Capital Projects Rent Administrative Fee including retiree health	1.03 1.03	62,663.00 34,335.00	EA EA	35,365.05	439,085.77	451,689.00	465,240.00	3.00%
·	Capital Projects Rent Administrative Fee including retiree health 1981 BOCES Administrative Costs Function SubTotal Devel and Suprvsn Function	1.03 1.03	62,663.00 34,335.00	EA EA	35,365.05	439,085.77 375,136.00	451,689.00 382,639.00	465,240.00 390,292.00	3.00% 2.00

Budget Development Detail Report

Fiscal Year: 2022

Budget Account		Description	Quantity	Unit Cost	Unit Measure	Request/ Item Amount	2019-2020 Actual Expenditure	2020-2021 Adopted Budget	2021-2022 ** Proposed Budget	Percent Change
2010-160-03-9000-	-303	CURRIC NON-INST					55,040.00	56,101.00	57,433.00	2.37
2010-161-03-9000- Allowance for ov the past seven y	vertime and	CURRICULUM- SUPLM special assignments throughout the school year. The allocat	on is based on histori	ical expenditure	s for		193.06	6,000.00	2,000.00	-66.67
2010-433-03-9000-	-301	CURRIC MEMB DUE					1,109.00	1,380.00	1,380.00	-
	Membersh	nips	0.00	0.00	EA	0.00				
	NADCO		2.00	105.00	EA	210.00				
	ASCD		2.00	100.00	EA	200.00				
	NAME		1.00	140.00	EA	140.00				
	NYSCAMI	E	1.00	50.00	EA	50.00				
	ASA		1.00	40.00	EA	40.00				
	LISFA (all compete)	music teachers must be members for students to	4.00	30.00	EA	120.00				
	NAFME		1.00	140.00	EA	140.00				
	NMEA (all compete)	music teachers must be members for students to	12.00	40.00	EA	480.00				
			0.00	0.00	EA	0.00				
2010-440-03-9000-	-301	CURRIC TRAV CONF WKSHP					2,364.62	6,000.00	6,000.00	-
	Travel Exp	penses for Teachers & Administrator Conferences	1.00	3,000.00	EA	3,000.00				
	Curriculun	n Institutes	1.00	3,000.00		3,000.00				
2010-450-03-9000-	-301	CURRIC SUPPLIES					20,441.32	105,000.00	109,000.00	3.81
	STEM/ST	EAM/Coding Programs - District Wide	1.00	5,000.00	EA	5,000.00				

Budget Development Detail Report

Fiscal Year: 2022

Budget Account	Description	Quantity	Unit Cost	Unit Measure	Request/ Item Amount	2019-2020 Actual Expenditure	2020-2021 Adopted Budget	2021-2022 ** Proposed Budget	Percent Change
	FreshInc/Incubator/Accelerator	1.00	15,000.00	EA	15,000.00				
	EVI - Formative Assessment Project; Reading and Supplemental Math Materials	1.00	5,000.00	EA	5,000.00				
	Robotics/Natural Disasters/College Drama	1.00	5,000.00	EA	5,000.00				
	District Furniture - less than \$500.00	1.00	85,000.00	EA	85,000.00				
		1.00	-6,000.00	EA	-6,000.00				
2010-450-03-9000	0-999 MATERIALS & SUPPLIES					2,068.70	-	-	-
2010-490-03-9000	0-301 C&I - BOCES SVCS					16,146.00	30,000.00	30,000.00	-
	Coding Elementary - KidOYO	1.00	30,000.00	EA	30,000.00				
	2010 Curriculum Devel and Suprvsn Function SubTo	tal				478,924.11	597,120.00	606,105.00	1.50%
2020 Supervision-	-Regular School Function								
2020-150-03-8040	0-303 RASA Ret Incentive					3,726.46	-	-	-
2020-150-03-9000	0-303 SUPVSN ADMIN					94,519.00	87,296.00	89,475.00	2.50
2020-150-04-9000	0-303 SUPVSN ADMIN- EH					366,799.00	337,468.00	359,823.00	6.62
2020-150-06-9000	0-303 SUPVSN ADMIN- HGT					175,000.00	178,420.00	182,914.00	2.52
2020-150-07-9000	0-303 SUPVSN ADMIN- HH					330,835.00	337,312.00	345,557.00	2.44

Budget Development Detail Report

Fiscal Year: 2022

Budget Account	Description	Quantity	Unit Unit Cost Measure	Request/ Item Amount	2019-2020 Actual Expenditure	2020-2021 Adopted Budget	2021-2022 ** Proposed Budget	Percent Change
2020-150-08-1200-303	ADMIN SAL				63,801.13	64,641.00	66,993.00	3.64
2020-150-08-1800-303	ADMIN SAL				63,471.20	64,721.00	66,876.00	3.33
2020-150-08-2200-303	ADMIN SAL				58,119.97	59,263.00	60,599.00	2.25
2020-150-08-2300-303	ADMIN SAL				64,031.29	65,280.00	66,834.00	2.38
2020-150-08-2600-303	ADMIN SAL				62,199.96	63,424.00	64,928.00	2.37
2020-150-08-9000-303	SUPVSN ADMIN- HS				725,925.00	708,083.00	723,408.00	2.16
2020-150-09-1200-303	ADMIN SAL				63,801.13	64,641.00	66,993.00	3.64
2020-150-09-1800-303	ADMIN SAL				63,471.20	64,721.00	66,876.00	3.33
2020-150-09-2200-303	ADMIN SAL				58,119.97	59,263.00	60,599.00	2.25
2020-150-09-2300-303	ADMIN SAL				64,031.28	65,280.00	66,834.00	2.38
2020-150-09-2600-303	ADMIN SAL				62,199.96	63,424.00	64,928.00	2.37

Budget Development Detail Report

Fiscal Year: 2022

Budget Account	Description	Quantity	Unit Unit Cost Measure	Request/ Item Amount	2019-2020 Actual Expenditure	2020-2021 Adopted Budget	2021-2022 ** Proposed Budget	Percent Change	-
2020-150-09-9000-303	SUPVSN ADMIN- MS				520,717.17	530,994.00	530,089.00	-0.17	
2020-160-03-6000-303	CLERICAL SAL- DRIV ED					-	1,875.00	-	
2020-160-03-9000-303	CLERICAL SAL- DW				54,042.07	55,128.00	56,358.00	2.23	
2020-160-04-9000-303	CLERICAL SAL- EH				69,420.94	90,052.00	93,131.00	3.42	\neg
2020-160-06-9000-303	CLERICAL SAL- HGTS				148,533.00	150,899.00	116,838.00	-22.57	\neg
2020-160-07-9000-303	CLERICAL SAL- HH				100,808.00	104,635.00	111,187.00	6.26	\neg
2020-160-08-9000-303	CLERICAL SAL- HS				224,922.15	239,633.00	252,012.00	5.17	\neg
2020-160-09-9000-303	CLERICAL SAL- MS				168,393.00	180,739.00	190,325.00	5.30	\neg
	SUB SECRETARY- DW and special assignments and the hiring of per diem substitutes througond througons the past seven years.	ughout the school	year. The allocation		630.74	8,000.00	4,000.00	-50.00	
2020-161-04-9000-303	SUB SECRETARY EH				11,775.18	2,000.00	5,000.00	150.00	

Budget Development Detail Report

Fiscal Year: 2022

Budget Account	Description	Quantity	Unit Unit Cost Measure	Request/ Item Amount	2019-2020 Actual Expenditure	2020-2021 Adopted Budget	2021-2022 ** Proposed Budget	Percent Change
2020-161-06-9000-303	SUB SECRETARY HGHTS				5,089.18	2,000.00	3,000.00	50.00
	nd special assignments and the hiring of per dientenditures for the past seven years.	m substitutes throughout the school y	year. The allocation					
2020-161-07-9000-303	SUB SECRETARY HH				166.17	7,000.00	5,000.00	-28.57
	nd special assignments and the hiring of per dien enditures for the past seven years.	m substitutes throughout the school y	year. The allocation					
2020-161-08-9000-303	SUB SECRETARY HS				3,893.64	13,000.00	10,000.00	-23.08
	nd special assignments and the hiring of per dier enditures for the past seven years.	m substitutes throughout the school y	year. The allocation					
2020-161-09-9000-303	SUB SECRETARY MS				16,092.37	20,000.00	20,000.00	-
is based on historical exp	nd special assignments and the hiring of per dier enditures for the past seven years. It includes \$ tance during the summer months.							
2020-166-04-9000-303	PARAS SAL				61,976.00	63,949.00	65,950.00	3.13
2020-166-06-9000-303	PARAS SAL				34,123.00	35,096.00	36,097.00	2.85
2020-166-07-9000-303	PARAS SAL				53,134.00	55,162.00	56,960.00	3.26
2020-166-08-9000-303	PARAS SAL				290,436.60	302,220.00	294,081.00	-2.69
2020-166-09-9000-303	PARAS SAL				52,137.28	59,338.00	61,234.00	3.20

Budget Development Detail Report

Fiscal Year: 2022

Budget Account	Description	Quantity	Unit Cost M	Unit leasure	Request/ Item Amount	2019-2020 Actual Expenditure	2020-2021 Adopted Budget	2021-2022 ** Proposed Budget	Percent Change
2020-167-03-9000-303	PARAS SAL SUPLM					32,511.83	2,000.00	45,000.00	2,150.00
2020-167-04-9000-303	EH Monitors					74,418.80	91,910.00	123,783.00	34.68
2020-167-06-9000-303	HTS Monitors					107,231.75	134,660.00	131,408.00	-2.42
2020-167-07-9000-303	HH Monitors					82,118.97	95,233.00	132,776.00	39.42
2020-167-08-9000-303	HS Monitors					-	8,095.00	-	-100.00
2020-167-09-9000-303	MS Monitors					31,979.94	40,475.00	59,436.00	46.85
2020-200-09-9000-901	SUPVSN EQPT MS					-	8,500.00	1,356.00	-84.05
Securit	ty Radios-Kenwood TK-3360 UHF Radio	4.00	339.00	EA	1,356.00				
2020-230-04-9000-401	SUPVSN FURN EH					750.56	716.00	-	-100.00
2020-230-09-9000-901	SUPVSN FURN MS					-	5,105.00	7,050.00	38.10
School	Specialty- Student Sled Desks with Book Basket	30.00	235.00	EA	7,050.00				
2020-430-07-9000-701 Laminator service contract	SUPVSN CONTR HH ct (contract maintained by Harbor Hill)					500.00	500.00	525.00	5.00

Budget Development Detail Report

Fiscal Year: 2022

Budget Account		Description	Quantity	Unit Cost	Unit Measure	Request/ Item Amount	2019-2020 Actual Expenditure	2020-2021 Adopted Budget	2021-2022 ** Proposed Budget	Percent Change
	Laminato	r Service Contract	1.00	525.00	EA	525.00				
2020-430-08-9000	-801	SUPVSN CONTR HS					-	1,250.00	1,250.00	-
	Guest Sp	eakers RHS	1.00	1,250.00	EA	1,250.00				
2020-433-04-9000-)-401	SUPVSN MEMB DUES EH					59.00	109.00	184.00	68.81
	ASCD		1.00	109.00	EA	109.00				
	Nassau C	County Elementary School Principal's Assoc.	1.00	75.00	EA	75.00				
2020-433-06-9000)-601	SUPVSN MEMB DUES HTS					59.00	325.00	325.00	-
	Members	hip Dues/ASCD #503370 - M.Wood	1.00	75.00	EA	75.00				
	Nassau E	Elementary Principals Association	1.00	250.00	EA	250.00				
2020-433-07-9000-)-701	SUPVSN MEMB DUES HH					118.00	136.00	136.00	-
Principal - Kemle Assistant Princip										
	Assoc. fo	r Supervision and Curriculum Development - Hazen	1.00	68.00	EA	68.00				
	Assoc. fo	r Supervision and Curriculum Development - Kemler	1.00	68.00	EA	68.00				
2020-433-08-9000)-801	SUPVSN MEMB DUES HS					1,403.00	1,875.00	1,875.00	-
	ACSD Me	emberships	1.00	400.00	EA	400.00				
	NCHSPA		1.00	75.00	EA	75.00				
	College E	Board	1.00	400.00	EA	400.00				
	NASSP		4.00	250.00	EA	1,000.00				

Budget Development Detail Report

Fiscal Year: 2022

Budget Account	Description	Quantity	Unit Cost	Unit Measure	Request/ Item Amount	2019-2020 Actual Expenditure	2020-2021 Adopted Budget	2021-2022 ** Proposed Budget	Percent Change
2020-433-09-9000-90	1 SUPVSN MEMB DUES MS					300.00	600.00	600.00	-
А	ASCD Membership	3.00	200.00	EA	600.00				
2020-433-09-9000-99	9 MEMBERSHIP DUES					239.00	-	-	-
2020-436-06-9000-60	1 CONTRACT PRINTING HGT					75.00	150.00	150.00	-
Н	Heights return address preprinted envelopes	2.00	50.00	EA	100.00				
M	Aisc. printing items	1.00	50.00	EA	50.00				
2020-436-08-9000-80	1 CONTRACT PRINTING HS					3,910.16	4,523.00	3,323.00	-26.53
	Student Planner - (3) Year Contract Price of \$3,322.98 hrough 2021-2022	1.00	3,322.98	EA	3,322.98				
ro	ound	1.00	0.02	EA	0.02				
2020-440-04-9000-40	1 SUPVSN TRAV CONF WKSHP					395.00	2,000.00	1,000.00	-50.00
	Administrative Professional Development for Sherry Ma and dichole Lewis	1.00	1,000.00	EA	1,000.00				
2020-440-06-9000-60	1 SUPVSN TRAV CONF WKSHP					355.00	2,000.00	2,000.00	-
M	Mary Wood - Workshops	1.00	2,000.00	EA	2,000.00				
2020-440-07-9000-70	1 SUPVSN TRAV CONF WKSHP					315.00	2,000.00	2,000.00	-
P	Principal and Assistant Principal	1.00	2,000.00	EA	2,000.00				

Budget Development Detail Report

Fiscal Year: 2022

Budget Account	Description	Quantity	Unit Cost	Unit Measure	Request/ Item Amount	2019-2020 Actual Expenditure	2020-2021 Adopted Budget	2021-2022 ** Proposed Budget	Percent Change
2020-440-08-9000-801	SUPVN TRAV CONF WKSHP					683.00	1,850.00	1,850.00	-
ASCE) Conference	1.00	1,850.00	EA	1,850.00				
2020-440-09-9000-901	SUPVSN TRAV CONF WKSHP					1,448.03	4,000.00	3,000.00	-25.00
	n. Conferences and expenses. (Harvard Project Zero losium, ASCD and NASSP National Conferences)	1.00	3,000.00	EA	3,000.00				
2020-440-09-9000-999	TRAVEL AND CONF EXP					984.58	-	-	-
2020-445-04-9000-401	EQPT REPAIR EH					-	200.00	200.00	-
Lamir	nating machine service	1.00	200.00	EA	200.00				
2020-445-06-9000-601	EQPT REPAIR HGT					600.00	625.00	625.00	-
Lamir	nator annual contract	1.00	625.00	EA	625.00				
2020-445-08-9000-801	EQPT REPAIR HS					-	7,500.00	5,625.00	-25.00
Repai	ir - Math - (100) TI Calculators	75.00	75.00	EA	5,625.00				
2020-445-09-9000-901	EQPT REPAIR MS					-	200.00	200.00	-
Repai	irs/maintenance to M.S. equipment	1.00	200.00	EA	200.00				
2020-450-04-9000-401	SUPVSN OFFICE SUPP EH					6,850.05	7,935.00	7,935.00	-

Budget Development Detail Report

Fiscal Year: 2022

Budget Account	Description	Quantity	Unit Cost	Unit Measure	Request/ Item Amount	2019-2020 Actual Expenditure	2020-2021 Adopted Budget	2021-2022 ** Proposed Budget	Percent Change
	Paper use for all school copiers and printers and office supplies	1.00	4,000.00	EA	4,000.00				
	Badges for Scholarchip Visitor machine	25.00	13.40	RL	335.00				
	Ed Data Office Materials	1.00	3,000.00	EA	3,000.00				
	Laminating film	1.00	600.00	EA	600.00				
2020-450-06-9000	0-601 SUPVSN OFFICE SUPP HTS					16,031.08	8,900.00	8,900.00	-
	Laminating film	1.00	600.00	EA	600.00				
	General office supplies	1.00	1,500.00		1,500.00				
	Copy paper	1.00	2,500.00	EA	2,500.00				
	Paint and paper for building use	1.00	1,000.00	EA	1,000.00				
	Security labels	1.00	200.00	EA	200.00				
	Book Bags for all Heights students	1.00	2,500.00	EA	2,500.00				
	Petty Cash expenditures	1.00	600.00	EA	600.00				
2020-450-06-9000	0-999 MATERIALS & SUPPLIES					35.00	-	-	-
2020-450-07-9000	0-701 SUPVSN SUPPLIES HH					7,175.64	12,542.00	14,736.00	17.49
	Building Walkie Talkies and accompanying equipment	1.00	2,550.00	EA	2,550.00				
	Copier Paper for HH School	1.00	5,390.00	EA	5,390.00				
	Henry Schein Building supplies (sani clothes and quick wipes)	1.00	2,100.00	EA	2,100.00				
	Large Black Binders for Purchase Order record keeping	6.00	13.00	EA	78.00				
	Office Supplies - Ed Data / Staples	1.00	4,500.00	EA	4,500.00				
	Subscription - Education Week - Assistant Principal	1.00	79.00	EA	79.00				
	Subscription - Roslyn News	1.00	39.00	EA	39.00				

Budget Development Detail Report

Fiscal Year: 2022

Budget Account	Description	Quantity	Unit Cost	Unit Measure	Request/ Item Amount	2019-2020 Actual Expenditure	2020-2021 Adopted Budget	2021-2022 ** Proposed Budget	Percent Change
2020-450-07-9000-999	9 MATERIALS & SUPPLIES					128.36	-	-	-
2020-450-08-9000-80	1 SUPVSN SUPPLIES HS					20,902.79	23,650.00	22,150.00	-6.34
S	Subscriptions	1.00	150.00	EA	150.00				
Р	Parking Tags & Warning Stickers	1.00	1,500.00	EA	1,500.00				
V	/arious Ed-Data and Yearly Supplies for Staff,	1.00	19,000.00	EA	19,000.00				
P B C	Copy Paper Pens/Pencils/Markers Binders Dlips Misc supplies								
	Open P.O. School Lunch Fund (Breakfast for: New Students, lational Merit, Homecoming, Visiting Graduates)	1.00	1,500.00	EA	1,500.00				
2020-450-09-9000-90	1 SUPVSN SUPPLIES MS					15,894.88	24,700.00	23,500.00	-4.86
S	Student Agenda Books	1.00	4,000.00	EA	4,000.00				
X	Kerox Paper	1.00	6,000.00	EA	6,000.00				
S	Supervision stationery related supplies	1.00	9,500.00	EA	9,500.00				
А	Administrative Supplies (Principal and AP Supplies)	1.00	4,000.00	EA	4,000.00				
	2020 Supervision-Regular School Function SubTotal					4,543,815.46	4,697,346.00	4,869,672.00	3.67%
2060 Research, Plann	ning & Evaluation Function								
2060-430-03-9000-30	1 RESEARCH- CONTRACTED SVCS					2,470.50	30,000.00	30,000.00	-
D	OataMate Live, SafeSchoolsNY, Staff Trac	1.00	9,000.00	EA	9,000.00				
U	Jniversal Screenings - Math K-8	1.00	15,000.00	EA	15,000.00				
Ir	ntervention Services/Wellness/Other Staff Developers	1.00	6,000.00	EA	6,000.00				

Budget Development Detail Report

Fiscal Year: 2022

Budget Account	Description	Quantity	Unit Cost	Unit Measure	Request/ Item Amount	2019-2020 Actual Expenditure	2020-2021 Adopted Budget	2021-2022 ** Proposed Budget	Percent Change
		0.00	0.00	EA	0.00				
2060-490-03-9000-3	01 RESEARCH-BOCES SVCS					42,315.20	72,000.00	72,000.00	-
	Assessment Scoring - ELA and Math	1.00	34,000.00	EA	34,000.00				
	Project Lead the Way - Elementary and Secondary, School Improvement for Standards, My Learning Plan Maintenance, BOCES Services	1.00	38,000.00	EA	38,000.00				
	2060 Research, Planning & Evaluation Function SubTo	tal				44,785.70	102,000.00	102,000.00	0.00%
2070 Professional D	evelopment Function								
2070-153-03-9000-3	01 TCHR SAL, PROF DEV					44,479.00	60,000.00	60,000.00	-
the summer; LLI T		iodinos de Project Zoda d				37,726.00	75,000.00	75,000.00	-
	Reading, Writing and Math Professional Development	1.00	5,000.00	EA	5,000.00				
	Robotics/Computer Science/STEM	1.00	10,000.00	EA	10,000.00				
	Mindfulness Speakers and Workshops	1.00	4,000.00	EA	4,000.00				
	FreshInc./Incubator Edu/Accelerator(on-line resources/curriculum)	1.00	15,000.00	EA	15,000.00				
	Response to Intervention Training	1.00	6,000.00	EA	6,000.00				
	Expansion of Responsive Classroom	1.00	35,000.00	EA	35,000.00				
2070-450-03-9000-3	01 SUPPLIES PROF DEVEL					188.96	500.00	500.00	-
	New Teacher Institute; Professional Books for Administrative Team	1.00	500.00	EA	500.00				

Budget Development Detail Report

Fiscal Year: 2022

Budget Account	Description	Quantity	Unit Cost	Unit Measure	Request/ Item Amount	2019-2020 Actual Expenditure	2020-2021 Adopted Budget	2021-2022 ** Proposed Budget	Percent Change
2070-490-03-9000-301	BOCES SVCES PROF DEVEL					18,835.82	20,000.00	20,000.00	-
	t-Wide BOCES Day Conferences for teachers and istrators	1.00	20,000.00	EA	20,000.00				
		0.00	0.00	EA	0.00				
	2070 Professional Development Function SubTotal					101,229.78	155,500.00	155,500.00	0.00%
2110 Teaching-Regular Sc	hool Function								
2110-100-06-0800-303	TCHR SAL- PRE-K					47,206.13	51,317.00	16,956.00	-66.96
2110-110-06-0900-303	TCHR SAL- KG					1,394,011.00	1,421,494.00	1,454,035.00	2.29
2110-111-06-0900-303 Allowance for Additional	TCHR SAL- KG ADD'L Assignments based on historical expenditures.					3,859.75	1,500.00	3,000.00	100.00
2110-120-04-1000-303	TCHR SAL EH ART					109,785.00	113,809.00	97,882.00	-13.99
2110-120-04-1100-303	TCHR SAL- EH TECH					113,395.20	114,904.00	-	-100.00
2110-120-04-1300-303	TCHR SAL EH ENL					132,474.00	134,274.00	136,086.00	1.35
2110-120-04-1800-303	TCHR SAL EH MATH					-	80,000.00	147,202.00	84.00
2110-120-04-1900-303	TCHR SAL EH MUSIC					283,667.80	286,541.00	252,485.00	-11.89

Budget Development Detail Report

Fiscal Year: 2022

Budget Account	Description	Quantity	Unit Unit Cost Measure	Request/ Item Amount	2019-2020 Actual Expenditure	2020-2021 Adopted Budget	2021-2022 ** Proposed Budget	Percent Change
2110-120-04-2000-303	TCHR SAL EH PHYS ED				225,511.00	206,238.00	289,601.00	40.42
2110-120-04-2100-303	TCHR SAL EH READING				118,808.96	133,774.00	135,586.00	1.35
2110-120-04-2200-303	TCHR SAL SCI EH				143,385.00	145,287.00	79,272.00	-45.44
2110-120-04-4400-303	TCHG SAL PSEN/ AIS				72,980.54	76,386.00	80,001.00	4.73
2110-120-04-4500-303	TCHR SAL- EH G&T				37,069.38	38,681.00	-	-100.00
2110-120-04-9000-303	TCHR SAL EH				2,791,275.00	2,726,049.00	2,979,276.00	9.29
2110-120-06-1000-303	TCHR SAL HGTS ART				85,712.80	88,780.00	39,605.00	-55.39
2110-120-06-1100-303	TCHR SAL- HGTS TECH				28,348.80	28,726.00	-	-100.00
2110-120-06-1300-303	TCHR SAL HGTS ENL				127,876.00	129,957.00	75,953.00	-41.56
2110-120-06-1900-303	TCHR SAL HGTS MUSIC				102,847.20	104,256.00	79,256.00	-23.98
2110-120-06-2000-303	TCHR SAL HGTS PHYS ED				239,914.80	207,714.00	197,351.00	-4.99

Budget Development Detail Report

Fiscal Year: 2022

Budget Account	Description	Quantity	Unit Unit Cost Measure	Request/ Item Amount	2019-2020 Actual Expenditure	2020-2021 Adopted Budget	2021-2022 ** Proposed Budget	Percent Change
2110-120-06-2100-303	TCHR SAL HGTS READING				76,199.31	77,913.00	27,230.00	-65.05
2110-120-06-2200-303	TCHR SAL SCI HGTS				28,448.80	28,826.00	19,177.00	-33.47
2110-120-06-4400-303	TCHG SAL PSEN/ AIS				97,273.00	101,604.00	63,727.00	-37.28
2110-120-06-9000-303	TCHR SAL HGTS				690,479.00	708,019.00	733,754.00	3.63
2110-120-07-1000-303	TCHR SAL HH ART				70,349.32	73,974.00	95,483.00	29.08
2110-120-07-1100-303	TCHR SAL- HH TECH				103,979.24	107,020.00	-	-100.00
2110-120-07-1300-303	TCHR SAL HH ENL				134,273.00	138,116.00	139,972.00	1.34
2110-120-07-1800-303	TCHR SAL HH MATH				-	80,000.00	72,634.00	-9.21
2110-120-07-1900-303	TCHR SAL HH MUSIC				226,814.42	155,201.00	218,856.00	41.01
2110-120-07-2000-303	TCHR SAL HH PHYS ED				270,555.59	247,448.00	260,373.00	5.22

Budget Development Detail Report

Fiscal Year: 2022

Budget Account	Description	Quantity	Unit Unit Cost Measure	Request/ Item Amount	2019-2020 Actual Expenditure	2020-2021 Adopted Budget	2021-2022 ** Proposed Budget	Percent Change
2110-120-07-2100-303	TCHR SAL HH READING				240,330.00	246,097.00	234,795.00	-4.59
2110-120-07-2200-303	TCHR SAL SCI HH				113,795.20	115,304.00	76,706.00	-33.48
2110-120-07-4400-303	TCHG SAL PSEN/ AIS				-	-	75,953.00	-
2110-120-07-4500-303	TCHR SAL- HH G&T				37,069.38	38,681.00	-	-100.00
2110-120-07-9000-303	TCHR SAL HH				2,808,532.00	2,894,709.00	3,168,852.00	9.47
2110-120-09-1000-303	TCHR SAL MS ART				106,196.00	110,883.00	114,948.00	3.67
2110-120-09-1200-303	TCHR SAL MS ELA				267,747.00	273,732.00	279,444.00	2.09
2110-120-09-1800-303	TCHR SAL MS MATH				276,992.00	285,012.00	111,978.00	-60.71
2110-120-09-2300-303	TCHR SAL MS SS				261,920.00	267,010.00	272,905.00	2.21
2110-121-03-9000-303 Allowance for Additional	TCHR SAL ELEM ADDL Assignments based on historical expenditures.				19,296.50	195,000.00	275,000.00	41.03
2110-128-04-9000-303	Tchg Asst Elem				27,073.00	28,034.00	-	-100.00

Budget Development Detail Report

Fiscal Year: 2022

Budget Account	Description	Quantity	Unit Unit Cost Measure	Request/ Item Amount	2019-2020 Actual Expenditure	2020-2021 Adopted Budget	2021-2022 ** Proposed Budget	Percent Change
2110-128-06-0800-303	Tchg Asst Elem				7,541.98	13,604.00	12,530.00	-7.89
2110-128-06-0900-303	Tchg Asst Elem				314,912.00	325,540.00	307,712.00	-5.48
2110-128-06-9000-303	Tchg Asst Elem				23,447.00	24,266.00	-	-100.00
2110-128-07-9000-303	Tchg Asst Elem				27,073.00	28,034.00	-	-100.00
	Tchg Asst Elem Supp Assignments based on historical expenditures i eights to participate in Meet and Greet session:				20,133.80	209,377.00	234,377.00	11.94
2110-130-08-1000-303	TCHR SAL HS ART	s at the neights for two hours before the	ie opening of School .		511,708.40	360,556.00	409,695.00	13.63
2110-130-08-1200-303	TCHR SAL- HS ENG				1,355,732.34	1,265,031.00	1,289,317.00	1.92
2110-130-08-1300-303	TCHR SAL HS ENL				130,869.00	80,000.00	82,594.00	3.24
2110-130-08-1400-303	TCHR SAL HS HLTH ED				156,032.00	194,867.00	179,748.00	-7.76
2110-130-08-1800-303	TCHR SAL- HS MATH				1,302,580.28	1,258,506.00	1,385,406.00	10.08

Budget Development Detail Report

Fiscal Year: 2022

Budget Account	Description	Quantity	Unit Unit Cost Measure	Request/ Item Amount	2019-2020 Actual Expenditure	2020-2021 Adopted Budget	2021-2022 ** Proposed Budget	Percent Change
2110-130-08-1900-303	TCHR SAL HS MUSIC				296,098.00	305,604.00	318,084.00	4.08
2110-130-08-2000-303	TCHR SAL HS PHYS ED				619,727.01	486,263.00	506,913.00	4.25
2110-130-08-2100-303	TCHR SAL HS READING				37,724.18	42,307.00	31,500.00	-25.54
2110-130-08-2200-303	TCHR SAL- HS SCIENCE				1,759,191.95	1,647,345.00	1,683,022.00	2.17
2110-130-08-2300-303	TCHR SAL- HS SOC STUD				1,533,374.92	1,488,268.00	1,520,450.00	2.16
2110-130-08-2600-303	TCHR SAL- HS WRLD LANG				1,075,694.69	1,024,509.00	1,107,684.00	8.12
2110-130-08-2700-303	TCHR SAL HS BUSINESS ED				209,980.60	327,325.00	325,187.00	-0.65
2110-130-08-3000-303	TCHR SAL- 21st Cent				257,171.10	297,247.00	293,118.00	-1.39
2110-130-08-6100-303	TCHR SAL- RESEARCH PGM				58,161.17	58,732.00	45,315.00	-22.84
2110-130-08-6600-303	TCHR SAL- ALTERN PROG				347,797.83	344,559.00	367,059.00	6.53
2110-130-09-1000-303	TCHR SAL MS ART				214,357.40	205,924.00	209,708.00	1.84

Budget Development Detail Report

Fiscal Year: 2022

Budget Account	Description	Quantity	Unit Unit Cost Measure	Request/ Item Amount	2019-2020 Actual Expenditure	2020-2021 Adopted Budget	2021-2022 ** Proposed Budget	Percent Change
2110-130-09-1200-303	TCHR SAL- MS ENG				722,001.00	739,103.00	826,525.00	11.83
2110-130-09-1300-303	TCHR SAL MS ENL				129,974.00	133,774.00	135,586.00	1.35
2110-130-09-1400-303	TCHR SAL MS HLTH ED				109,784.51	141,946.00	170,405.00	20.05
2110-130-09-1500-303	TCHR SAL MS H & CAREER				161,838.16	208,720.00	226,874.00	8.70
2110-130-09-1600-303	TCHR SAL - MS TECH				153,202.00	156,196.00	167,819.00	7.44
2110-130-09-1800-303	TCHR SAL- MS MATH				708,894.60	727,158.00	878,665.00	20.84
2110-130-09-1900-303	TCHR SAL MS MUSIC				363,329.04	368,385.00	376,325.00	2.16
2110-130-09-2000-303	TCHR SAL MS PHYS ED				429,401.59	412,122.00	422,211.00	2.45
2110-130-09-2100-303	TCHR SAL MS READING				133,942.12	142,839.00	146,912.00	2.85
2110-130-09-2200-303	TCHR SAL- MS SCIENCE				802,777.90	840,537.00	811,625.00	-3.44

Budget Development Detail Report

Fiscal Year: 2022

Budget Account	Description	Quantity	Unit Unit Cost Measure	Request/ Item Amount	2019-2020 Actual Expenditure	2020-2021 Adopted Budget	2021-2022 ** Proposed Budget	Percent Change
2110-130-09-2300-303	TCHR SAL- MS SOC STUD				583,834.95	584,724.00	593,736.00	1.54
2110-130-09-2600-303	TCHR SAL- MS WRLD LANG				724,315.88	756,578.00	780,654.00	3.18
2110-130-09-2700-303	TCHR SAL MS BUSINESS ED				-	-	31,500.00	-
2110-130-09-3000-303	TCHR SAL- 21st Cent				346,894.60	413,166.00	378,665.00	-8.35
2110-131-03-9000-303 Allowance for Additional	TCHR SAL- SEC ADD'L Assignments based on historical expenditures.				55,703.26	165,000.00	165,000.00	-
2110-132-04-1300-303	TUTORS ENL EH				32,190.00	32,400.00	-	-100.00
2110-132-04-1800-303	TUTORS MATH EH				46,050.00	-	-	-]
2110-132-06-1300-303	TUTORS ENL HTS				30,360.00	32,400.00	-	-100.00
2110-132-07-1800-303	TUTORS MATH HH				44,340.00	-	-	-
2110-132-08-1300-303	TUTORS ENL HS				5,475.00	-	-	-
2110-138-08-1100-303	Tchg Asst Secondary				42,501.00	42,714.00	28,000.00	-34.45

Budget Development Detail Report

Fiscal Year: 2022

Budget Account	Description	Quantity	Unit Unit Cost Measure	Request/ Item Amount	2019-2020 Actual Expenditure	2020-2021 Adopted Budget	2021-2022 ** Proposed Budget	Percent Change
2110-138-08-6600-303	Tchg Asst Secondary				28,724.00	29,723.00	30,703.00	3.30
2110-138-08-9000-303	Tchg Asst Secondary				-	27,208.00	-	-100.00
2110-138-09-9000-303	Tchg Asst Secondary				147,376.68	138,215.00	39,988.00	-71.07
2110-139-03-9000-303	Tchg Asst Sec SUPPL ssignments based on historical expenditures.				84,575.25	120,000.00	125,000.00	4.17
2110-140-03-9000-303	TCHG SAL SUBSTITUTES				130.00	2,000.00	2,000.00	-
Allowance for Substitute T	eachers District Wide Service							
2110-140-04-9000-303 Allowance for Substitute T	TCHG SAL SUBS EH eachers East Hills				45,806.80	55,000.00	55,000.00	-
2110-140-06-9000-303 Allowance for Substitute T	TCHG SAL SUBS HTS eachers Heights				23,335.00	35,000.00	35,000.00	-
2110-140-07-9000-303 Allowance for Substitute T	TCHG SAL SUBS HH				35,332.10	52,000.00	52,000.00	-
2110-140-08-9000-303 Allowance for Substitute T	TCHG SAL SUBS HS				132,829.35	95,000.00	95,000.00	-
2110-140-09-9000-303 Allowance for Substitute T	TCHG SAL SUBS MS				79,490.00	130,000.00	130,000.00	-

Budget Development Detail Report

Fiscal Year: 2022

Budget Account	Description	Quantity	Unit Cost Mea		Request/ em Amount	2019-2020 Actual Expenditure	2020-2021 Adopted Budget	2021-2022 ** Proposed Budget	Percent Change
2110-149-04-9000-303	TCHG ASST SUBS EH					14,700.00	15,000.00	15,000.00	-
Allowance for substitute	Teaching Assistants at \$100 per day								
2110-149-06-9000-303	TCHG ASST SUBS HTS					29,800.00	30,000.00	30,000.00	-
Allowance for substitute	Teaching Assistants at \$100 per day								
2110-149-07-9000-303	TCHG ASST SUBS HH					33,100.00	40,000.00	40,000.00	-
Allowance for substitute	Teaching Assistants at \$100 per day								
2110-149-08-9000-303	TCHG ASST SUBS HS					2,050.00	2,000.00	2,000.00	-
Allowance for substitute	Teaching Assistants at \$100 per day								
2110-149-09-9000-303	TCHG ASST SUBS MS					14,720.00	20,000.00	20,000.00	-
Allowance for substitute	Teaching Assistants at \$100 per day								
2110-200-03-1900-301	DISTRICTWIDE MUSIC EQPT					-	1,800.00	1,800.00	-
Instrur	ment Replacement and Repair	1.00	1,800.00	EA	1,800.00				
2110-200-04-1900-401	TCHG EQPT EH MUSIC					-	287.00	-	-100.00
2110-200-04-2000-309	EQPT EH PHYS ED					-	3,200.00	-	-100.00
2110-200-04-9000-401	TCHG EQUIP EH					2,130.95	-	-	-
2110-200-07-1000-701	TCHG EQPT HH ART					-	3,303.00	-	-100.00
		0.00	0.00	EA	0.00				

Budget Development Detail Report

Fiscal Year: 2022

Budget Account		Description	Quantity	Unit Cost	Unit Measure	Request/ Item Amount	2019-2020 Actual Expenditure	2020-2021 Adopted Budget	2021-2022 ** Proposed Budget	Percent Change
			0.00	0.00	EA	0.00				
2110-200-07-9000-	701	TCHG EQPT HH					2,659.08	14,500.00	14,500.00	-
	building m	classroom - musical instruments, art panels, laterials (blocks), movement/dramatic play (scarves), sand/water table, arbor	1.00	14,000.00	EA	14,000.00				
	Shipping F	Fees	1.00	500.00	EA	500.00				
2110-200-08-1000-6	801	TCHG EQPT HS ART					2,586.98	4,835.00	-	-100.00
2110-200-08-1800-	801	TCHG EQPT HS MATH					1,933.47	-	5,174.00	-
	TI Nspire (Calculators	30.00	149.95	EA	4,498.50				
	15% BOC	ES fee	1.00	674.78	EA	674.78				
2110-200-08-1910-	801	TCHG EQPT HS BAND					3,429.00	5,942.00	4,638.00	-21.95
	Vibraphon	e - Adams	1.00	3,668.60	EA	3,668.60				
	Percussion	n Rack - Pyle	1.00	969.00	EA	969.00				
2110-200-08-2000-	309	EQPT HS PHYS ED					10,000.00	-	-	-
2110-200-08-2200-	801	TCHG EQUIP - SCIENCE					-	10,550.00	111,681.00	958.59
	AP Physic	s 2 Kit	4.00	989.00	EA	3,956.00				
	AP Physic	s 1 Kit	2.00	900.00	EA	1,800.00				
	Microcentr	rifuge - MC 12 High Speed	2.00	1,479.95	EA	2,959.90				

Budget Development Detail Report

Fiscal Year: 2022

Budget Account	Description	Quantity	Unit Cost	Unit Measure	Request/ Item Amount	2019-2020 Actual Expenditure	2020-2021 Adopted Budget	2021-2022 ** Proposed Budget	Percent Change
	Anatomage Table - 1st year warranty, Medical Design Studio, Training, 4 year extended warranty, software upgrade, tech support, Anatomage table convertible hardcover	1.00	100,115.00	EA	100,115.00	Exportantare	Budget	Budgot	Change
	Anatomage shipping	1.00	2,850.00	EA	2,850.00				
2110-200-08-2300-8	01 TCHG EQUIP - SOCIAL STUDI					-	2,085.00	-	-100.00
2110-200-08-2600-8	01 TCHG EQUIP - WRLD LAN					1,611.99	-	-	-
2110-200-09-1500-9	01 EQPT- HOME ECON					-	685.00	495.00	-27.74
	Summit 24" 4-Burner Standing Electric Range White P.C. Richards	1.00	494.97	EA	494.97				
2110-200-09-1900-9	01 TCHG EQPT MS MUSIC					-	1,685.00	1,600.00	-5.04
	Instruments (Band, Orchestra and Chorus)	1.00	1,600.00	EA	1,600.00				
2110-200-09-2000-3	09 EQPT MS PHYS ED					9,833.22	-	-	-
2110-200-09-2200-9	01 TCHG EQUIP - SCIENCE					6,311.96	716.00	-	-100.00
2110-200-09-2300-9	01 TCHG EQPT MS SOC STUD					-	-	375.00	-
	Uline-3-Shelf Utility Cart - h-6173	3.00	125.00	EA	375.00				
2110-200-09-2600-9	01 TCHG EQUIP - WRLD LAN					-	560.00	-	-100.00

Budget Development Detail Report

Fiscal Year: 2022

Budget Account	Description	Quantity	Unit Cost	Unit Measure	Request/ Item Amount	2019-2020 Actual Expenditure	2020-2021 Adopted Budget	2021-2022 ** Proposed Budget	Percent Change
2110-200-09-3000-901	TCHG EQUIP - STEM					4,859.10	4,000.00	-	-100.00
2110-230-03-9000-301	DISTRICT Clasroom Furn					10,034.10	75,000.00	65,000.00	-13.33
District	twide Classroom Furniture - Greater than \$500.00	1.00	65,000.00	EA	65,000.00				
2110-230-03-9000-999	FURNITURE					20,294.91	-	-	-
2110-230-04-9000-401	TCHG FURN EH					1,276.16	8,070.00	-	-100.00
2110-230-04-9000-999	CARRY OVER ENCUMBRANCE					16,451.19	-	-	-
2110-230-06-0900-601	TCHG FURN HTS KG					584.96	-	-	-
2110-230-06-9000-601	TCHG FURN HTS					-	567.00	600.00	5.82
C. Cas	atelli - 296735 Classroom Cubbies	1.00	600.00	EA	600.00				
2110-230-08-1800-801	TCHG FURN HS MATH					3,450.00	-	-	-
2110-230-08-1930-801	TCHG FURN HS VOCAL					-	2,500.00	-	-100.00
2110-230-08-2200-801	TCHG FURN HS SCIENCE					515.85	-	756.00	-

Budget Development Detail Report

Fiscal Year: 2022

Budget Account	Description	Quantity	Unit Cost	Unit Measure	Request/ Item Amount	2019-2020 Actual Expenditure	2020-2021 Adopted Budget	2021-2022 ** Proposed Budget	Percent Change
Hon 18	70 Series 4-Shelf Bookcase - Harvest	4.00	189.00	EA	756.00				
2110-230-08-2300-801	TCHG FURN - SOCIAL STUDI					1,797.80	-	-	-
2110-230-08-2600-801	TCHG FURN - WRLD LAN					500.00	11,000.00	-	-100.00
2110-230-08-2700-801	TCHG FURN - BUSINESS					-	413.00	-	-100.00
2110-230-08-6600-801	FURNITURE HILLTOP					-	1,500.00	-	-100.00
2110-230-09-1000-901	FURNITURE- ART					1,012.00	-	-	-
2110-230-09-1800-901	TCHG FURN MS Math					-	2,032.00	-	-100.00
2110-230-09-2200-901	TCHG FURN MS SCIENCE					-	-	684.00	-
	rniture in two science labs. cabinets for Science office	1.00	684.00	EA	684.00				
2110-230-09-2300-901	TCHG FURN MS Soc Studies					-	900.00	-	-100.00
2110-230-09-2600-901	TCHG FURN - WRLD LAN					-	-	1,750.00	-
Office (Chairs	7.00	250.00	EA	1,750.00				

Budget Development Detail Report

Fiscal Year: 2022

Budget Account	Description	Quantity	Unit Cost N	Unit Measure	Request/ Item Amount	2019-2020 Actual Expenditure	2020-2021 Adopted Budget	2021-2022 ** Proposed Budget	Percent Change
2110-430-03-1400-309	CONT SVCS Health Ed					-	2,000.00	2,060.00	3.00
	th grade maturation program at East Hills & Harbor Hill 021-22)	1.00	2,060.00	EA	2,060.00				
2110-430-03-2000-309	CONT SVCS Phys Ed					-	7,900.00	8,122.00	2.81
Cir	cus Arts program at East Hills & Harbor Hill	2.00	3,811.00	EA	7,622.00				
Adv	venture Education Inspections at Harbor Hill & East Hills	1.00	500.00	EA	500.00				
2110-430-03-9000-301	CONTRACTED SVCS-ADM					9,600.00	9,000.00	9,000.00	-
We	ellness and/or Digital Responsibility	1.00	2,000.00	EA	2,000.00				
Title	le I/AIS Consultation	1.00	7,000.00	EA	7,000.00				
2110-430-08-2200-801	CONTRACTED SVCS					159.92	2,000.00	2,000.00	-
Ch	emical Removal Science	2.00	1,000.00	EA	2,000.00				
2110-430-08-6200-801	CONTR HS COMMENCEME					14,989.75	25,000.00	25,000.00	-
	Commencement - Tilles Center, Flowers, Diplomas, oklets, Cap & Gowns, Awards,	1.00	25,000.00	EA	25,000.00				
2110-430-08-6500-801	CONTRACTED SVCS- M BAND					3,000.00	3,000.00	3,000.00	-
	B Drill Writing and Design - Competitive Bands utilize this rvice	1.00	3,000.00	EA	3,000.00				
2110-430-08-9000-801	TCHG HS CONTR					2,368.60	4,500.00	4,500.00	-
Cha	allenge Day Travel Expenses	1.00	3,500.00	EA	3,500.00				
WinCap Ver. 21.04.06.	104								

Budget Development Detail Report

Fiscal Year: 2022

Budget Account		Description	Quantity	Unit Cost	Unit Measure	Request/ Item Amount	2019-2020 Actual Expenditure	2020-2021 Adopted Budget	2021-2022 ** Proposed Budget	Percent Change
	Bryant L	ibrary Art Show - Matting Artwork	1.00	1,000.00	EA	1,000.00				
2110-430-09-6200-	-901	MS GRADUATION CONTR					1,683.00	11,000.00	11,000.00	-
	Graduati	on at Hofstra plus ancillary costs	1.00	11,000.00	EA	11,000.00				
2110-430-09-9000-	-901	CONTRACTED SVCS- MS					-	-	1,000.00	-
	Science	Chemical Removal	1.00	1,000.00	EA	1,000.00				
2110-432-08-2800-	-801	Testing Fees AP Exams					89,930.00	115,000.00	113,000.00	-1.74
	AP - Tes Each Ye	ting Fees for AP Exams - # of Exams Increasing ar	1.00	113,000.00	EA	113,000.00				
2110-433-08-1920-	-801	TCHG MEMB DUES HS ORCH					-	150.00	150.00	-
	Orchestr	a Dues	1.00	150.00	EA	150.00				
2110-433-08-1930-	-801	TCHG MEMB DUES HS VOCAL					-	300.00	300.00	-
	Profession	onal memberships	1.00	300.00	EA	300.00				
2110-433-08-9000-	-801	TCHG MEMB DUES HS					8,925.50	18,313.00	19,867.00	8.49
	NCTM -	Math	1.00	175.00	EA	175.00				
	ASCD - I	Math	1.00	94.00	EA	94.00				
	Test Wiz	ard TM - Science	50.00	57.80	EA	2,890.00				
	LICSS -	Social Studies	4.00	35.00	EA	140.00				
	NCSS -	Social Studies	4.00	66.00	EA	264.00				

Budget Development Detail Report

Fiscal Year: 2022

Dudget Assesset	Description	Overatite	Hait Cook 1	Unit	Request/	2019-2020 Actual	2020-2021 Adopted	2021-2022 ** Proposed	Percent
Budget Account	Description BTA - Business	Quantity 4.00	Unit Cost 1 57.00	EA	Item Amount 228.00	Expenditure	Budget	Budget	Change
	LIBTA - Business	1.00	75.00	EA	75.00				
	American Pyschological Association	1.00	300.00	EA	300.00				
	Qualtrics - Research	1.00	1,500.00	EA	1,500.00				
				EA	250.00				
	American Psychological Association	1.00	250.00						
	Eastern Psychological Association	1.00	75.00	EA	75.00				
	ASCD - World Language	1.00	59.00	EA	59.00				
	ACTFL - American Council for Teachers of Foreign Languages	1.00	1,485.00	EA	1,485.00				
	BTA - Business Registration	1.00	210.00	EA	210.00				
	Business Teachers	2.00	39.00	EA	78.00				
	AMC A&B	1.00	116.00	EA	116.00				
	American Philosophical Association	1.00	75.00	EA	75.00				
	AATSP - American Association for Teachers of Spanish and Portuguese	1.00	150.00	EA	150.00				
	WebAssign - Math BC Calculus	1.00	1,400.00	EA	1,400.00				
	ASCL Math	1.00	225.00	EA	225.00				
	ASCD - Social Studies	1.00	89.00	EA	89.00				
	AMTNYS	1.00	40.00	EA	40.00				
	NCTM	1.00	175.00	EA	175.00				
	American Library Association	1.00	300.00	EA	300.00				
	JSTOR Library Membership	1.00	1,560.00	EA	1,560.00				
	NSTA - Science	1.00	80.00	EA	80.00				
	STANYS - Science	1.00	44.00	EA	44.00				
	LISTEMELA - Science	1.00	35.00	EA	35.00				
	NSELA - Science	1.00	55.00	EA	55.00				
	Delta Math	1.00	2,000.00	EA	2,000.00				
	Math Bits	1.00	1,500.00	EA	1,500.00				

Budget Development Detail Report

Fiscal Year: 2022

Budget Account	Description	Quantity	Unit Cost 1	Unit Measure	Request/ Item Amount	2019-2020 Actual Expenditure	2020-2021 Adopted Budget	2021-2022 ** Proposed Budget	Percent Change
	Nciml	1.00	4,000.00	EA	4,000.00	·	· ·	J	· ·
	AATF - Wld Lang	1.00	100.00	EA	100.00				
	NYSAWLA	1.00	100.00	EA	100.00				
2110-433-09-9000	0-901 TCHG MEMB DUES MS					1,003.00	6,800.00	9,050.00	33.09
	Anticipated MS Memberships	1.00	250.00	EA	250.00				
	NYSSMA Majors	1.00	150.00	EA	150.00				
	Site license Exam- Code Monkey	1.00	2,500.00	EA	2,500.00				
	Math Fair	1.00	600.00	EA	600.00				
	Kellenberg	1.00	150.00	EA	150.00				
	AMC 8	1.00	1,400.00	EA	1,400.00				
	Mathcounts	1.00	300.00	EA	300.00				
	Math League	1.00	350.00	EA	350.00				
	Continental Math League	1.00	650.00	EA	650.00				
	Noetic	1.00	200.00	EA	200.00				
	Examgen-school site license	1.00	800.00	EA	800.00				
	Olympiad Math Tournament	1.00	200.00	EA	200.00				
	Delta Math- School Testing Membership	1.00	1,500.00	EA	1,500.00				
		0.00	0.00	EA	0.00				
2110-440-04-3000	0-401 TRAV CONF WKSHP EH STEM					-	1,000.00	-	-100.00
2110-440-04-9000	0-401 TCHG TRAV CONF WKSHP					279.00	1,500.00	1,500.00	-
	Workshops and Conferences`for teachers to attend seminars and various educational conferences.	1.00	1,500.00		1,500.00				

Budget Development Detail Report

Fiscal Year: 2022

Budget Account	Description	Quantity	Unit Cost	Unit Measure	Request/ Item Amount	2019-2020 Actual Expenditure	2020-2021 Adopted Budget	2021-2022 ** Proposed Budget	Percent Change
2110-440-06-9000-60	TCHG TRAV CONF WKSHP					939.14	1,500.00	1,500.00	-
7	Teachers conference/workshops during school year	1.00	1,500.00	EA	1,500.00				
2110-440-07-3000-70	01 TRAV CONF WKSHP HH STEM					-	1,000.00	-	-100.00
PLTW - Project Lea	ad the Way Conference								
2110-440-07-9000-70	1 TCHG TRAV CONF WKSHP					359.00	1,500.00	1,500.00	-
á	Travel Conference Workshops (for teachers, Social Worker and Pyschologist to attend BOCES seminars, and various educational conferences	1.00	1,500.00	EA	1,500.00				
2110-440-07-9000-99	99 CARRY OVER ENCUMBRANCE					20.00	-	-	-
2110-440-08-2800-80	01 TRAV CONF WKSHP AP					-	2,000.00	2,000.00	-
,	AP - Travel and Conference for Professional Development for	1.00	2,000.00	EA	2,000.00				
2110-440-08-3000-80	01 TRAV CONF WKSHP HS STEM					1,138.00	12,900.00	5,850.00	-54.65
F	PLTW Training	1.00	5,850.00	EA	5,850.00				
2110-440-08-9000-80	TCHG TRAVEL & CONF EXP					8,300.98	13,740.00	12,240.00	-10.92
l	LICSS - Social Studies	2.00	130.00	EA	260.00				
E	BER - Social Studies	2.00	240.00	EA	480.00				
1	Teacher Conferences/Prof. Development All Conference registration fees, travel costs, hotels, food National Conferences - Math, English, WL, Science, SS, Business, Art	1.00	11,500.00	EA	11,500.00				

Budget Development Detail Report

Fiscal Year: 2022

Budget Account		Description	Quantity	Unit Cost	Unit Measure	Request/ Item Amount	2019-2020 Actual Expenditure	2020-2021 Adopted Budget	2021-2022 ** Proposed Budget	Percent Change
2110-440-08-9000-	999	TRAVEL AND CONF EXP					1,551.63	-	-	-
2110-440-09-3000-	901	TRAV CONF WKSHP MS STEM					736.80	4,000.00	5,850.00	46.25
	Yearly Up PLTW	date and Professional Development Training for	1.00	5,850.00	EA	5,850.00				
2110-440-09-9000-9	901	TCHG TRAV CONF WKSHP					3,608.40	8,930.00	11,070.00	23.96
	English S	taff Development Conferences	1.00	500.00	EA	500.00				
	World Lar	nguage Staff Development Conferences	1.00	200.00	EA	200.00				
	Math Sta	ff Development Conferences	1.00	200.00	EA	200.00				
	Explorato	ry Arts Staff Development Conferences	1.00	200.00	EA	200.00				
	NCTE Co	nferende (Louisville) English	1.00	1,970.00	EA	1,970.00				
	NSTA (sc	ience)	2.00	3,000.00	EA	6,000.00				
	MIT_Bele	n Castillo	1.00	2,000.00	EA	2,000.00				
2110-440-09-9000-9	999	TRAVEL AND CONF EXP					1,038.80	-	-	-
2110-445-04-1900-4	401	MUSIC REPAIRS - EH					126.00	498.00	498.00	-
	Music Ins	trument Repairs	1.00	400.00	EA	400.00				
	Piano tun	ing and repair for one piano once a year	1.00	98.00	EA	98.00				
2110-445-06-1900-6	601	MUSIC REPAIRS - HTS					-	200.00	200.00	-
	Piano tun	ing for Heights piano in Music Room	2.00	100.00	EA	200.00				

Budget Development Detail Report

Fiscal Year: 2022

Budget Account	Description	Quantity	Unit Cost	Unit Measure	Request/ Item Amount	2019-2020 Actual Expenditure	2020-2021 Adopted Budget	2021-2022 ** Proposed Budget	Percent Change
2110-445-07-1900-701	MUSIC REPAIRS - HH					629.00	1,560.00	1,560.00	-
	anos - \$480 each time (December and May) 2020/2021 due to projected increase in fees for 2020/2021								
Musica	al Instrument Repairs	1.00	600.00	EA	600.00				
Tuning	and Repair of Pianos (December and May)	2.00	480.00	EA	960.00				
2110-445-08-1000-801	EQPT REPAIRS - HS ART					-	1,000.00	1,000.00	-
Repair	- Photo, Ceramics	1.00	1,000.00	EA	1,000.00				
2110-445-08-1910-801	MUSIC REPAIRS - HS BAND					1,878.00	1,500.00	1,500.00	-
Repair	Instruments	1.00	1,500.00	EA	1,500.00				
2110-445-08-1920-801	MUSIC REPAIRS - HS ORCH					-	1,500.00	1,500.00	-
Instrum	nent repairs - needs repairs	1.00	1,500.00	EA	1,500.00				
2110-445-08-1930-801	MUSIC REPAIRS - HS VOCAL					295.00	1,500.00	1,500.00	-
Repairs	s - Choral room Piano	1.00	1,500.00	EA	1,500.00				
2110-445-08-2200-801	SCIENCE REPAIRS - HS					1,624.00	2,198.00	1,998.00	-9.10
Service	e of Microscopes	100.00	8.49	EA	849.00				
Service	e of Balances	100.00	8.49	EA	849.00				
Parts fo	or Scopes/Balances	1.00	300.00	EA	300.00				
2110-445-09-1500-901	H & C REPAIRS - MS					-	250.00	150.00	-40.00

Budget Development Detail Report

Fiscal Year: 2022

Budget Account	Description	Quantity	Unit Cost	Unit Measure	Request/ Item Amount	2019-2020 Actual Expenditure	2020-2021 Adopted Budget	2021-2022 ** Proposed Budget	Percent Change
	Miscellaneous Equipment repair	1.00	150.00	EA	150.00		-		
2110-445-09-1600	D-901 TECH REPAIRS - MS					-	250.00	250.00	-
	Repair of Tools	1.00	250.00	EA	250.00				
2110-445-09-1800	D-901 MATH REPAIRS - MS					-	1,000.00	500.00	-50.00
	Repair of calculators	1.00	500.00	EA	500.00				
2110-445-09-1900	D-901 MUSIC REPAIRS - MS					-	1,000.00	1,000.00	-
	Repairs of musical instruments	1.00	1,000.00	EA	1,000.00				
2110-445-09-2200	D-901 EQPT REPAIRS					1,680.00	1,720.00	1,998.00	16.16
	Service of Microscopes	100.00	8.49	EA	849.00				
	Service of Balances and weight	100.00	8.49	EA	849.00				
	Parts for scopes/balances	1.00	300.00	EA	300.00				
2110-448-04-9000	0-401 TCHG FIELD TRIPS EH					4,463.00	15,241.00	12,566.00	-17.55
	Class Trips Grades 2-5, 555 students at \$15 per child	555.00	15.00	EA	8,325.00				
	All County Music	1.00	400.00	EA	400.00				
	Commerce Plaza-128 students (\$30.00 for each fifth grade student)	128.00	30.00	EA	3,840.00				
		1.00	0.50	EA	0.50				
		1.00	0.50	EA	0.50				

Budget Development Detail Report

Fiscal Year: 2022

Budget Account	Description	Quantity	Unit Cost	Unit Measure	Request/ Item Amount	2019-2020 Actual Expenditure	2020-2021 Adopted Budget	2021-2022 ** Proposed Budget	Percent Change
2110-448-06-9000-601	TCHG FIELD TRIPS HTS					5,914.00	11,400.00	11,400.00	-
Field 7	Trips - 380 students x \$20.00 each	380.00	30.00	EA	11,400.00				
2110-448-07-9000-701	TCHG FIELD TRIPS HH					5,134.00	15,500.00	14,410.00	-7.03
All Co	unty Music, January - All County Bus	1.00	350.00	EA	350.00				
Field 7	Trips for Grades 1-5	535.00	20.00	EA	10,700.00				
Grade	e 5 - Commerce Plaza - Social Studies Trip	110.00	26.00	EA	2,860.00				
Grade	e 5 - Irving Roth, Guest Speaker	1.00	500.00	EA	500.00				
2110-448-08-1000-801	FIELD TRIP EXP- ART					-	3,000.00	3,000.00	-
Art Ga NYC	allery visits, NYC, LI, photo shoots at parks, High Line	1.00	3,000.00	EA	3,000.00				
2110-448-08-1800-801	FIELD TRIP EXP- Math					-	300.00	300.00	-
MOM	Math Museum	1.00	300.00	EA	300.00				
2110-448-08-1900-801	FIELD TRIP EXP- MUSIC					-	5,000.00	7,500.00	50.00
All Co	unty LISFA Music Festival	1.00	3,500.00	EA	3,500.00				
All Sta	ae NYSSMA Music Festival	1.00	4,000.00	EA	4,000.00				
2110-448-08-1920-801	FIELD TRIP EXP- ORCH					3,201.75	4,000.00	-	-100.00
2110-448-08-1930-801	FIELD TRIP EXP- VOCAL					600.00	600.00	600.00	-

Budget Development Detail Report

Fiscal Year: 2022

Budget Account	Description	Quantity	Unit Cost	Unit Measure	Request/ Item Amount	2019-2020 Actual Expenditure	2020-2021 Adopted Budget	2021-2022 ** Proposed Budget	Percent Change
Dadget/ teccunic	Field Trips vocal	1.00	600.00	EA	600.00	Experiorare	Dauget	Buaget	Change
2110-448-08-2200-	-801 FIELD TRIP EXP- SCIENCE					1,292.27	5,532.00	7,282.00	31.63
	Cold Spring Harbor - DNA Lab - AP Bio classes/Adding Living Environment Honors classes	3.00	200.00	EA	600.00				
	Bronx Zoo - APES	125.00	19.95	EA	2,493.75				
	Queens Zoo: Living Environment	245.00	9.95	EA	2,437.75				
	Atlantis Marine World - Marine Bio	50.00	35.00	EA	1,750.00				
2110-448-08-2300-	-801 FIELD TRIP EXP- Social St					787.73	1,100.00	1,100.00	-
	Museums, 9-11 Memorial	1.00	1,100.00	EA	1,100.00				
2110-448-08-2600-	-801 FIELD TRIP EXP- LOTE					-	400.00	400.00	-
	Misc Field trips	1.00	400.00	EA	400.00				
2110-448-08-2700-	-801 FIELD TRIP EXP- Business					-	270.00	270.00	-
	LIBTA Contest -	1.00	270.00	EA	270.00				
2110-448-08-6100-	-801 FIELD TRIP EXP- RESEARCH					-	19,755.00	19,395.00	-1.82
	LISEF	14.00	250.00	EA	3,500.00				
	ISEF	1.00	4,000.00	EA	4,000.00				
	Long Island Science Congress	25.00	35.00	EA	875.00				
	WAC (RAF)	60.00	50.00	EA	3,000.00				
	LI Psychology Fair	12.00	35.00	EA	420.00				
	Ecybermission	1.00	1,000.00	EA	1,000.00				

Budget Development Detail Report

Fiscal Year: 2022

Budget Account	Description	Quantity	Unit Cost	Unit Measure	Request/ Item Amount	2019-2020 Actual Expenditure	2020-2021 Adopted Budget	2021-2022 ** Proposed Budget	Percent Change
	STS Finals	1.00	1,500.00	EA	1,500.00	Experientere	Budget	Baaget	Onunge
	LISEF JV	10.00	60.00	EA	600.00				
	NSPC Health Science Competition	20.00	25.00	EA	500.00				
	American Psychological Society Conference	3.00	1,000.00	EA	3,000.00				
	Kathy Belton Science Fair	20.00	50.00	EA	1,000.00				
2110-448-08-6600	-801 FIELD TRIPS HILLTOP					2,360.10	4,000.00	4,000.00	-
	Various Field Trips - LI Adventure Park, College Visits, Cultural Trips to NYC, Phys Ed Trips - Snow Tubing, Hiking, etc.	1.00	4,000.00	EA	4,000.00				
2110-448-08-9000	1-801 TCHG FIELD TRIPS HS					247.00	-	-	-
2110-448-09-9000	1-901 TCHG FIELD TRIPS MS					5,680.00	11,875.00	11,075.00	-6.74
	Grade 6 225 students x \$20 per student	225.00	15.00	EA	3,375.00				
	Grade 7 275 students x \$20 per student	235.00	15.00	EA	3,525.00				
	Grade 8 232 students x \$20 per student	245.00	15.00	EA	3,675.00				
	Music in the Parks	1.00	500.00	EA	500.00				
2110-450-03-1900	l-301 Music MATLS & SUPPL					-	1,000.00	1,000.00	-
	Required music supplies such as metronomes, bar trees, slidewhistles and carbon sticks	1.00	1,000.00	EA	1,000.00				
2110-450-04-1000	-401 SUPPLIES EH ART					4,590.15	5,500.00	5,550.00	0.91
	Ed Data Art Supplies (Favara) 555 students at \$10 per child	555.00	10.00	EA	5,550.00				

Budget Development Detail Report

Fiscal Year: 2022

Budget Account	Description	Quantity	Unit Cost	Unit Measure	Request/ Item Amount	2019-2020 Actual Expenditure	2020-2021 Adopted Budget	2021-2022 ** Proposed Budget	Percent Change
2110-450-04-1300-401	TCHG SUPPLIES ENL EH					1,695.75	2,000.00	1,000.00	-50.00
Teach	ing materials to support NYSLAT lab	1.00	1,000.00	EA	1,000.00				
2110-450-04-1400-309	SUP & MATERIALS- HLTH ED					484.64	-	-	-
2110-450-04-1800-401	SUPPLIES EH MATH					17.34	100.00	300.00	200.00
Curric and D	culum Supplies Grades 2-5 (Support materials for AIS ifferentiation of Instruction)	1.00	300.00	EA	300.00				
2110-450-04-1900-401	SUPPLIES EH MUSIC					1,694.22	2,893.00	2,936.00	1.49
Vocal	Music-555 students at \$1.50 per child	555.00	1.50	EA	832.50				
Instru	mental Music-270 students at \$1.50 per child	270.00	1.50	EA	405.00				
Instru	mental Music	1.00	1,698.42	EA	1,698.42				
2110-450-04-2000-309	TCHG SUP EH PHYS ED					1,769.73	2,250.00	2,250.00	-
Speci curric	fic supplies to support instruction and enhance ulum	1.00	2,250.00	EA	2,250.00				
2110-450-04-2000-401	TCHG SUP EH PHYS ED					-	-	200.00	-
Indoo	r/Outdoor Equipment/games for Recreation Specialist	1.00	200.00	EA	200.00				
2110-450-04-2100-401	SUPPLIES EH READING					451.50	2,498.00	-	-100.00

Budget Development Detail Report

Fiscal Year: 2022

Budget Account		Description	Quantity	Unit Cost	Unit Measure	Request/ Item Amount	2019-2020 Actual Expenditure	2020-2021 Adopted Budget	2021-2022 ** Proposed Budget	Percent Change
2110-450-04-2200	0-401	TCHG SUP EH SCIENCE					3,336.12	4,131.00	5,329.00	29.00
	Science	Materials Grades 2-5 555 students at \$6.30	555.00	6.30	EA	3,496.50				
		Science Subscription-One Total cost is \$ 2,499.00 d by 3 = 833.00. Cost split between EH, HH, and	1.00	833.00	EA	833.00				
	Breakou access.	ut EDU- Subscription For School-Wide Platform 12mo	1.00	999.00	EA	999.00				
2110-450-04-3000	0-401	TCHG SUPPLIES EH STEM					4,585.92	5,026.00	5,026.00	-
	Project I	Lead the Way Launch 3.1 Refill Kits	6.00	95.00	EA	570.00				
	Project I	Lead the Way Robot Design Kits	10.00	380.00	EA	3,800.00				
	Shipping	9	1.00	655.50	EA	655.50				
2110-450-04-4300	0-401	TCHG SUP EH ELEM ENRICH					1,581.71	2,610.00	2,610.00	-
		nent Materials and Supplies Grades 3-5/ Lunch nent Workshops (Grades 4-5)- 261 Students at \$10.00	261.00	10.00	EA	2,610.00				
2110-450-04-9000	0-401	TCHG CL SUP EH					67,780.22	73,422.00	71,857.00	-2.13
	Instructi	onal Ed Data books for all grades for entire building	1.00	23,500.00	EA	23,500.00				
	Literacy	materials to support instruction	1.00	2,000.00	EA	2,000.00				
		ional text to support professional development for n Core State Standards STEM Initiative	1.00	14,000.00	EA	14,000.00				
	Kids Jr.	Kore Wobble Chair 16"H Green	1.00	63.00	EA	63.00				
	Premier	Laminate Table Cafe Height	1.00	144.00	EA	144.00				
	Big Joe	Bean Bag Dorm Chair Red	1.00	58.50	EA	58.50				
	Big Joe	Bean Bag Dorm Chair Green	1.00	58.50	EA	58.50				

Budget Development Detail Report

Fiscal Year: 2022

				Unit	Request/	2019-2020 Actual	2020-2021 Adopted	2021-2022 ** Proposed	Percent
Budget Account	Description Ergonomic Mobile Stool	Quantity 1.00	Unit Cost 63.00	Measure EA	Item Amount 63.00	Expenditure	Budget	Budget	Change
	Flavors Fixed Height Stool Seat	1.00	117.00	EA	117.00				
	Flex-Space Comfy Fir Seat -Gr	1.00	50.87	EA	50.87				
	Flex-space Student Lap Desk	2.00	64.74	EA	129.48				
	The Surf-Light Green	2.00	25.00	EA	50.00				
	The Surf- Blue	2.00	25.00	EA	50.00				
	Imagination Station Colorful Dry Erase Table	1.00	279.00	EA	279.00				
	Locking Casters for Tables 4/pkg	1.00	40.50	EA	40.50				
	OFM Posture Task Chair w/arms	1.00	180.00	EA	180.00				
	Furniture Book Holder Display	3.00	93.56	EA	280.68				
	Childcraft Everyones a Star- Carpet	1.00	431.96	EA	431.96				
	QS Storage 3 Shelf open Mobile Locking cast	3.00	317.66	EA	952.98				
	Classroom Carpet for 30	1.00	443.08	EA	443.08				
	Science Tables	2.00	419.99	EA	839.98				
	Flex-Space Lounge Curve Couch	2.00	526.32	EA	1,052.64				
	Flex-Space Lounge -Ottoman	2.00	184.08	EA	368.16				
	Sandusky Lee Heavy Duty Mobile Bookcase Blue	2.00	251.99	EA	503.98				
	Sandusky Lee Heavy Duty Mobile Bookcase	1.00	377.99	EA	377.99				
	Drawer - Stacking Mod-Lg	2.00	145.46	EA	290.92				
	File Box 35Qt	2.00	12.89	EA	25.78				
	File Cabinet	1.00	351.86	EA	351.86				
	QS Storage 2 Shelf open Mobile Locking Casters	2.00	227.66	EA	455.32				
	Bean Bag Chair Replacement Pellets	1.00	18.86	EA	18.86				
	Premier Laminate Table	1.00	144.00	EA	144.00				
	Big Joe Bean Bag Dorm Chair	1.00	58.50	EA	58.50				
	Flavors Fixed Height Stool	2.00	117.00	EA	234.00				
	Tenjam Firm Circle Stool	1.00	144.00	EA	144.00				

Budget Development Detail Report

Fiscal Year: 2022

Budget Account	Description	Quantity	Unit Cost	Unit Measure	Request/ Item Amount	2019-2020 Actual Expenditure	2020-2021 Adopted Budget	2021-2022 ** Proposed Budget	Percent Change
	Overstuffed Bean Bag Chair	1.00	75.59	EA	75.59				
	Safco Focal Stool	2.00	144.99	EA	289.98				
	Kore Grow With Me Adjustabl	1.00	111.99	EA	111.99				
	The surf- 10 Piece Classroom Pack	1.00	269.96	EA	269.96				
	Center Reading/ Writing w/tubs	1.00	438.26	EA	438.26				
	TuffDuck Back Jack Floor Chair Navy Blue	6.00	53.49	EA	320.94				
	Reading Cushion Round Foam	6.00	35.34	EA	212.04				
	Imagination Station Colorful Dry Erase Table	1.00	314.99	EA	314.99				
	Flex Space Comfy Floor Seat -green	2.00	55.49	EA	110.98				
	Flex Space Compfy Floor Seat-blue	2.00	55.49	EA	110.98				
	Flex Space Lounge Couch for 2-green	1.00	350.58	EA	350.58				
	Flex Space Lounge Ottoman	1.00	184.08	EA	184.08				
	High Back Bean Bag Chair-Dark Denim Blue	2.00	89.99	EA	179.98				
	Fle Space Write/Wipe Trap Table	8.00	452.33	EA	3,618.64				
	Flex Space Stacking Chair	24.00	46.24	EA	1,109.76				
	Flex Space Mobile Storage	1.00	461.58	EA	461.58				
	Flex Space Storage Bins	1.00	165.58	EA	165.58				
	Flex Space Write & Wipe rect. table	1.00	461.58	EA	461.58				
	Comfy Floor Seat	2.00	50.87	EA	101.74				
	Flex Space Comfy Stool -Blue	1.00	119.33	EA	119.33				
	Petal Junior Collaborative Student Desk-Laminate	24.00	193.69	EA	4,648.56				
	Mesh Book Basket for Petal Classroom Desks -Black	24.00	17.10	EA	410.40				
	Hard Caster Kit	24.00	43.89	EA	1,053.36				
	Chair-CS Contemporary -Four Leg-Soft Plastic Shell14	28.00	34.16	EA	956.48				
	Flex Space Lounge Couch for 3-Blue	1.00	461.58	EA	461.58				
	Flex Space 6ft Blue Round Carpet	1.00	156.33	EA	156.33				
	Petal Jr Collaborative Student Desk- Whiteboard	6.00	193.68	EA	1,162.08				

Budget Development Detail Report

Fiscal Year: 2022

Budget Account	Description	Quantity	Unit Cost N	Unit Measure	Request/ Item Amount	2019-2020 Actual Expenditure	2020-2021 Adopted Budget	2021-2022 ** Proposed Budget	Percent Change
	Mesh Book Basket for Petal Classroom Desks	6.00	19.02	EA	114.12		<u> </u>		
	Hard Caster Kit	6.00	48.81	EA	292.86				
	Nine Square Cafe Stool	2.00	149.00	EA	298.00				
	Kit Cubby 25 Tray w/locking Casters	1.00	378.82	EA	378.82				
	Student Desk- sit/stand	2.00	301.44	EA	602.88				
	Adapt Wave Small Top table -White	8.00	159.57	EA	1,276.56				
	Chair - CS Contemporary Black Shell	20.00	36.08	EA	721.60				
	Qs Storage 2 shelf open Mobile Locking Casters	1.00	191.54	EA	191.54				
	Qs Storage 3 Shelf Open Mobile Locking Casters	1.00	261.67	EA	261.67				
	Bus Seat Assignment Labels	1.00	310.00	EA	310.00				
	Flex-Space Double Sided Mobile Teaching Easel	2.00	415.33	EA	830.66				
	Turn-in-your-work Organizer	2.00	46.24	EA	92.48				
	Magnetic Storage Boxes- Set 4	2.00	13.87	EA	27.74				
	Grade 2-MD Book Pouch Kit	13.00	64.74	EA	841.62				
2110-450-04-9000	0-999 MATERIALS & SUPPLIES					5,618.78	-	-	-
2110-450-06-0800	0-601 SUPPLIES HTS PRE-K					298.53	300.00	300.00	-
	Ed-Data Pre-K Supplies	1.00	300.00	EA	300.00				
2110-450-06-0900	0-601 SUPPLIES HTS KG					6,533.42	10,792.00	10,750.00	-0.39
	Ed-Data classroom supplies	11.00	600.00	EA	6,600.00				
	J.D'Amato - 1496691 Classroom Activity Table	1.00	300.00	EA	300.00				
	J.D'Amato - 1526300 Childcraft Storage Unit	1.00	250.00	EA	250.00				
	S.Neal - 082854 Wood Designs Chair 2 Pack	1.00	200.00	EA	200.00				

Budget Development Detail Report

Fiscal Year: 2022

Budget Account	Description	Quantity	Unit Cost	Unit Measure	Request/ Item Amount	2019-2020 Actual Expenditure	2020-2021 Adopted Budget	2021-2022 ** Proposed Budget	Percent Change
	S.Neal - 1570095 - ECR4Kids Table/Stool Set	1.00	200.00	EA	200.00				
	S.Neal - 1590934 - Book Storage Leveled Mobile	2.00	250.00	EA	500.00				
	L.McGovern - 1467858 - Double Sided Bookcase	1.00	450.00	EA	450.00				
	Flexible seating for Kindergarten Classes	1.00	2,000.00	EA	2,000.00				
	Materials for Mindfulness Room for Kindergarten classes	1.00	250.00	EA	250.00				
2110-450-06-1000-	601 SUPPLIES HTS ART					1,224.86	1,500.00	1,500.00	-
	Ed-DataClassroom supplies for K&1st grade classes	1.00	1,500.00	EA	1,500.00				
2110-450-06-1100-0	Supplies HTS Computers					298.40	300.00	300.00	-
	Ed-Data Supplies	1.00	300.00	EA	300.00				
2110-450-06-1150-0	601 SUPPLIES HTS STEAM					-	300.00	300.00	-
	STEAM Ed-Data supplies	1.00	300.00	EA	300.00				
2110-450-06-1300-	601 TCHG SUPPLIES ENL HGT					1,098.97	1,150.00	1,150.00	-
	Classroom supplies for K and 1st grade	2.00	250.00	EA	500.00				
	Family Night	1.00	100.00	EA	100.00				
	Pen Pal Celebration with all 3 elementary schools	1.00	250.00	EA	250.00				
	Parent education meetings	1.00	150.00	EA	150.00				
	PACT supplies	1.00	150.00	EA	150.00				
2110-450-06-1400-	601 SUP & MATERIALS- HLTH ED					540.74	_	-	-

Budget Development Detail Report

Fiscal Year: 2022

Budget Account	Description	Quantity	Unit Cost	Unit Measure	Request/ Item Amount	2019-2020 Actual Expenditure	2020-2021 Adopted Budget	2021-2022 ** Proposed Budget	Percent Change
2110-450-06-1800-601	SUPPLIES HTS MATH					490.20	2,000.00	2,000.00	-
Go Ma	th! supplementary materials	1.00	500.00	EA	500.00				
IXL M	ath Subscription for 7 1st grade teachers	1.00	1,500.00	EA	1,500.00				
2110-450-06-1900-601	SUPPLIES HTS MUSIC					280.56	300.00	300.00	-
Ed-Dat	ta classroom supplies	1.00	300.00	EA	300.00				
2110-450-06-2000-309	TCHG SUP HGT PHYS ED					1,221.12	1,750.00	1,750.00	-
Specifi curricu	c supplies to support instruction and enhance lum	1.00	1,750.00	EA	1,750.00				
2110-450-06-2000-999	MATERIALS & SUPPLIES					115.24	-	-	-
2110-450-06-2100-601	SUPPLIES HTS READING					500.00	500.00	500.00	-
Ed-Dat	ta Supplies	2.00	250.00	EA	500.00				
2110-450-06-2100-999	MATERIALS & SUPPLIES					61.70	-	-	-
2110-450-06-2200-601	TCHG SUP HTS SCIENCE					1,350.75	1,000.00	1,150.00	15.00
	ption of \$2,000 will be split between East Hills, Harbor Hill a ta Supplies	nd Heights - \$666.00 each 1.00	300.00	EA	300.00				
	y Science Subscription	1.00	850.00	EA	850.00				
2110-450-06-9000-601	TCHG SUPPLIES HTS					7,058.46	9,277.00	8,210.00	-11.50

Budget Development Detail Report

Fiscal Year: 2022

Budget Account	Description	Quantity	Unit Cost	Unit Measure	Request/ Item Amount	2019-2020 Actual Expenditure	2020-2021 Adopted Budget	2021-2022 ** Proposed Budget	Percent Change
	Cultured kids program	1.00	200.00	EA	200.00	Exponditoro	Budgot	Budgot	Onango
	Field Day	1.00	100.00	EA	100.00				
	1st Grade Ed-Data supplies	6.00	560.00	EA	3,360.00				
	Special ed supplies - Resource Room	3.00	200.00	EA	600.00				
	RTI supplies	1.00	200.00	EA	200.00				
	Special education Ed-Data supplies - ABA	1.00	200.00	EA	200.00				
	Special education Ed-Data supplies - Psychologist	1.00	200.00	EA	200.00				
	Special education Ed-Data supplies - Speech	2.00	200.00	EA	400.00				
	R. Schultz - 1526296 Childcraft 2-shelf storage	2.00	225.00	EA	450.00				
	H. Wick 1526296 Childcraft 2-shelf storage	1.00	250.00	EA	250.00				
	Flexible seating for 1st grade classes	1.00	2,000.00	EA	2,000.00				
	Materials for Mindfulness Room for 1st grade classes	1.00	250.00	EA	250.00				
2110-450-07-1000	0-701 SUPPLIES HH ART					5,120.04	5,200.00	5,350.00	2.88
	Art Room Materials	535.00	10.00	EA	5,350.00				
2110-450-07-1300	0-701 TCHG SUPPLIES ENL HH					1,250.00	1,250.00	500.00	-60.00
	Continental Press, Inc. Book Order (Teacher does not need for 2021-2022. Order in 2022-2023)	0.00	0.00	EA	0.00				
	ENL Materials and Supplies	1.00	250.00	EA	250.00				
	New NYSESLAT	1.00	250.00	EA	250.00				
2110-450-07-1800	0-701 SUPPLIES HH MATH					230.14	250.00	250.00	-
	Math Supplies AIS	1.00	250.00	EA	250.00				

Budget Development Detail Report

Fiscal Year: 2022

Budget Account	Description	Quantity	Unit Cost	Unit Measure	Request/ Item Amount	2019-2020 Actual Expenditure	2020-2021 Adopted Budget	2021-2022 ** Proposed Budget	Percent Change
2110-450-07-1900-7	701 SUPPLIES HH MUSIC					824.73	1,720.00	1,696.00	-1.40
	t x 1.50 = for vocal music nrollment) x 1.50 - for instrumental music								
	Add in to make even	1.00	0.50	EA	0.50				
	Instrumental Music Grs. 4 and 5	220.00	1.50	EA	330.00				
	Instrumental Accessories - Reeds and Violin Pads	1.00	313.00	EA	313.00				
	NYSSMA Sol Ribbons/Awards (Do not need for 2021	-2022) 0.00	0.00	EA	0.00				
	Stool for Music Room	1.00	250.00	EA	250.00				
	Vocal Music	535.00	1.50	EA	802.50				
2110-450-07-2000-3	309 TCHG SUP HH PHYS ED					1,735.49	2,250.00	2,250.00	-
	Specific supplies to support instruction and enhance curriculum	1.00	2,250.00	EA	2,250.00				
2110-450-07-2000-7	701 TCHG SUP HH PHYS ED					183.74	200.00	200.00	-
	Indoor/Outdoor equipment/games for Recreation Spe	ecialist 1.00	200.00	EA	200.00				
2110-450-07-2100-7	701 SUPPLIES HH READING					540.00	895.00	500.00	-44.13
	AIS Reading Materials and Supplies LLI	2.00	250.00	EA	500.00				
	Heineman Order (Ferris)	0.00	0.00	EA	0.00				
2110-450-07-2200-7	701 TCHG SUP HH SCIENCE					2,687.12	6,448.00	12,939.00	100.67
	Breakout EDU -Subscription for School-Wide Platformonth access	n, 12 1.00	1,000.00	EA	1,000.00				
	Cengage Learning Exploring Science through Literact 3, Classroom Set #9781305837539 (do not order in 2021-2022)	cy 0.00	0.00	EA	0.00				

Budget Development Detail Report

Fiscal Year: 2022

Budget Account	Description	Quantity	Unit Cost	Unit Measure	Request/ Item Amount	2019-2020 Actual Expenditure	2020-2021 Adopted Budget	2021-2022 ** Proposed Budget	Percent Change
	Cengage Learning Exploring Science through Literacy 4: Classroom set #9781305837553	5.00	705.00	EA	3,525.00				_
	Cengage Learning Exploring Science through Literacy 5: Classroom Set #9781305837577	5.00	705.00	EA	3,525.00				
	Grade 1 Butterflies (includes shipping) for 5 classrooms	5.00	27.00	EA	135.00				
	Grade 1 Planting (includes 200 Pots and 10 Marigold Super Hero Mix	1.00	195.00	EA	195.00				
	Mystery Science (3 Elementary Schools Splitting \$2,100 cost)	1.00	833.00	EA	833.00				
	Science Fair - Tri-Folds (do not order for 2021-2022)	0.00	0.00	EA	0.00				
	Science Supplies and Materials (Includes classroom Science consumables)	535.00	6.30	EA	3,370.50				
	Tahany - Paradise Ponds by Ed Dedicke, Inc. Pond Clean Out, Labor and Treatment	1.00	355.00	EA	355.00				
2110-450-07-2200	0-999 MATERIALS & SUPPLIES					207.00	-	-	-
2110-450-07-3000	0-701 TCHG SUPPLIES HH STEM					-	5,360.00	1,000.00	-81.34
	Fresh Inc.	1.00	1,000.00	EA	1,000.00				
2110-450-07-4300	7-701 TCHG SUP HH ELEM ENRICH					672.28	-	-	-
2110-450-07-9000	0-701 TCHG SUPPLIES HH					60,262.67	63,971.00	45,230.00	-29.30
	ABA Classroom Supplies	1.00	250.00	EA	250.00				
	Bookcases for Classrooms (estimate of not previously requested)	6.00	250.00	EA	1,500.00				
	Carpets for Classrooms (estimate of not previously requested)	2.00	500.00	EA	1,000.00				
	Classroom library bins,independent reading storage container	1.00	3,300.00	EA	3,300.00				

Budget Development Detail Report

Fiscal Year: 2022

Budget Account	Description	Quantity	Unit Cost	Unit Measure	Request/	2019-2020 Actual Expenditure	2020-2021 Adopted Budget	2021-2022 ** Proposed Budget	Percent Change
	Classroom Carpet, Grade 1, Room 13: DEMCO Chelsea Carpet - Item WT13767010	1.00	212.00	EA	212.00	Experiantare	Budget	Dudget	Ghange
	Classroom Carpet, Grade 1, Room 13: Lakeshore Nature Carpet for 30- Item HH673	1.00	446.00	EA	446.00				
	Classroom Carpet, Grade 2, Room 22: Lakeshore A Place for Everyone - Item LA952	1.00	453.00	EA	453.00				
	Classroom Carpet, Grade 2, Room 23: Lakeshore Carpet for 30 - Item LA952	1.00	453.00	EA	453.00				
	Classroom Furniture, Grade 1, Room 13: Lakeshore Collaborative FloorWork Bundle: Item LA689DC	1.00	498.00	EA	498.00				
	Classroom Furniture, Grade 3, Room 31: Lakeshore Rainbow 30x60 Rect Table - Red - Item CN341RD	2.00	212.00	EA	424.00				
	Classroom Furniture, Grade 3, Room 31: Lakeshore Rainbow 30x60 Rect Table - Yellow - Item CN341YE	2.00	212.00	EA	424.00				
	Classroom Furniture, Grade 3, Room 31: Lakeshore Rainbow 30x60 RectTable - Blue - Item CN341BU	2.00	212.00	EA	424.00				
	Classroom Furniture, Grade 5, Room 57: Lakeshore 16" Wobble Chair in Blue - Item CR126BU	5.00	65.00	EA	325.00				
	Classroom Furniture, Grade 5, Room 57: Lakeshore Flex-Space Comfy Flr Seat Green - Item LC405GR	1.00	55.00	EA	55.00				
	Classroom Furniture, Grade 5, Room 57: Lakeshore Flex-Space Compy Flr Seat Gray - Item LC405GA	1.00	55.00	EA	55.00				
	Classroom Furniture, Grade 5, Room 57: Lakeshore Flex-Space Compy Flr Seat Orange - Item LC405RG	1.00	55.00	EA	55.00				
	Classroom Furniture, Grade 5, Room 57: Lakeshore Flex-Space Compy Flr Seat Blue - Item LC405BU	2.00	55.00	EA	110.00				
	Classroom Furniture, Science, Room 44: Demco MooreCo Hierarchy Grow Stool (Item W13765330) Orange	6.00	140.00	EA	840.00				
	Classroom Furniture, Science, Room 44: School Specialty Adjustable Desk with Fidget Pedal 33 1/2 x 25-1/2 Markerboard top-black lockedge (Item 2010891)	1.00	406.00	EA	406.00				
	Classroom Teacher Supplies	1.00	13,000.00	EA	13,000.00				
	Computers	1.00	400.00	EA	400.00				
	Ed Data Supplies	1.00	13,000.00	EA	13,000.00				
	Grade 2 Really good Stuff - book pouch kit (do not needfor 2021-2022)	0.00	0.00	EA	0.00				
	Grade 2 Oriental Trading	1.00	670.00	EA	670.00				

Budget Development Detail Report

Fiscal Year: 2022

Budget Account	Description	Quantity	Unit Cost	Unit Measure	Request/ Item Amount	2019-2020 Actual Expenditure	2020-2021 Adopted Budget	2021-2022 ** Proposed Budget	Percent Change
	Grade 3 Holiday Class Projects	1.00	482.00	EA	482.00				
	Grade 3 Really Good Stuff 4 Pocket Student Folder Item 15578	1.00	1,168.00	EA	1,168.00				
	Grade 3 supplies for writing	1.00	1,265.00	EA	1,265.00				
	Grade 5 School Specialty Binder view 2' white #086394	100.00	1.50	EA	150.00				
	Grade 5 School Specialty Dividers index 5 tab #081940	100.00	0.30	EA	30.00				
	Grade 5 School Specialty Sheet Protectors #067506	15.00	9.00	EA	135.00				
	Harbor Hill Mini-Marathon	1.00	500.00	EA	500.00				
	Laminator Rolls (two orders per year - \$700 each)	2.00	700.00	EA	1,400.00				
	Petty Cash	1.00	500.00	EA	500.00				
	Psychologist/Social Worker	2.00	200.00	EA	400.00				
	School Lunch Fund - Open PO - School Events	1.00	500.00	EA	500.00				
	Speech	2.00	200.00	EA	400.00				
2110-450-07-9000	0-999 CARRY OVER ENCUMBRANCE					502.78	-	-	-
2110-450-08-1000	0-801 SUPPLIES HS ART					25,534.54	21,256.00	23,256.00	9.41
	Subscriptions - Magazines	1.00	256.00	EA	256.00				
	Supplies - Various art supplies	1.00	23,000.00	EA	23,000.00				
	Paint, markers, clay, sculpture, construction paper, pencils, photography supplies,								
2110-450-08-1200	0-801 SUPPLIES HS ENGLISH					631.75	2,928.00	2,872.00	-1.91
	Staples - Poster Size Post-It, Marbkle notebooks, Markers, Colored pencils	1.00	1,553.42	EA	1,553.42				
	Barnes & Noble - DVD	1.00	345.00	EA	345.00				
	Apperson - 25 Q's. 50 Q's, 2 Red Ink Cartridges	1.00	371.00	EA	371.00				

Budget Development Detail Report

Fiscal Year: 2022

Budget Account	Description	Quantity	Unit Cost	Unit Measure	Request/ Item Amount	2019-2020 Actual Expenditure	2020-2021 Adopted Budget	2021-2022 ** Proposed Budget	Percent Change
	Magazine subscriptions of America	1.00	601.80	EA	601.80		-		
2110-450-08-1300	1-801 TCHG SUPPLIES ENL HS					-	300.00	300.00	-
	Staples, Notebooks, Index cards, etc.	1.00	300.00	EA	300.00				
2110-450-08-1400	-309 SUP & MATERIALS- HLTH ED					891.98	2,000.00	2,000.00	-
	Specific supplies to support instruction and enhance curriculum for 10th grade health class	1.00	1,000.00	EA	1,000.00				
	Adulting 101	1.00	1,000.00	EA	1,000.00				
2110-450-08-1800	1-801 TCHG SUP HS MATH					3,421.50	3,915.00	3,915.00	-
	School Specialty	1.00	2,614.00	EA	2,614.00				
	Staples	1.00	1,300.00	EA	1,300.00				
		1.00	0.55	EA	0.55				
		1.00	0.45	EA	0.45				
2110-450-08-1800	999 MATERIALS & SUPPLIES					913.40	-	-	-
2110-450-08-1900	1-801 TCHG SUP HS MUSIC					-	-	3,198.00	-
	ToneSavvy.com - music software	1.00	228.00	EA	228.00				
	SmartMusic - Full access Educator Subscription	3.00	40.00	EA	120.00				
	SmartMusic - 225 Students subscriptions - music creator software	225.00	10.00	EA	2,250.00				
	Practice Harmony 7E	15.00	39.99	EA	599.85				

Budget Development Detail Report

Fiscal Year: 2022

Budget Account	Description	Quantity	Unit Cost	Unit Measure	Request/ Item Amount	2019-2020 Actual Expenditure	2020-2021 Adopted Budget	2021-2022 ** Proposed Budget	Percent Change
2110-450-08-1910-801	TCHG SUP HS BAND					5,000.00	4,500.00	4,500.00	-
Misc S	Supplies - Reeds, sticks, sheet music, etc.	1.00	4,500.00	EA	4,500.00				
2110-450-08-1920-801	TCHG SUP HS ORCH					2,271.38	3,000.00	3,000.00	-
Suppli	es- Music	1.00	3,000.00	EA	3,000.00				
2110-450-08-1930-801	TCHG SUP HS VOCAL					1,895.62	3,000.00	3,000.00	-
Suppli	es - Music	1.00	3,000.00	EA	3,000.00				
2110-450-08-1930-999	MATERIALS & SUPPLIES					515.13	-	-	-
2110-450-08-2000-309	TCHG SUP HS PHYS ED					2,948.85	3,450.00	3,450.00	-
Specif curricu	ic supplies to support instruction and enhance ulum	1.00	3,450.00	EA	3,450.00				
2110-450-08-2100-801	TCHG SUP HS READING					-	823.00	823.00	-
Subsc	riptions	1.00	30.00	EA	30.00				
Variou	s Supplies and Scholastic	1.00	602.00	EA	602.00				
Staple	s	1.00	190.52	EA	190.52				
		1.00	0.48	EA	0.48				
2110-450-08-2200-801	TCHG SUP HS SCIENCE					34,389.98	34,103.00	35,603.00	4.40

Budget Development Detail Report

Fiscal Year: 2022

Budget Account	Description	Quantity	Unit Cost 1	Unit Measure	Request/ Item Amount	2019-2020 Actual Expenditure	2020-2021 Adopted Budget	2021-2022 ** Proposed Budget	Percent Change
	EdData - increased 10% for anticipated cost increases Biogeochemical cycles 8-station kit, Biodiversity kit, Aquatic toxicity ecokit, ethanol biofuel kit, glass apparatus, physiology syringe, examining energy resources kit, bacteria 18-minute test, test tube cuvettes, EQ-AP Biology origin life 8 station replacement set, circulatory system 8-station refill, model kit-animal behavior 8-station kit, species interaction 8-station kit, AP NRG Dynamics materials kit, Biomes & Ecosystems BINGO, racks, cube, assorted pack, How a food web is formed, Cancer and the Loss of Cell kit, POGIL Activities, Stir Rod KIMAX 5X200 pack, Environmental Situation Cards, Glucose Standard Solution, CHemistry - Hydrogen Peroxide, Living Plants - Plant Tray, AP Biology Respiration Kit, Pesticide Test Strips	1.00	29,000.00	EA	29,000.00				
	Non EDS Supplies	1.00	1,000.00	EA	1,000.00				
	Open PO to Food Emporium - for purchase of freshvegetables,fruit and other materials for use in the science department	1.00	1,000.00	EA	1,000.00				
	Open PO for Marine Bio - to Petco for fish and other live materials	1.00	700.00	EA	700.00				
	Magazine Subscriptions	1.00	903.00	EA	903.00				
	Shipping 10%	1.00	3,000.00	EA	3,000.00				
2110-450-08-2300	0-801 TCHG SUP HS SOCIAL STUDI					4,760.79	6,846.00	6,846.00	-
	Subscriptions	1.00	1,755.00	EA	1,755.00				
	Apperson	1.00	2,000.00	EA	2,000.00				
	School Specialty	1.00	1,450.00	EA	1,450.00				
	DVD's PBS	1.00	69.97	EA	69.97				
	CSI Supplies	1.00	750.00	EA	750.00				
	Scholastic UpFront	1.00	338.35	EA	338.35				
	Shipping	1.00	481.75	EA	481.75				
		1.00	0.93	EA	0.93				

Budget Development Detail Report

Fiscal Year: 2022

Budget Account	Description	Quantity	Unit Cost M	Unit Measure	Request/ Item Amount	2019-2020 Actual Expenditure	2020-2021 Adopted Budget	2021-2022 ** Proposed Budget	Percent Change
2110-450-08-2300-999	MATERIALS & SUPPLIES					419.15	-	-	-
2110-450-08-2600-801	TCHG SUPPLIES - WRLD LAN					2,689.39	2,872.00	2,872.00	
2110-450-06-2600-601	TONG SUPPLIES - WRLD LAIN					2,009.39	2,072.00	2,072.00	-
Va	arious Supplies	1.00	2,600.00	EA	2,600.00				
Ma	agazines	1.00	270.00	EA	270.00				
		1.00	0.50	EA	0.50				
		1.00	0.53	EA	0.53				
		1.00	0.61	EA	0.61				
		1.00	0.36	EA	0.36				
2110-450-08-2700-801	TCHG SUP HS BUSINESS					406.95	827.00	680.00	-17.78
Va Bo	arious Supplies - Fabrics, Markers, Card Stock, Privacy pards, Modeling Dough, Glue Sticks	1.00	553.00	EA	553.00				
Ma	agazines	1.00	125.00	EA	125.00				
		1.00	0.56	EA	0.56				
		1.00	0.38	EA	0.38				
		1.00	0.97	EA	0.97				
		1.00	0.09	EA	0.09				
2110-450-08-2800-801	MATLS & SUPPLIES AP					1,908.90	3,000.00	2,500.00	-16.67
AF	P - General Classroom Supplies	1.00	2,500.00	EA	2,500.00				
2110-450-08-3000-801	TCHG SUPPLIES HS STEM					5,196.00	5,000.00	5,000.00	-
CI	M Supplies	1.00	1,250.00	EA	1,250.00				

Budget Development Detail Report

Fiscal Year: 2022

Budget Account	Description	Quantity	Unit Cost	Unit Measure	Request/ Item Amount	2019-2020 Actual Expenditure	2020-2021 Adopted Budget	2021-2022 ** Proposed Budget	Percent Change
	IED Supplies	1.00	1,250.00	EA	1,250.00	·	·		<u> </u>
	CEA Supplies	1.00	1,250.00	EA	1,250.00				
	POE Supplies	1.00	1,250.00	EA	1,250.00				
2110-450-08-3000-99	99 MATERIALS & SUPPLIES					431.55	-	-	-
2110-450-08-6100-8	01 RESEARCH-SUPL & MAT					610.87	1,500.00	1,500.00	
	Research Supplies	1.00	1,500.00	EA	1,500.00				
2110-450-08-6100-99	99 MATERIALS & SUPPLIES					53.50	-	-	-
2110-450-08-6600-8	01 MATLS & SUPP - Hilltop					1,332.88	2,500.00	2,000.00	-20.00
	Supplies	1.00	2,000.00	EA	2,000.00				
2110-450-08-9000-8	01 TCHG SUPPLIES HS					5,969.21	6,319.00	6,319.00	-
	Supplies	1.00	818.23	EA	818.23				
	Challenge Day Food - Lunch for (3) Days	1.00	3,500.00	EA	3,500.00				
	Misc expenses	1.00	2,000.00	EA	2,000.00				
		1.00	0.77	EA	0.77				
2110-450-09-1000-9	01 TCHG SUP MS ART					9,856.34	11,170.00	10,000.00	-10.47
	Bid book supplies (clay, paint, brushes, art DVD's, oak tag)	1.00	10,000.00	EA	10,000.00				

Budget Development Detail Report

Fiscal Year: 2022

Budget Account	Description	Quantity	Unit Cost	Unit Measure	Request/ Item Amount	2019-2020 Actual Expenditure	2020-2021 Adopted Budget	2021-2022 ** Proposed Budget	Percent Change
2110-450-09-1200	-901 TCHG SUP MS ENGLISH					2,026.31	2,500.00	2,500.00	-
	Poster Size Post-it Pads, Chart paper, Notebook Bins	1.00	1,780.00	EA	1,780.00				
	Scholastic, NY Times	120.00	6.00	EA	720.00				
2110-450-09-1400	-309 SUP & MATERIALS- HLTH ED					606.85	2,000.00	2,000.00	-
	Health Education Supplies	4.00	500.00	EA	2,000.00				
2110-450-09-1500	-901 TCHG SUP MS HOME/CR					10,768.79	11,500.00	11,500.00	-
	Food for curriculum	1.00	8,000.00	EA	8,000.00				
	Replacement of small kitchen equipment (items less than \$200)	5.00	300.00	EA	1,500.00				
	Bid book supplies (measuring cups, bakers' molds, oven mitts	1.00	2,000.00	EA	2,000.00				
2110-450-09-1600	-901 TCHG SUP MS TECH					5,020.62	4,000.00	4,000.00	-
Cost associated	with the addition of Project Lead the Way curriculum and supplies.								
	Bid book supplies (lumber, sandpaper, assorted markers, bolts, glue)	1.00	4,000.00	EA	4,000.00				
2110-450-09-1800	-901 TCHG SUP MS MATH					6,381.29	7,200.00	6,600.00	-8.33
	Protractors, rulers, materials for testing/assessments, Math World, Coding Curriculum	1.00	1,000.00	EA	1,000.00				
	Various classroom supplies	1.00	2,100.00	EA	2,100.00				
	Graph paper and manipulatives	1.00	1,000.00	EA	1,000.00				
	Coding Curriculum-Supporting New Initiatives and Increased Student Enrollment in Coding	1.00	2,500.00	EA	2,500.00				

Budget Development Detail Report

Fiscal Year: 2022

Budget Account	Description	Quantity	Unit Cost	Unit Measure	Request/ Item Amount	2019-2020 Actual Expenditure	2020-2021 Adopted Budget	2021-2022 ** Proposed Budget	Percent Change
2110-450-09-1900-901	TCHG SUP MS MUSIC					1,016.26	1,300.00	1,300.00	-
Chora	al folders, strings, reeds, wax	1.00	1,300.00	EA	1,300.00				
2110-450-09-1900-999	MATERIALS & SUPPLIES					130.36	-	-	-
2110-450-09-2000-309	TCHG SUP MS PHYS ED					1,915.33	2,450.00	2,450.00	-
Speci curric	ific supplies to support instruction and enhance culum	1.00	2,450.00	EA	2,450.00				
2110-450-09-2200-901	TCHG SUP MS SCIENCE					13,210.12	15,700.00	14,500.00	-7.64
	ir. Bid bk supplies for curriculum (Classroom and Lab lies and Science World subscription)	1.00	4,500.00	EA	4,500.00				
7th G Supp	ir. Bid bk supplies for curriculum (Classroom and Lab lies)	1.00	5,000.00	EA	5,000.00				
8th G Supp	r. Bid bk supplies for curriculum (Classroom and Lab lies)	1.00	5,000.00	EA	5,000.00				
2110-450-09-2300-901	TCHG SUP MS SOCIAL ST					753.70	2,635.00	2,000.00	-24.10
Misce	ellaneous supplies, maps, scantrons and Times Upfront	1.00	2,000.00	EA	2,000.00				
2110-450-09-2300-999	MATERIALS & SUPPLIES					371.07	-	-	-
2110-450-09-2600-901	TCHG SUPPLIES - WRLD LAN					239.70	2,300.00	2,300.00	-
	cultural activity supplies, (scantrons, maps, marker is, markers)	1.00	2,300.00	EA	2,300.00				

Budget Development Detail Report

Fiscal Year: 2022

Budget Account	Description	Quantity	Unit Cost	Unit Measure	Request/ Item Amount	2019-2020 Actual Expenditure	2020-2021 Adopted Budget	2021-2022 ** Proposed Budget	Percent Change
2110-450-09-2600-	999 MATERIALS & SUPPLIES					440.95	-	-	-
2110-450-09-3000-	901 TCHG SUPPLIES MS STEM					-	4,050.00	4,050.00	-
	Automation & Robotics	1.00	850.00	EA	850.00				
	Engineering Technology (Core Materials)	1.00	3,200.00	EA	3,200.00				
2110-450-09-9000-9	901 TCHG SUPPLIES MS					9,873.14	13,300.00	13,300.00	-
	Plan books	100.00	12.00	EA	1,200.00				
	Grade books	100.00	12.00	EA	1,200.00				
	Bid book supplies (binders, construction paper,glue,chalk,erasers,calendars, seating charts, pens, pencils, classroom supplies)	1.00	7,000.00	EA	7,000.00				
	Classroom specific supplies. (Maps, TCRWP Post-it Charts)	1.00	3,900.00	EA	3,900.00				
2110-450-09-9000-	999 CARRY OVER ENCUMBRANCE					464.47	-	-	-
2110-451-04-1700-4	401 CONSUM WKBS - EH ELA					4,882.91	9,847.00	10,712.00	8.78
	Grade 2- My Word Wall Flder	13.00	9.59	EA	124.67				
	Special Ed-WRS Student Readers 1-6 Set 4th Edition	5.00	49.90	EA	249.50				
	Special Ed-Wilson Student Notebook (Steps 1-6) 10 pk	2.00	71.00	EA	142.00				
	Special Ed-WRS Intro Set (4th Ed) 1-6	1.00	299.00	EA	299.00				
	Special Ed-WRS Student Dictation Notebook (Steps 1-6) 10 pk 4th Ed.	3.00	62.00	EA	186.00				
	Shipping	1.00	131.95	EA	131.95				
	Shipping	1.00	60.90	EA	60.90				

Budget Development Detail Report

Fiscal Year: 2022

Budget Account	Description	Quantity	Unit Cost M	Unit leasure	Request/ Item Amount	2019-2020 Actual Expenditure	2020-2021 Adopted Budget	2021-2022 ** Proposed Budget	Percent Change
	*Test Prep-Literacy Support	1.00	1,000.00	EA	1,000.00				
	Shipping	1.00	450.00	EA	450.00				
	Growing Up With Grammer	150.00	15.99	EA	2,398.50				
	Shipping	1.00	359.78	EA	359.78				
	Fundations Grade 2 and 3	1.00	3,101.20	EA	3,101.20				
	Shipping	1.00	248.10	EA	248.10				
	Handwriting 2020 Gr. 3 Large Classroom Pkg	150.00	11.99	EA	1,798.50				
	Shipping	1.00	161.87	EA	161.87				
2110-451-04-1800	0-401 CONSUM WKBS - EH MATH					863.28	1,451.00	1,451.00	-
	*Test Prep-Math Support	1.00	1,000.00	EA	1,000.00				
	Shipping	1.00	450.00	EA	450.00				
		1.00	0.45	EA	0.45				
		1.00	0.55	EA	0.55				
2110-451-04-1900	0-401 CONSUMABLE WBKS- MUSIC					-	749.00	768.00	2.54
	String Builder -Book 1	40.00	5.60	EA	224.00				
	Breeze Easy -Book 1 Flute	20.00	6.40	EA	128.00				
	Breeze Easy-Book1 Clarinet	20.00	6.40	EA	128.00				
	Breeze Easy- Book 1 Alto Sax	15.00	6.40	EA	96.00				
	Breeze Easy- Book 1 French Horn	5.00	6.40	EA	32.00				
	Breeze Easy- Book 1 Trombone	10.00	6.40	EA	64.00				
	Breeze Easy- Book 1 Drums	15.00	6.40	EA	96.00				
2110-451-04-2100	0-401 CONSUM WKBS - EH RDG					965.36	1,271.00	1,271.00	

Budget Development Detail Report

Fiscal Year: 2022

Budget Account	Description	Quantity	Unit Cost	Unit Measure	Request/ Item Amount	2019-2020 Actual Expenditure	2020-2021 Adopted Budget	2021-2022 ** Proposed Budget	Percent Change
	Fountas Literacy Quick Guide for ReadingTeachers	2.00	30.00	EA	60.00	Ехропанаго	Budgot	Baagot	Change
	Fountas/Benchmark /Assess K-2 for ReadingTeachers	1.00	531.25	EA	531.25				
	Fountas/Benchmark 2 Assess 3-8 for Reading Teachers	1.00	531.25	EA	531.25				
	Shipping	1.00	148.17	EA	148.17				
		1.00	0.33	EA	0.33				
2110-451-04-2300	0-401 CONSUM WKBS - EH SOC ST					7,336.12	7,711.00	12,161.00	57.71
	Grade 2-Scholastic News 2	150.00	5.95	EA	892.50				
	Grade 2-Science Spin 2	150.00	0.99	EA	148.50				
	Shipping	1.00	151.65	EA	151.65				
	Grade 3-Scholastic News 3	150.00	5.95	EA	892.50				
	Grade 3- Science Spin 3-6	150.00	0.99	EA	148.50				
	Shipping	1.00	118.60	EA	118.60				
	Grade 4-Scholastic News 4	150.00	5.95	EA	892.50				
	Grade 4-Science Spin	150.00	0.99	EA	148.50				
	Shipping	1.00	142.32	EA	142.32				
	Grade 5-StoryWorks Magazine	160.00	8.49	EA	1,358.40				
	Shipping	1.00	204.19	EA	204.19				
	Grade 5-Map Skills For Today	1.00	561.00	EA	561.00				
	Shipping	1.00	64.60	EA	64.60				
	Grade 5- Time For Kids	150.00	4.73	EA	709.50				
	Grade 3 Map Skills Level C	6.00	199.40	EA	1,196.40				
	Map Skills Level C Gr 3 KEY	6.00	0.00	EA	0.00				
	Shipping	1.00	167.50	EA	167.50				
	Grade 4 - Social Studies 2013 NY Student Edition	150.00	27.97	EA	4,195.50				
	Grade 4- Social Studies 2013 NY Proguide Teacher Edition	7.00	0.00	EA	0.00				

Budget Development Detail Report

Fiscal Year: 2022

Budget Account	Description	Quantity	Unit Cost	Unit Measure	Request/ Item Amount	2019-2020 Actual Expenditure	2020-2021 Adopted Budget	2021-2022 ** Proposed Budget	Percent Change
	Shipping	1.00	167.82	EA	167.82				V -
2110-451-06-1700	0-601 CONSUM WKBS - HTS ELA					2,428.80	2,703.00	2,703.00	-
	Scholastic News (includes 10% shipping) 1st grade	6.00	159.00	EA	954.00				
	Let's Find Out (Kindergarten)	11.00	159.00	EA	1,749.00				
2110-451-06-9000	0-601 CONSUM WKBS - HTS					3,429.58	3,000.00	3,000.00	-
	Fundations for K & 1st grade w/shipping	1.00	3,000.00	EA	3,000.00				
2110-451-07-1700	0-701 CONSUM WKBS - HH ELA					25,292.96	11,680.00	9,622.00	-17.62
	Add to round to next whole dollar	1.00	0.62	EA	0.62				
	Grade 1 GL Educators Publishing My Word Book (order for 2021-2022)	0.00	0.00	EA	0.00				
	Grade 1 GL Educators Publishing Words I Use When I Write	100.00	2.60	EA	260.00				
	Grade 1 Reading for Comprehension/Continental (order for 2021-2022)	0.00	0.00	EA	0.00				
	Grade 1 Shipping for GL Educators Publishing (for 2021-2022)	0.00	0.00	EA	0.00				
	Grade 2 Continental Press - Reading Comprehension Level A and Reading Comprehension Level B	1.00	1,907.00	EA	1,907.00				
	Grade 3 Zaner Bloser Handwriting (cursive)	1.00	1,170.00	EA	1,170.00				
	Grade 3 Rally Education! NY ELA Rehearsal Plus 30pk and one free 5 pack of NY ELA Reheasal Plus (ISBN 30486 and 30417) (Do not need for 2021-2022)	6.00	365.00	EA	2,190.00				
	Grade 4 Curriculum Associates Ready NY CCLS ELA Practice Student Book (223560)	125.00	5.00	EA	625.00				
	Grade 4 Curriculum Associates Ready NY CCLS ELA Practice Student Book Shipping	1.00	63.00	EA	63.00				
	Grade 4 School Specialty NY Coach Prac Test 2019 ED Answer Key	5.00	0.00	EA	0.00				

Budget Development Detail Report

Fiscal Year: 2022

Budget Account	Description	Quantity	Unit Cost	Unit Measure	Request/ Item Amount	2019-2020 Actual Expenditure	2020-2021 Adopted Budget	2021-2022 ** Proposed Budget	Percent Change
	Grade 4 School Specialty NY Coach Prac Test 2019 ED ELA (9781683515944)	125.00	5.00	EA	625.00	·	v	v	<u> </u>
	Grade 4 School Specialty NY Coach Prac Test 2019 ED Shipping	1.00	128.00	EA	128.00				
	Grade 4 School Specialty Triumph Learning NY PCP REV+PT 2019 Ed 25BK ELA (2003654)	125.00	14.00	EA	1,750.00				
	Grade 4 School Specialty Triumph Learning NY PCP REV+PT 2019 Ed 25BK ELA (2003654) Shipping	1.00	210.00	EA	210.00				
	Grade 5 NY Ready Practice ELA - Curriculum Associates	100.00	6.50	EA	650.00				
	Grade 5 NY Ready Practice ELA - Curriculum Associates Teacher Guide	5.00	8.50	EA	42.50				
2110-451-07-1800	0-701 CONSUM WKBS - HH MATH					3,970.90	6,042.00	7,081.00	17.20
	Grade 3 Rally! Education NY Math Rehearsal Plus 30 pk and one free 5 PK of NY Math Rehearsal Plus (ISBN 30837, 30769) (Do not need for 2021-2022)	6.00	365.00	EA	2,190.00				
	Grade 4 School Specialty Coach Math Practice Test (9781683516064	125.00	5.00	EA	625.00				
	Grade 4 Ready NY CCLS Math Practices - Curriculum Associates - Teacher Guide (order in 2021-2022)	0.00	0.00	EA	0.00				
	Grade 4 Ready NY CCLS Math Practices Student Book (22343.0) - Curriculum Associates	125.00	5.50	EA	687.50				
	Grade 4 School Specialty Coach Math Practice Test Answer Key (2001918)	5.00	0.00	EA	0.00				
	Grade 4 School Specialty Coach Math Practice Test Shipping	1.00	128.00	EA	128.00				
	Grade 4 School Specialty Triumph Learning NY PCP Rev + PT 2019 ED 25BK Set Math (2003653)	125.00	14.00	EA	1,750.00				
	Grade 4 School Specialty Triumph Learning NY PCP Rev + PT 2019 ED 25BK Set Math (2003653) Shipping	1.00	210.00	EA	210.00				
	Grade 5 NY Cross Plus for CCLS, Rev- GR 5 Shipping	1.00	160.00	EA	160.00				
	Grade 5 NY Cross Plus for CCLS, Rev - Math Gr 5, TE ProductCode 1607412	5.00	6.00	EA	30.00				
	Grade 5 NY Cross Plus for CCLS, Rev-Gr 5, Product codes 1610629	100.00	13.00	EA	1,300.00				

Budget Development Detail Report

Fiscal Year: 2022

Budget Account	Description	Quantity	Unit Cost	Unit Measure	Request/ Item Amount	2019-2020 Actual Expenditure	2020-2021 Adopted Budget	2021-2022 ** Proposed Budget	Percent Change
2110-451-07-1900	0-701 CONSUMABLE WBKS- MUSIC					735.00	900.00	1,049.00	16.56
	Grades 4 and 5 Assorted Breeze Easy Method B	sooks 259.00	4.05	EA	1,048.95				
	Add to make even	1.00	0.05	EA	0.05				
2110-451-07-2100	0-701 CONSUM WKBS - HH RDG					-	1,975.00	3,583.00	81.42
	Wilson Student Workbooks	8.00	31.00	EA	248.00				
	Fundations Order - Grade 1	1.00	1,600.00	EA	1,600.00				
	Fundations Order - Grade 2	1.00	1,488.00	EA	1,488.00				
	Fundations Order Shipping	1.00	247.00	EA	247.00				
2110-451-07-2200	0-701 CONSUM WKBS - HH SCI					940.80	140.00	140.00	-
	Barron's Educational Services - NYS Grade 4 - E Level Science Test (REMOVE FOR 2020-2021 YEAR ONLY. NEW SCIENCE STATE ASSESSM MUST ADD BACK TO BUDGET IN 2021-2022)	SCHOOL	0.00	EA	0.00				
	Grade 2 Science Spin - Scholastic 2 (add-on to News)	Scholastic 100.00	1.40	EA	140.00				
2110-451-07-2300	0-701 CONSUM WKBS - HH SOC ST					7,071.79	7,518.00	9,177.00	22.07
	Add to round up to next whole dollar	1.00	0.06	EA	0.06				
	Grade 1 Continental Press, Map Skills B Gr 2 Se 9780845441428 (order for 2021-2022)	t, Item 0.00	0.00	EA	0.00				
	Grade 1 Scholastic News Magaine	100.00	7.20	EA	720.00				
	Grade 2 Weekly Reader/Scholastic News	120.00	7.20	EA	864.00				
	Grade 3 Continental Press - Map Skills	100.00	9.29	EA	929.00				
	Grade 3 Time for Kids/Scholastic News	100.00	7.20	EA	720.00				
	Grade 4 Storyworks./Scholastiic News	120.00	9.29	EA	1,114.80				

Budget Development Detail Report

Fiscal Year: 2022

Budget Account	Description	Quantity	Unit Cost	Unit Measure	Request/ Item Amount	2019-2020 Actual Expenditure	2020-2021 Adopted Budget	2021-2022 ** Proposed Budget	Percent Change
	Grade 4 my World Social Studies for New York - Grade 4 - Regions (ISBN 9780328944491)	125.00	30.00	EA	3,750.00	·			
	Grade 4 my World Social Studies for New York - Grade 4 - Regions - Shipping and Handling	1.00	150.00	EA	150.00				
	Grade 5 Map Skills for Today (order for 2021-2022)	0.00	0.00	EA	0.00				
	Grade 5 Storyworks/Scholastic News	100.00	9.29	EA	929.00				
2110-451-08-1200	0-801 CONSUM WKBS - HS ENGL					3,441.70	5,345.00	5,046.00	-5.59
	DOVER - Frankenstein (200), Frederick Douglas (120), Winesburg, Ohio (90), Macbeth (120), Richard III (90), Importance of Being Earnest (30), Inferno (60), Meatmorphosis (90), Heart of Darkness (60), Scarlet Letter (150)	1.00	5,046.00	EA	5,046.00				
2110-451-08-1300	0-801 CONSUM WKBS - HS ENL					-	538.00	618.00	14.87
	ESL - Misc - Workbooks at Various Levels; Literary Works, Grammer Form & Function, Essay and Short Composition, Keystone & Companion Readers, DVD, Videos & Site Licenses NY Finish Line ELL's	1.00	600.00	EA	600.00				
	Shipping	1.00	15.00	EA	15.00				
		1.00	0.82	EA	0.82				
		1.00	0.64	EA	0.64				
		1.00	0.56	EA	0.56				
		1.00	0.98	EA	0.98				
2110-451-08-1800	0-801 CONSUM WKBS - HS MATH					1,500.00	1,500.00	1,500.00	-
	CC Geo Topical Review	250.00	3.00		750.00				
	CC Algebra Topical ReviewMarketing Supplies	250.00	3.00	EA	750.00				

Budget Development Detail Report

Fiscal Year: 2022

Budget Account	Description	Quantity	Unit Cost	Unit Measure	Request/ Item Amount	2019-2020 Actual Expenditure	2020-2021 Adopted Budget	2021-2022 ** Proposed Budget	Percent Change
2110-451-08-1920-80	CONSUM WKBS - HS ORCH					1,297.91	2,915.00	1,520.00	-47.86
F	Practice Harmony 7E Unbound book	15.00	98.00	EA	1,470.00				
S	Shipping	1.00	50.00	EA	50.00				
2110-451-08-2200-80	11 CONSUM WKBS - HS SCI					4,327.15	12,730.00	17,504.00	37.50
E	ESRT Wkbook	150.00	9.95	EA	1,492.50				
L	LE Wkbook - Brief Review	240.00	16.97	EA	4,072.80				
E	Earth Science: The Physical Setting	150.00	16.97	EA	2,545.50				
F	Physics Regents Wkbook	75.00	16.97	EA	1,272.75				
C	Chemistry: The Physical Setting	130.00	16.97	EA	2,206.10				
s	shipping	1.00	950.00	EA	950.00				
C	GIZMOS - Virtual Experiments - on-line	1.00	4,963.75	EA	4,963.75				
2110-451-08-2300-80	11 CONSUM WKBS - HS SOC ST					1,199.00	4,304.00	4,304.00	-
J	Jarrett - GI 2	24.00	14.95	EA	358.80				
F	PerFinance	30.00	28.00	EA	840.00				
A	AP Macroeconomics	115.00	27.00	EA	3,105.00				
		1.00	0.20	EA	0.20				
2110-451-08-2600-80	11 CONSUM WKBS - HS WRLD LNG					11,150.88	18,970.00	18,191.00	-4.11
F	French 2H - Une Fois Pour Toutes	35.00	51.97	EA	1,818.95				
C	Chinese AP Barron's 3rd Ed	20.00	23.99	EA	479.80				
li	nteractions Wkbook - French 4H	30.00	120.00	EA	3,600.00				
A	AP French Prep Wkbook	25.00	47.97	EA	1,199.25				

Budget Development Detail Report

Fiscal Year: 2022

Budget Account	Description	Quantity	Unit Cost	Unit Measure	Request/ Item Amount	2019-2020 Actual Expenditure	2020-2021 Adopted Budget	2021-2022 ** Proposed Budget	Percent Change
	Interacciones Wkbook - Span 5H	90.00	108.25	EA	9,742.50	Exponditure	Daagot	Baaget	Ondrigo
	Step with Chinese 3 - 4/4H	30.00	44.99	EA	1,349.70				
2110-451-08-2700	0-801 TCHG WKBS BUSINESS					877.50	2,078.00	4,544.00	118.67
	MindTap - Century 21 Accounting - Gen Journal - 11th Edition-K12 Insyant Access	1.00	900.00	EA	900.00				
	Sports Career Consulting	1.00	599.00	EA	599.00				
	Money & Investing	1.00	450.00	EA	450.00				
	eReadiness Bundle - Business	1.00	1,795.00	EA	1,795.00				
	StuKent - Mimic Social Simulation	1.00	800.00	EA	800.00				
2110-451-08-6600	0-801 CONSUM WKBS - HILLTOP					-	500.00	750.00	50.00
	Various workbooks	1.00	750.00	EA	750.00				
2110-451-09-1200	0-901 CONSUM WKBS - MS ENGL					1,715.97	5,074.00	4,860.00	-4.22
	Ready NY CCLS ELA Instruction 6,7,8	160.00	13.00	EA	2,080.00				
	s/h	1.00	914.00	EA	914.00				
	Curriculum Associates READY 6,7,8	330.00	5.00	EA	1,650.00				
	Curriculum Associates READY 6,7,8 Teacher Guides	36.00	6.00	EA	216.00				
2110-451-09-1900	0-901 CONSUMABLE WBKS- MUSIC					427.00	800.00	600.00	-25.00
	Miscellaneous titles of sheet music	1.00	600.00	EA	600.00				
2110-451-09-2200	0-901 CONSUM WKBS - MS SCI					11,002.24	12,334.00	11,614.00	-5.84
	UPCO ES Physical setting Book	180.00	16.97	EA	3,054.60				

Budget Development Detail Report

Fiscal Year: 2022

Budget Account	Description	Quantity	Unit Cost N	Unit Measure	Request/ Item Amount	2019-2020 Actual Expenditure	2020-2021 Adopted Budget	2021-2022 ** Proposed Budget	Percent Change
-	UPCO Explorations in ES	180.00	19.95	EA	3,591.00	•	, i		
	UPCO Intermediate Level Science	125.00	16.97	EA	2,121.25				
	ESRT Workbook	180.00	9.95	EA	1,791.00				
	s/h	1.00	1,055.79	EA	1,055.79				
2110-451-09-2300-	-901 CONSUM WKBS - MS SOC ST					94.06	2,421.00	-	-100.00
2110-451-09-2300-	-999 CONSUMABLE WBKS					298.99	-	-	-
2110-451-09-2600	-901 CONSUM WKBS - MS WRLD LNG					2,150.00	2,887.00	9,368.00	224.49
	Espanol Esencial	175.00	30.00	EA	5,250.00				
	Le Fracais Essentiel Perfection L.	40.00	30.00	EA	1,200.00				
	Discovering French Today	25.00	22.00	EA	550.00				
	French Blanc	25.00	22.00	EA	550.00				
	Chinese 6	25.00	29.95	EA	748.75				
	Chinese 7	25.00	31.95	EA	798.75				
	Chinese 6/7	2.00	44.99	EA	89.98				
	Chinese 6/7	2.00	24.99	EA	49.98				
	Chinese 6/7	1.00	69.90	EA	69.90				
	Chinese	1.00	59.99	EA	59.99				
2110-459-04-9000	-401 CLASSROOM LIBRARIES					7,927.25	5,114.00	4,000.00	-21.78
	Book of the Month for all classes (5 books/35 copies each)	1.00	4,000.00	EA	4,000.00				

Budget Development Detail Report

Fiscal Year: 2022

Budget Account	Description	Quantity	Unit Cost	Unit Measure	Request/ Item Amount	2019-2020 Actual Expenditure	2020-2021 Adopted Budget	2021-2022 ** Proposed Budget	Percent Change
2110-459-06-9000-6	CLASSROOM LIBRARIES					8,265.54	11,800.00	11,800.00	-
	Per class allocation/Trade books	18.00	350.00	EA	6,300.00				
	Book room	1.00	1,000.00	EA	1,000.00				
	Science Tradebooks - Grade 1 grade level	1.00	1,250.00	EA	1,250.00				
	Social Studies Tradebooks - Grade 1 grade level	1.00	1,250.00	EA	1,250.00				
	Character Education - Book of the Month	1.00	2,000.00	EA	2,000.00				
2110-459-06-9000-9	99 LIB BOOKS & SUP					158.00	-	-	-
2110-459-07-1700-7		Loveled Libraries Conrec				824.27	6,250.00	6,250.00	-
	ies Trade Books ELA: Mentor Texts, Guided Reading Sets Classroom Libraries - Grades K - 5	25.00	250.00	EA	6,250.00				
2110-459-07-1700-9	99 LIB BOOKS & SUP					464.75	-	-	-
2110-459-07-9000-7	Class Lib Book of Month					-	4,500.00	4,500.00	-
	Book of the Month (10 books/30 copies each)	300.00	15.00	EA	4,500.00				
2110-480-03-9000-3	01 NEW TEXTBK SERIES					146,156.54	292,000.00	250,000.00	-14.38
	Entre Cultures, Biology, AP Psychology and Go Math! (3 Year)	1.00	250,000.00	EA	250,000.00				
2110-480-04-2200-4	01 TCHG TEXTBK EH SCI					-	-	9,162.00	-
	Exploring Science through Literacy 4: Classroom Set	7.00	704.75	EA	4,933.25				

Budget Account

Description

Exploring Science through Literacy 5: Classroom Set

Percent

Change

2021-2022 **

Proposed

Budget

Roslyn Public Schools

Budget Development Detail Report

Fiscal Year: 2022

Quantity

6.00

Fund: A GENERAL FUND

Unit

EΑ

Unit Cost Measure

704.75

Request/

Item Amount

4,228.50

2019-2020

Actual

Expenditure

2020-2021

Adopted

Budget

2110-480-07-1700-701	1 TCHG TEXTBK HH LANG ARTS					2,461.00	3,973.00	3,973.00	
Materials for incomir	ng students not included in original enrollment numbers								
	Grade 1 Journeys Premium Student Resource Package (print v/3 year Digital)	6.00	180.00	EA	1,080.00				
	Grade 2 Journeys Premium Student Resource Package (print 1/3 yr Digital)	6.00	98.00	EA	588.00				
	Grade 3 Journeys Premium Student Resource Package (print v/3yr Digital)	6.00	105.00	EA	630.00				
	Grade 4 Journeys Premium Student Resource Package (print igital)	5.00	75.00	EA	375.00				
	Grade 5 Journeys Premium Student Resource Package (print v/3 yr Digital))	4.00	75.00	EA	300.00				
Jo	ourneys Shipping and Handling	1.00	350.00	EA	350.00				
Jo	ourney's Teacher's Ediition	2.00	325.00	EA	650.00				
2110-480-07-1800-701						-	2,287.00	2,287.00	-
Materials for student	ts not included in original enrollment numbers								
	oMath! Hybrid Replacement Student Resource Pkg. Multi ol SE Print/3 yr Digital Grade 1 2015	6.00	56.00	EA	336.00				
	ioMath! Hybrid Replacement Student Resource Pkg. Multi ol SE Print/3 yr Digital Grade 2 2015	6.00	56.00	EA	336.00				
	ioMath! Hybrid Replacement Student Resource Pkg. Multi ol SE Print/3 yr Digital Grade 3 2015	6.00	56.00	EA	336.00				
	ioMath! Hybrid Replacement Student Resource Pkg. Multi ol SE Print/3 yr Digital Grade 4 2015	5.00	56.00	EA	280.00				
	ioMath! Hybrid Replacement Student Resource Pkg. Multi ol SE Print/3 yr Digital Grade 5 2015	4.00	56.00	EA	224.00				
Gr	o Math! Teacher's Addition	2.00	300.00	EA	600.00				
Go	so Math! Shipping and Handling	1.00	175.00	EA	175.00				

Budget Development Detail Report

Fiscal Year: 2022

Budget Account	Des	cription	Quantity	Unit Cost	Unit Measure	Request/ Item Amount	2019-2020 Actual Expenditure	2020-2021 Adopted Budget	2021-2022 ** Proposed Budget	Percent Change
	Mentor/Teachin	g Texts	1.00	1,000.00	EA	1,000.00	,			
2110-480-08-1200-	-801 TCF	HG TEXTBOOK HS ENGLISH					7,522.30	8,355.00	8,455.00	1.20
	Perma-Bound - of a Salesman	Crucible, Hate U Give, Fahrenheit 451, Death	1.00	6,284.64	EA	6,284.64				
	Follett Titleware	- Underground Railroad, Tortilla Curtain,	1.00	2,170.20	EA	2,170.20				
2110-480-08-1800-	-801 TCI	HG TEXTBK HS MATH					-	-	1,500.00	-
	Misc. replaceme	ent tectbooks	1.00	1,500.00	EA	1,500.00				
2110-480-08-2200-	-801 TCF	HG TEXTBK HS SCIENCE					-	2,632.00	2,488.00	-5.47
	Replacement Te	extbooks Misc.	25.00	96.69	EA	2,417.25				
	Shipping		1.00	70.00	EA	70.00				
2110-480-08-2300-	-801 TCI	HG TEXTBK HS SOCIAL ST					3,234.53	7,737.00	-	-100.00
2110-480-08-2600-	-801 TCI	HG TEXTBK - WRLD LAN					1,924.77	-	550.00	-
	Replacement te	ctbooks - Authentico 1	20.00	25.00	EA	500.00				
	Shipping		1.00	50.00	EA	50.00				
2110-480-08-2700-	-801 TCI	HG TEXTBK - BUSINESS ED					-	450.00	-	-100.00
2110-480-08-6600-	-801 TCF	HG TEXTBK - HILLTOP					46.90	750.00	500.00	-33.33
	Misc. textbooks		1.00	500.00	EA	500.00				

Budget Development Detail Report

Fiscal Year: 2022

Budget Account	Description	Quantity	Unit Cost	Unit Measure	Request/ Item Amount	2019-2020 Actual Expenditure	2020-2021 Adopted Budget	2021-2022 ** Proposed Budget	Percent Change
2110-480-09-1200	0-901 TCHG TEXTBOOK MS ENGLISH					3,695.40	7,214.00	7,241.00	0.37
	The Outsiders	100.00	9.65	EA	965.00				
	Brown Girl Dreaming	60.00	9.65	EA	579.00				
	Crossover	100.00	7.93	EA	793.00				
	My Brigadista Year	100.00	7.07	EA	707.00				
	They Cage the Animals at Night	30.00	7.07	EA	212.10				
	Lost in Yonkers	60.00	11.38	EA	682.80				
	Pigman	90.00	8.79	EA	791.10				
	13:Thirteen Storiesed	30.00	8.79	EA	263.70				
	Ghost by Jason Reynolds	30.00	7.07	EA	212.10				
	One Fat Summer	30.00	7.93	EA	237.90				
	Indignificant Events in the life of a Cactus	30.00	7.04	EA	211.20				
	Aristole and Dante Discover	45.00	13.09	EA	589.05				
	Internment	60.00	9.65	EA	579.00				
	Vocabulary from Classical Roots	30.00	13.25	EA	397.50				
	S/H	1.00	19.88	EA	19.88				
2110-480-09-2200	0-901 TCHG TEXTBK MS SCIENCE					-	-	4,400.00	-
	Earth Science Honors Textbook-8th Grade	40.00	100.00	EA	4,000.00				
	S/H	1.00	400.00	EA	400.00				
2110-480-09-2300	0-901 TCHG TEXTBK MS SOCIAL ST					6,636.59	4,532.00	6,060.00	33.72
	American Journey	20.00	183.00	EA	3,660.00				
	My world History	15.00	68.70	EA	1,030.50				

Budget Development Detail Report

Fiscal Year: 2022

Budget Account	Description	Quantity	Unit Cost 1	Unit Measure	Request/ Item Amount	2019-2020 Actual	2020-2021 Adopted Budget	2021-2022 ** Proposed Budget	Percent Change
Budget Account	Dark Days: America Great Depression	20.00	15.95	EA	319.00	Expenditure	Buaget	Buaget	Change
	free at Last: Struggle for civil rights	20.00	15.95	EA	319.00				
	Harlem Renaissance	20.00	15.95	EA	319.00				
	House Divided	20.00	15.95	EA	319.00				
	Individual RIghts	3.00	15.95	EA	47.85				
	We the People	1.00	44.95	EA	44.95				
2110-481-03-9000	-301 TCHG BOOKS- PRIV/ PAR					28,578.16	40,000.00	40,000.00	-
	Private/Parochial Textbook Distribution	1.00	40,000.00	EA	40,000.00				
2110-490-03-4700	-301 Testing - ELL (Reg Ed)					8,050.60	5,000.00	5,000.00	-
	Interpretation/Translation services through BOCES - Propio	1.00	5,000.00	EA	5,000.00				
2110-490-03-5700	-301 BOCES ARTS IN ED					85,272.00	75,000.00	75,000.00	-
	In-school assemblies supporting curriculum and the arts (also includes NYSSMA, NMEA, LISFA student participation fee; K-12 Art PD)	1.00	50,000.00	EA	50,000.00				
	Star Dance (Ballroom Dancing K-5)	1.00	25,000.00	EA	25,000.00				
2110-490-04-9000	-401 BOCES SVCS EH					-	5,905.00	5,905.00	-
	Star Dance	1.00	4,000.00	EA	4,000.00				
	Grade 5 Conservation Trip	1.00	1,905.00	EA	1,905.00				
2110-490-07-9000	-701 BOCES SVCS HH					-	5,650.00	5,650.00	-
	Conservation - Cradle of Aviation - Grade 5	1.00	1,650.00	EA	1,650.00				

Budget Development Detail Report

Fiscal Year: 2022

Budget Account	Description	Quantity	Unit Cost	Unit Measure	Request/ Item Amount	2019-2020 Actual Expenditure	2020-2021 Adopted Budget	2021-2022 ** Proposed Budget	Percent Change
Sta	r Dance - Grade 3	1.00	4,000.00	EA	4,000.00				
2110-490-08-2200-801	OUTDOOR ED - BOCES TRIPS					5,862.00	5,499.00	6,666.00	21.22
Воа	ating Program - Marine Bio	2.00	1,833.00	EA	3,666.00				
Dola	an DNA Renewal Program	1.00	3,000.00	EA	3,000.00				
2110-490-08-5600-308	BOCES CULT ARTS PGM					-	75,625.00	75,625.00	-
ВО	CES LIHS for the Arts - 5 students	5.00	15,125.00	EA	75,625.00				
2110-490-08-5700-801	BOCES ARTS IN ED					33,808.00	17,200.00	15,500.00	-9.88
Cha	allenge Day Program Cost - 3 days	1.00	13,000.00	EA	13,000.00				
Dist	tracted Driving Simulators	1.00	2,500.00	EA	2,500.00				
2110-490-09-5700-901	BOCES ARTS IN ED					-	10,000.00	10,000.00	-
Sou	und and Lighting for RMS Spotlight Production	1.00	10,000.00	EA	10,000.00				
2110-490-09-9000-901	BOCES TRIPS & CONFERENCES					26,872.25	17,700.00	17,000.00	-3.95
Edu Spr	CES field trips (Outdoor Education and Enviromental uication Center, Caumsett Outdoor Education Center, Cold ing Harbor Fish Hatchery, and Old Bethpage Restoration age)	1.00	17,000.00	EA	17,000.00				
	2110 Teaching-Regular School Function SubTotal					29,589,679.04	30,610,297.00	31,102,476.00	1.61%
2250 Special Education	al Services Function								
2250-150-03-9000-303	SP ED ADMINISTRATORS					485,602.00	497,684.00	510,029.00	2.48

Budget Development Detail Report

Fiscal Year: 2022

Budget Account	Description	Quantity	Unit Unit Cost Measure	Request/ Item Amount	2019-2020 Actual Expenditure	2020-2021 Adopted Budget	2021-2022 ** Proposed Budget	Percent Change
2250-151-03-5900-301	SP ED ADMINISTRATORS				-	3,000.00	3,000.00	-
2250-152-04-2400-303	SPEECH TCHRS- EH				248,157.00	255,169.00	261,075.00	2.31
2250-152-04-9000-303	SP ED TCHRS- EH				520,210.36	530,517.00	553,579.00	4.35
2250-152-06-0900-303	Sp Ed K Salary				124,376.00	128,120.00	129,876.00	1.37
2250-152-06-2400-303	SPEECH TCHRS- HTS				262,478.00	271,153.00	279,114.00	2.94
2250-152-06-9000-303	SP ED TCHRS- HGTS				297,990.87	317,801.00	303,257.00	-4.58
2250-152-07-2100-303	SP ED Wilson Rdg HH				-	-	80,000.00	-
2250-152-07-2400-303	SPEECH TCHRS- HH				203,031.98	207,074.00	211,165.00	1.98
2250-152-07-9000-303	SP ED TCHRS- HH				499,911.21	557,829.00	378,932.00	-32.07
2250-152-08-2400-303	SPEECH TCHRS- HS				134,273.00	138,116.00	139,972.00	1.34
2250-152-08-6600-303	TCHRS K-12 SAL Hilltop				140,686.00	144,206.00	140,472.00	-2.59

Budget Development Detail Report

Fiscal Year: 2022

Budget Account	Description	Quantity	Unit Unit Cost Measure	Request/ Item Amount	2019-2020 Actual Expenditure	2020-2021 Adopted Budget	2021-2022 ** Proposed Budget	Percent Change	-
2250-152-08-9000-303	SP ED TCHRS- HS				1,321,594.00	1,367,245.00	1,350,276.00	-1.24	\neg
2250-152-09-2400-303	SPEECH TCHRS- MS				92,648.52	97,311.00	102,050.00	4.87	
2250-152-09-9000-303	SP ED TCHRS- MS				1,117,890.35	1,147,296.00	1,192,085.00	3.90	
	SP ED TCHG SUMMER IY State Education Law, the CSE responsible of				-	53,472.00	38,993.00	-27.08	
programs, or in SED-appi for education, and if appli	cation students with extended school year progroved private day or residential programs. Dis licable, maintenance and transportation.	istricts will get reimbursed 80% of the ap	pproved total costs						
	includes costs associated with in-district special 18 students through a 12-month program; age dest student is permitted.	. •							
6 Special ed teachers \$3	78,000.00								
2 Speech pathologist \$1	19,482.00								
2250-153-03-9000-303	SP ED TCHG SUPLM				75,481.84	134,000.00	130,000.00	-2.99	
	or the services of "Assisting Teachers" at the F for Special Education Teachers including "Land nded Day Services								
2250-158-04-9000-303	SP ED TCHR ASST SAL- EH				577,763.70	593,815.00	605,470.00	1.96	
2250-158-06-9000-303	SP ED TCHR ASST SAL- HGT				396,193.20	387,330.00	335,070.00	-13.49	\neg

Budget Development Detail Report

Fiscal Year: 2022

Fund: A GENERAL FUND

Budget Account	Description	Quantity	Unit Unit Cost Measure	Request/ Item Amount	2019-2020 Actual Expenditure	2020-2021 Adopted Budget	2021-2022 ** Proposed Budget	Percent Change	
2250-158-07-9000-303	SP ED TCHR ASST SAL-HH				479,484.02	533,660.00	476,446.00	-10.72	
2250-158-08-9000-303	SP ED TCHR ASST SAL- HS				634,670.39	672,949.00	735,628.00	9.31	٦
2250-158-09-9000-303	SP ED TCHR ASST SAL- MS				291,344.51	314,412.00	497,898.00	58.36	\neg
	TCHR ASST SAL SUMMER Insure summer services for special education IEP mare are services for special education IEP manual error needs of the students as well as IEP manual error.				-	61,446.00	78,750.00	28.16	٦
	COVID Salaries allowance for additional services that may be needed will provide "makeup" services.	as a result of the pandemic. It v	vill pay the salaries of		-	50,000.00	-	-100.00	
	TCHR ASST SAL SUPLM Assignments including ABA Planning, IPG and After and Assistants in our special education programs to parthool.				97,827.74	150,000.00	150,000.00	-	٦
2250-160-03-9000-303	SPECIAL ED- CLERICAL SAL				285,811.23	318,096.00	356,245.00	11.99	\neg
	SP ED NON-INS SUPLM and special assignments and the hiring of per diem su penditures for the past seven years.	ubstitutes throughout the school	year. The allocation		13,797.43	17,000.00	17,000.00	-	\neg
2250-165-03-5900-307	NURSE SAL SUMMER				-	11,390.00	6,376.00	-44.02	\neg

The nurse is shared with the district summer program and the nurse's salary for the special education summer program is prorated. Please note if there is no district summer program, the salary for the nurse would be approximately \$13000.00

2 Nurses salary - \$11,390.00

Budget Development Detail Report

Fiscal Year: 2022

Budget Account	Description	Quantity	Unit Cost	Unit Measure	Request/ Item Amount	2019-2020 Actual Expenditure	2020-2021 Adopted Budget	2021-2022 ** Proposed Budget	Percent Change
2250-166-04-9000-303	PARAS SAL EH					22,864.00	23,821.00	24,704.00	3.71
2250-166-07-9000-303	PARAS SAL HH					24,630.00	25,701.00	-	-100.00
2250-166-09-9000-303	PARAS SAL MS					50,203.00	52,353.00	80,676.00	54.10
2250-167-03-9000-303	PARAS SAL SUPLM					870.47	-	-	-
2250-200-04-9000-307	SP ED EQUIP EH					-	6,000.00	-	-100.00
2250-200-07-9000-307	SP ED EQPT HH					4,980.02	-	-	-
2250-230-03-9000-307	SP ED FURN DW					1,665.00	-	-	-
2250-230-03-9000-999	FURNITURE					4,191.43	-	-	-
2250-230-08-9000-307	SP ED FURN HS					-	-	200.00	-
Office	Chair	1.00	200.00	EA	200.00				
	SP ED SUM EDU PROG CONTR se during the summer program and average historic	al expenditures for each:	2,964.00	EA	2,964.00	-	59,192.00	45,128.00	-23.76

Budget Development Detail Report

Fiscal Year: 2022

Budget Account	Description	Quantity	Unit Cost	Unit Measure	Request/ Item Amount	2019-2020 Actual Expenditure	2020-2021 Adopted Budget	2021-2022 ** Proposed Budget	Percent Change
	Daniel Armstrong	1.00	4,456.00	EA	4,456.00		Daagot	Baagot	Guango
	Extraordinary Pediatrics	1.00	35,500.84	EA	35,500.84				
	Foundations O/T	1.00	11,162.74	EA	11,162.74				
	Helping Hands	1.00	15,735.20	EA	15,735.20				
	PBS	1.00	40,500.00	EA	40,500.00				
	S.E.E.D.S OF THE WILLISTONS	1.00	2,500.00	EA	2,500.00				
	Cost of summer special education program is largely funded by state aid including tuition payments we receive from sending districts. The entire expense will be recorded in the Special Aid Fund (F). Costs will be STAC'D for reimbursement.	0.00	0.00	EA	0.00				
	4 % INCREASE INCLUDED	0.00	0.00	EA	0.00				
	Anticipated reimbursement from Special Aid Fund at 60% of the cost of the program	-0.60	112,818.78	EA	-67,691.27				
2250-430-03-8900	0-303 COVID Services					-	150,000.00	-	-100.00
	Special Education Compensatory services as necessary for students who need to "catch up". The General Fund budget had \$200,000 appropriated for salaries for staff needed to provide catch-up services for students due to the pandemic. Those funds will be provided through CRSSA and ARPA funding	1.00	0.00	EA	0.00				
2250-430-03-9000	0-307 SP ED CONTRACT SVCES					990,126.69	927,960.00	1,116,856.00	20.36

2021-2022 **

Roslyn Public Schools

Budget Development Detail Report

Fiscal Year: 2022

Fund: A GENERAL FUND

2019-2020

2020-2021

					_0.0 _0_0			
			Unit	Request/	Actual	Adopted	Proposed	Percent
Budget Account	Description	Quantity	Unit Cost Measure	Item Amount	Expenditure	Budget	Budget	Change

This code supports all contracted services provided to both classified special education students and at risk students who may not be eligible for special education services, however, may require specific building level supports/remedial instruction under Response to Intervention (RtI).

The services paid under this code include occupational therapy, physical therapy, speech services, nursing services for students with significant physical impairments or medical conditions, ABA/autism home services, ABA/behavioral consultations, and sign language interpretation.

In addition, this budget code covers anticipated costs for students who may move into district with pre-existing IEPs; district of location fees for services and programs.

There needs to be some variability in this budget code to account for specific situations and circumstances that arise throughout the school year. For example, as it pertains to DOL or District of Location. If a student is attending a parentally placed program (e.g. the parents send their child to a parochial school) then, instead of the DOR (district of residence - Roslyn) being responsible for providing the service, it is the responsibility of the district where the private school is located (DOL) to hold the CSE meetings, make recommendations, and provide the service without notifying or conferring with the District of Residence (Roslyn). At the end of the school year we receive bills for these services. Until such time we do not have the specifics of the frequency and degree of service (e.g. it is possible that a student could be referred to the DOL and provided services without the DOR knowing about it until the end of the school year. This budget codes anticipates the cost for this particular area.

Listed below are various agencies we contract with to provide IEP & remedial services. Increase rationale - 4% inflation cost, taking in more based students who require services.

4% Cost Increase	1.00	42,956.00	EA	42,956.00
Abilities - Drivers Ed	1.00	3,000.00	EA	3,000.00
All About Kids/ Mid Island Therapy Home Based	1.00	30,000.00	EA	30,000.00
Beyond Boundaries	1.00	10,000.00	EA	10,000.00
Brookville related services	1.00	15,000.00	EA	15,000.00
Christine Baudin	1.00	35,000.00	EA	35,000.00
CJI Consulting STAC, staff development	1.00	2,100.00	EA	2,100.00
Daniel Armstrong PT	1.00	115,000.00	EA	115,000.00
Districts of Location	1.00	40,000.00	EA	40,000.00
Extraordinary Pediatrics OT, Speech, Home Based	1.00	350,000.00	EA	350,000.00
Foundations Occupational Therapy	1.00	115,000.00	EA	115,000.00
Helping Hands Consulting (Behavioral Consultation/Home Based Services	1.00	110,000.00	EA	110,000.00
Horseability Job site	1.00	8,400.00	EA	8,400.00
John Sawicki	1.00	10,000.00	EA	10,000.00

Budget Development Detail Report

Fiscal Year: 2022

Budget Account	Description	Quantity	Unit Cost	Unit Measure	Request/ Item Amount	2019-2020 Actual Expenditure	2020-2021 Adopted Budget	2021-2022 ** Proposed Budget	Percent Change
	MKSA	1.00	4,200.00	EA	4,200.00				
	Metro Therapy OT, Home Based	1.00	12,000.00	EA	12,000.00				
	Mill Neck	1.00	95,000.00	EA	95,000.00				
	Nassau Neuropsychological Services	1.00	14,000.00	EA	14,000.00				
	New York Placement Services School Based	1.00	5,000.00	EA	5,000.00				
	Nicholas Center for Autism	1.00	78,000.00	EA	78,000.00				
	S.E.E.D.S	1.00	15,000.00	EA	15,000.00				
	Sivic Solutions Group Medicaid claiming summerr/fall	1.00	7,200.00	EA	7,200.00				
2250-430-03-9000-9	999 CARRY OVER ENCUMBRANCE					1,017.50	-	-	-
2250-440-03-9000-3	SP ED TRAV CONF WKSHP					1,347.99	3,500.00	2,000.00	-42.86
Travel & Confere	nce Reimbursments								
District Psycholog	gists travel to visit, observe and/or screen placed or potentially placed s	tudents in out of distric	ct programs.						
Admin and Psych	nologists travel for training								
	Travel & Conference Reimbursements	1.00	2,000.00	EA	2,000.00				
2250-450-03-4700-3	SP ED SUP TESTING					-	10,000.00	18,000.00	80.00
	Updated assessments required for cognitive, academic and speech language	1.00	18,000.00	EA	18,000.00				
2250-450-03-9000-3	SP ED SUPPLIES DW					36,725.56	45,000.00	53,500.00	18.89

Budget Development Detail Report

Fiscal Year: 2022

Budget Account		Description	Quantity	Unit Cos	Unit t Measure	Request/ Item Amount	2019-2020 Actual	2020-2021 Adopted	2021-2022 ** Proposed	Percent
Supplies and Ma		purchased to provide differentiated instruction whic \$9,000 per school x 5				nem Amount	Expenditure	Budget	Budget	Change
materials, or it n	nay require	nay mean teaching the same material to all students the teacher to deliver lessons at varying levels of dequired by teachers to practice differentiation in the	ifficulty based on the ability							
* Group studen* Manage the c	ts by share lassroom to	n students' learning styles. ed interests, topic or ability for assignments. o create a safe and supportive environment. adjust lesson content to meet students' needs.								
	DW Sup	plies	1.00	45,000.0	0 EA	45,000.00				
	Teach To	own	1.00	8,500.0	0 EA	8,500.00				
2250-450-03-9000	-999	CARRY OVER ENCUMBRANCE					1,318.50	-	-	-
2250-472-03-5900	-307	PRIV SCH TUITION Summer					-	69,652.00	78,463.00	12.65
Schools to which	h we send	our children for 12 month extended year programs a	and the historical average tu	ition cost of each	school.					
	through purposes expense	t majority of cost for these programs are funded state aid. We appropriate 20% of the cost for trackins only in the general fund. However, the entire will be recorded in the Special Aid Fund (F). Itered this? Was this entered by the Business Office		38,624.4	0 EA	38,624.40				
	UCP		3.00	8,580.0	0 EA	25,740.00				
	UCP 1:1	AIDE	6.00	617.4	0 EA	3,704.40				
	Brookvill	e Center - 2 Ed Program	2.00	9,512.0	0 EA	19,024.00				
	Brookvill	e Center - 2 Autism Program	2.00	12,698.0	0 EA	25,396.00				
	DDI Res	idential (Huntington)	1.00	10,199.0	0 EA	10,199.00				
	Harmony	y Heights Residential	1.00	22,914.5	4 EA	22,914.54				
	Harmony	y Heights Maintenance rate	62.00	203.1	7 EA	12,596.54				
	Nassau	BOCES Jeruselum Ave	1.00	4,801.0	0 EA	4,801.00				
	Ascent		1.00	10,687.0	0 EA	10,687.00				
	Western	Suffolk BOCES James E. Allen	2.00	6,235.0	0 EA	12,470.00				

Budget Development Detail Report

Fiscal Year: 2022

Fund: A GENERAL FUND

Budget Account	Description	Quantity	Unit Cost	Unit Measure	Request/ Item Amount	2019-2020 Actual Expenditure	2020-2021 Adopted Budget	2021-2022 ** Proposed Budget	Percent Change
	Rate Adjustments	1.00	10,000.00	EA	10,000.00	•			
	Anticipated reimbursement from Special Aid Fund at 60% of the cost of the program	-0.60	196,156.88	EA	-117,694.13				
2250-472-03-9000-	307 PRIVATE SCH TUITION					1,266,620.10	1,349,760.00	1,554,126.00	15.14
	e is for special education students who require an approved out of district ement costs for private, non-approved placements are included. *Costs a le. ***			mer					
4% added to cos	st								
***Devereux, And	derson School and Center for Discovery - No Dormatory Costs associate	d with placement							
	Ascent	1.00	64,120.00	EA	64,120.00				
	UCP	3.00	49,369.00	EA	148,107.00				
	UCP 1:1 AIDE	1.00	22,226.40	EA	22,226.40				
	Churchill School and Center	1.00	36,499.00	EA	36,499.00				
	DDI	1.00	61,871.00	EA	61,871.00				
	Summit School	5.00	38,545.00	EA	192,725.00				
	Brookville AHRC - Autism Program	2.00	76,190.00	EA	152,380.00				
	Brookville AHRC	2.00	57,071.00	EA	114,142.00				
	Fusion/FIT/Parent (Settlement)	1.00	83,000.00	EA	83,000.00				
	Lowell School	1.00	41,659.00	EA	41,659.00				
	Rate Adjustment Costs - For Prior Years	1.00	40,000.00	EA	40,000.00				
	Nassau County Dept. Social Svcs - Maintenance reimbursment for Residential Placement - Harmony Heights	3.00	31,197.17	EA	93,591.51				
	Nassau County Dept. Social Svcs - Maintenance Reimbursement for Residential Placement - Anderson School	1.00	60,035.37	EA	60,035.37				
	Winston Prep (Settlement)	1.00	71,200.00	EA	71,200.00				
	Winston Prep (Settlement)	1.00	53,200.00	EA	53,200.00				
	Other Schools to be determined	1.00	68,500.00	EA	68,500.00				
	Harmony Heights Residential	1.00	30,955.00	EA	30,955.00				

1.00

30,955.00

EΑ

30,955.00

Harmony Heights

Budget Development Detail Report

Fiscal Year: 2022

Budget Account	Description	Quantity	Unit Cost	Unit Measure	Request/ Item Amount	2019-2020 Actual Expenditure	2020-2021 Adopted Budget	2021-2022 ** Proposed Budget	Percent Change
	Eagle Hill School (Settlement)	1.00	40,000.00	EA	40,000.00				
	Logan River Academy (Settlement)	1.00	90,000.00	EA	90,000.00				
	Churchhill	1.00	36,499.00	EA	36,499.00				
	4% Cost Increase (excluding rate adjustments, maintenance fees and settlements)	1.00	22,460.22	EA	22,460.22				
2250-472-03-900	0-999 CARRY OVER ENCUMBRANCE					3,929.12	-	-	-
2250-490-03-470	10-307 Testing & Translations ial Ed Evaluation					-	-	3,500.00	-
Billi Igual Speci	Bilingual Spedial Ed Evaluation	1.00	3,500.00	EA	3,500.00				
2250-490-03-900	0-307 SP ED BOCES					796,667.38	623,391.00	775,167.00	24.35
services such a	ode is for special education students recommended for a BOCES out of das vocational education programs, Teacher of the Deaf (TOD) and Teac CES evaluations such as CAP evaluations. Also includes fees for resider	her of the Visually Impa	aired (TVI) servic	ces					
services such a as well as BOC increase.	as vocational education programs, Teacher of the Deaf (TOD) and Teac	her of the Visually Impa	aired (TVI) servic	ces					
services such a as well as BOC increase.	as vocational education programs, Teacher of the Deaf (TOD) and Teac CES evaluations such as CAP evaluations. Also includes fees for resider	her of the Visually Impa	aired (TVI) servic	ces	282,185.28				
services such a as well as BOC increase.	as vocational education programs, Teacher of the Deaf (TOD) and Teac CES evaluations such as CAP evaluations. Also includes fees for resider tion students who attend BOCES out of district programs	her of the Visually Imp. ncy investigations. Cos	aired (TVI) servio t includes 4%		282,185.28 81,120.00				
services such a as well as BOC increase.	as vocational education programs, Teacher of the Deaf (TOD) and Teac CES evaluations such as CAP evaluations. Also includes fees for resider tion students who attend BOCES out of district programs Western SUffolk BOCES with 1:1 aide	her of the Visually Imp. ncy investigations. Cos 2.00	aired (TVI) service t includes 4% 141,092.64	EA	,				
services such a as well as BOC increase.	as vocational education programs, Teacher of the Deaf (TOD) and Teac CES evaluations such as CAP evaluations. Also includes fees for resider tion students who attend BOCES out of district programs Western SUffolk BOCES with 1:1 aide Iris Wolfston	her of the Visually Imp. ncy investigations. Cos 2.00 1.00	aired (TVI) service t includes 4% 141,092.64 81,120.00	EA EA	81,120.00				
services such a as well as BOC increase.	as vocational education programs, Teacher of the Deaf (TOD) and Teac CES evaluations such as CAP evaluations. Also includes fees for resider tion students who attend BOCES out of district programs Western SUffolk BOCES with 1:1 aide Iris Wolfston Carmen Road	her of the Visually Imp. ncy investigations. Cos 2.00 1.00 1.00	aired (TVI) service t includes 4% 141,092.64 81,120.00 80,000.00	EA EA	81,120.00 80,000.00				
services such a as well as BOC increase.	as vocational education programs, Teacher of the Deaf (TOD) and Teac CES evaluations such as CAP evaluations. Also includes fees for resider tion students who attend BOCES out of district programs Western SUffolk BOCES with 1:1 aide Iris Wolfston Carmen Road	ther of the Visually Imp. ncy investigations. Cos 2.00 1.00 1.00	141,092.64 81,120.00 80,000.00 78,000.00	EA EA EA	81,120.00 80,000.00 78,000.00				
services such a as well as BOC increase.	as vocational education programs, Teacher of the Deaf (TOD) and Teacher Sees evaluations such as CAP evaluations. Also includes fees for resider tion students who attend BOCES out of district programs Western SUffolk BOCES with 1:1 aide Iris Wolfston Carmen Road CCA Frontline Systems	her of the Visually Imp. ncy investigations. Cos 2.00 1.00 1.00 1.00	141,092.64 81,120.00 80,000.00 78,000.00 20,860.87	EA EA EA EA	81,120.00 80,000.00 78,000.00 20,860.87				
services such a as well as BOC increase.	as vocational education programs, Teacher of the Deaf (TOD) and Teacher See evaluations such as CAP evaluations. Also includes fees for resider tion students who attend BOCES out of district programs Western SUffolk BOCES with 1:1 aide Iris Wolfston Carmen Road CCA Frontline Systems Investigations	ther of the Visually Imp. ncy investigations. Cos 2.00 1.00 1.00 1.00 1.00	141,092.64 81,120.00 80,000.00 78,000.00 20,860.87 20,000.00	EA EA EA EA EA	81,120.00 80,000.00 78,000.00 20,860.87 20,000.00				

Budget Development Detail Report

Fiscal Year: 2022

Budget Account	Description	Quantity	Unit Cost N	Unit Measure	Request/ Item Amount	2019-2020 Actual Expenditure	2020-2021 Adopted Budget	2021-2022 ** Proposed Budget	Percent Change
2280-490-08-5400-308	BOCES OCC ED					181,832.00	178,122.00	178,122.00	-
	ance received from the State Education Department, we are no used to be budgeted under 2110.490	w budgeting for occup	ational education						
2017-18 - 1 1/2 day stud	dents - 0 Full time students dents - 0 Full time students dents - 1 Full time students								
	idents to attend BOCES OCC ED however, we are on a 3 year rolling average which results in 8 children 17-18	8.00	13,395.00	EA	107,160.00				
are bill	P Students to attend BOCES OCC ED however, we led on a 3 year rolling average which results in 3 en for 2017-18	3.00	23,654.00	EA	70,962.00				
	2280 Occupational Education Function SubTotal					181,832.00	178,122.00	178,122.00	0.00%
2330 Teaching-Special Sch	nools Function								
2330-151-03-5900-301	ADM SAL SUMM PROG					9,180.00	-	9,180.00	-
2330-153-03-5900-301	TCH SAL SUMM PROG					102,582.00	-	102,582.00	-
2330-155-03-5800-304	ADULT ED TCHG					41,303.82	59,695.00	60,291.00	1.00
	classes in subjects including computers, languages, exercise & t fees cover these salaries entirely.	titness, creative arts,	health & wellness	5,					
2330-155-03-6000-801	DRIVER ED TCHG					-	6,996.00	6,996.00	-
This is the new budget c	ode for Driver Education which is now the responsibility of the	HS instead of Adult Ed	ucation						
2330-159-03-5900-301	TCHR ASST SAL SUPL SUMMER					25,132.50	-	25,133.00	-
TA Support for the main	office and front door								
2330-160-03-5800-303	ADULT ED NON-CERTI					86,936.75	84,735.00	75,414.00	-11.00

Budget Development Detail Report

Fiscal Year: 2022

Fund: A GENERAL FUND

Budget Account	Description	Quantity	Unit Unit Cost Measure	Request/ Item Amount	2019-2020 Actual Expenditure	2020-2021 Adopted Budget	2021-2022 ** Proposed Budget	Percent Change
2330-161-03-5800-303	AD EDU CLER SAL SUPLM				600.00	2,500.00	2,500.00	-
Adult Education Registra	nd the hiring of per diem substitutes through- tion. The allocation is based on historical exp ricks and East Williston for the clerical service	penditures for the past seven years. It						
2330-161-03-5800-304	AD EDU SUPV CLASS				4,763.20	8,500.00	8,585.00	1.00
Salaries for supervisors of perform other administra	who oversee Adult Education classes and pro tive tasks	grams that occur outside of regular bus	iness hours , and					
2330-165-03-5900-301	NURSE SAL SUMM PROG				6,364.20	-	6,365.00	-
2330-167-03-5900-301	PARA SAL SUMM PROG				2,835.00	-	2,835.00	-
2330-430-03-2900-999	CONTRACTED SVCS				969.07	-	-	-
2330-430-03-5800-304	ADULT ED CONTR				20,497.50	72,000.00	72,720.00	1.00
Expenses for Adult Educ these expenses entirely.	ation trips and other activities, including buse	s, entrance fees, meals and tour guides	. Student fees cover					
2330-430-03-6000-801	CONTR HS DRIVERS ED				23,952.50	48,240.00	51,840.00	7.46
agreement for behind-the	ode for Driver Education which is now the res e-wheel component of NYS-approved Driver E g; student fees cover this expense entirely.							
Contra	ct HS Driver's Ed - Bell Auto	1.00	51,840.00 EA	51,840.00				
2330-436-03-5800-304	ADULT ED PRINTING				12,418.00	16,000.00	16,000.00	_

Semi-annual printing of Adult Education catalog; distributed to households throughout Roslyn as well as our partner districts, Herricks & East Williston, which reimburse Roslyn for the cost of printing and mailing in their districts.

Budget Development Detail Report

Fiscal Year: 2022

Budget Account	Description	Quantity	Unit Cost M	Unit Measure	Request/ Item Amount	2019-2020 Actual Expenditure	2020-2021 Adopted Budget	2021-2022 ** Proposed Budget	Percent Change
2330-440-03-2900-999	TRAVEL AND CONF EXP					995.00	-	-	-
2330-440-03-5800-304	ADULT EDTRAV & CONF EXP					-	300.00	300.00	-
2330-448-03-5900-301	Summ Prog FIELD TRIP EXP					-	-	2,700.00	-
2330-448-03-5900-999	FIELD TRIP EXPENSES					710.00	-	-	-
2330-450-03-4600-301	PARENT CHILD SUPPLIES					1,113.37	2,000.00	2,000.00	-
Progra	m Registration	1.00	200.00	EA	200.00				
Leveled	d Readers	1.00	500.00	EA	500.00				
Supplie	es	1.00	590.00	EA	590.00				
Yearly (Conference for Director	1.00	200.00	EA	200.00				
Fingerp	printing	5.00	102.00	EA	510.00				
2330-450-03-5800-304	ADULT ED SUPPLIES					537.33	1,000.00	1,000.00	-
2330-450-03-5900-301	MATLS & SUPP SUMM PROG					-	-	3,300.00	-
2330-450-03-5900-999	CARRY OVER ENCUMBRANCE					203.73	-	-	-
2330-450-03-6000-801	DRIVER ED SUPPLIES					-	250.00	250.00	-

Budget Development Detail Report

Fiscal Year: 2022

Budget Account	Description	Quantity	Unit Cost	Unit Measure	Request/ Item Amount	2019-2020 Actual Expenditure	2020-2021 Adopted Budget	2021-2022 ** Proposed Budget	Percent Change
Driver'	s Ed Supplies	1.00	250.00	EA	250.00				
2330-480-03-6000-801	DRIVER ED TEXTBK					-	350.00	350.00	-
This is the new budget of	ode for Driver Education which is now the responsibi	lity of the HS instead of Adult Edu	ucation						
Driver'	s Ed Textbooks	1.00	350.00	EA	350.00				
2330-490-08-5500-308	BOCES SUMMER SCH					71,663.78	65,000.00	65,000.00	-
The increase is due to the	e number of students attending summer school. Fut	ure costs cannot be determined	until next year.						
BOCE	S Summer School	1.00	65,000.00	EA	65,000.00				
	2330 Teaching-Special Schools Function SubTo	otal				412,757.75	367,566.00	515,341.00	40.20%
2610 School Library & AV	Function								
2610-152-04-9000-303	LIB CONTR SAL EH					134,273.00	138,116.00	139,972.00	1.34
2610-152-06-9000-303	LIB CONTR SAL HTS					138,494.00	142,629.00	144,528.00	1.33
2610-152-07-9000-303	LIB CONTR SAL HH					115,661.00	122,978.00	126,708.00	3.03
2610-152-08-9000-303	LIB CONTR SAL HS					82,955.00	87,134.00	91,396.00	4.89
2610-152-09-9000-303	LIB CONTR SAL MS					77,710.00	81,776.00	80,000.00	-2.17
2610-153-03-9000-303	LIB SUPLM					1,393.00	500.00	500.00	-

Budget Development Detail Report

Fiscal Year: 2022

Budget Account	Description	Quantity	Unit Cost	Unit Measure	Request/ Item Amount	2019-2020 Actual Expenditure	2020-2021 Adopted Budget	2021-2022 ** Proposed Budget	Percent Change
2610-158-08-9000-303	TCHR ASST SAL					27,073.00	28,034.00	28,810.00	2.77
2610-166-09-9000-303	PARAS SAL MS					40,139.00	40,340.00	40,541.00	0.50
2610-200-08-9000-801	LIB & AV EQUIP HS					-	1,500.00	-	-100.00
2610-230-09-9000-901	Library FURN MS					-	3,014.00	-	-100.00
2610-430-04-9000-401	LIB CONTR EH					528.00	550.00	600.00	9.09
Book Bi	nding, Typewriters Contract, Movie License	1.00 1.00	550.00 50.00	EA EA	550.00 50.00				
		1.00	30.00	LA	30.00				
2610-430-08-9000-801	LIB CONTR HS					836.00	836.00	2,500.00	199.04
ELSEV	ER Complete Freedom Collection for 2022	1.00	920.00	EA	920.00				
JSTOR	ITHAKA Database	1.00	1,580.00	EA	1,580.00				
2610-433-08-9000-801	LIB MEMB HS					1,810.00	1,830.00	300.00	-83.61
America	an Library Association	1.00	350.00	EA	350.00				
		1.00	-50.00	EA	-50.00				
2610-433-09-9000-901	LIB MEMB MS					-	195.00	210.00	7.69
Membe	rship to ALA	1.00	210.00	EA	210.00				

Budget Development Detail Report

Fiscal Year: 2022

Budget Account	Description	Quantity	Unit Cost	Unit Measure	Request/ Item Amount	2019-2020 Actual Expenditure	2020-2021 Adopted Budget	2021-2022 ** Proposed Budget	Percent Change
2610-443-04-9000-3	LIB PROF & TECH SVCES EH					174.00	5,000.00	5,000.00	-
	Professional Services	1.00	5,000.00	EA	5,000.00				
2610-443-06-9000-3	LIB PROF & TECH SVCES HTS					-	5,000.00	5,000.00	-
	Professional Services	1.00	5,000.00	EA	5,000.00				
2610-443-07-9000-3	LIB PROF & TECH SVCES HH					1,515.00	5,000.00	5,000.00	-
	Professional Services	1.00	5,000.00	EA	5,000.00				
2610-443-08-9000-3	LIB PROF & TECH SVCES HS					6,316.38	7,000.00	7,000.00	-
	Professional Services	1.00	7,000.00	EA	7,000.00				
2610-443-09-9000-3	LIB PROF & TECH SVCES MS					3,473.65	7,900.00	7,900.00	-
	Professional Services	1.00	7,000.00	EA	7,000.00				
	Typing Club	1.00	900.00	EA	900.00				
2610-450-04-9000-4	101 LIB MAT/SUPPLIES EH					1,028.40	1,500.00	1,500.00	-
	Supplies for the library program: makerspace materials, labels, bookmarks, posters, teaching materials, book repair items	1.00	1,500.00	EA	1,500.00				
2610-450-06-9000-6	CO1 LIB MAT/SUPPLIES HTS					1,414.98	300.00	300.00	-
	Library office supplies	1.00	300.00	EA	300.00				

Budget Development Detail Report

Fiscal Year: 2022

Budget Account	Description	Quantity	Unit Cost	Unit Measure	Request/ Item Amount	2019-2020 Actual Expenditure	2020-2021 Adopted Budget	2021-2022 ** Proposed Budget	Percent Change
2610-450-07-9000-70	01 LIB MAT/SUPPLIES HH					569.33	635.00	635.00	-
(General Supplies	1.00	385.00	EA	385.00				
ı	Periodicals	1.00	250.00	EA	250.00				
2610-450-08-9000-80	01 LIB MAT/SUPPLIES HS					1,250.00	1,400.00	1,400.00	-
\$	Subscriptions - Magazines	1.00	600.00	EA	600.00				
(Office Supplies	1.00	800.00	EA	800.00				
2610-450-09-9000-90	01 LIB MAT/SUPPLIES MS					4,377.76	8,490.00	4,000.00	-52.89
E	Bid book supplies (book cards, posters, stationery supplies)	1.00	2,500.00	EA	2,500.00				
I	Interdisciplinary Projects and Lessons	1.00	1,500.00	EA	1,500.00				
2610-459-04-9000-40	01 LIB BOOKS EH					4,056.70	6,551.00	6,601.00	0.76
i	Books to support classroom and individual reading	1.00	5,550.00	EA	5,550.00				
E	Books to support diversity initiative	1.00	1,050.19	EA	1,050.19				
2610-459-06-9000-60	01 LIB BOOKS HTS					2,923.65	3,900.00	3,900.00	-
I	Library books	390.00	10.00	EA	3,900.00				
2610-459-07-9000-70	01 LIB BOOKS HH					4,327.00	5,200.00	5,200.00	-
I	Library Books	520.00	10.00	EA	5,200.00				
2610-459-08-9000-80	01 LIB BOOKS HS					8,200.67	11,105.00	10,105.00	-9.01

Budget Development Detail Report

Fiscal Year: 2022

Budget Account	Description	Quantity	Unit Cost 1	Unit Measure	Request/ Item Amount	2019-2020 Actual Expenditure	2020-2021 Adopted Budget	2021-2022 ** Proposed Budget	Percent Change
	New Library Books - Follett - Fiction/Nonfiction	1.00	5,935.00	EA	5,935.00	•	, i		<u> </u>
	New Library Books - Special Collections	1.00	760.00	EA	760.00				
	Follett eBooks & Lightbox Interactive eBookseBooks for our FolletShelf, Non-fiction areas that we are currently in need of: Sciences, Health Sciences, Social Sciences.	1.00	800.00	EA	800.00				
	Books & eBooks other vendors	1.00	1,700.00	EA	1,700.00				
	Summer Books - Barnes & Noble	1.00	910.00	EA	910.00				
2610-459-09-900	0-901 LIB BOOKS MS					6,004.01	8,000.00	7,500.00	-6.25
	Library Books	1.00	7,500.00	EA	7,500.00				
2610-460-04-9000	0-311 LIB COMP SOF EH					5,001.60	7,565.00	7,565.00	-
	Software Subscriptions - Raz-Kids,Learning A-Z and ELL	1.00	6,000.00	EA	6,000.00				
	Learning Without Tears	1.00	250.00	EA	250.00				
	Text Help Read and Write	1.00	1,315.00	EA	1,315.00				
2610-460-07-9000	0-311 LIB COMP SOF HH					5,376.60	7,315.00	7,315.00	-
	Software Subscriptions (Raz-Kids, Learning A-Z)	1.00	6,000.00	EA	6,000.00				
	Text Help Read and Write	1.00	1,315.00	EA	1,315.00				
2610-460-08-9000	0-311 LIB SOFTWARE HS					12,709.70	14,115.00	23,115.00	63.76
	Software Subscriptions	1.00	6,500.00	EA	6,500.00				
	Turn-it-In	1.00	3,300.00	EA	3,300.00				
	ExamGen Online site license	1.00	1,500.00	EA	1,500.00				
	SnapStream Media Services	1.00	1,500.00	EA	1,500.00				
	Text Help Read and Write	1.00	1,315.00	EA	1,315.00				

Budget Development Detail Report

Fiscal Year: 2022

Budget Account	Description	Quantity	Unit Cost	Unit Measure	Request/ Item Amount	2019-2020 Actual Expenditure	2020-2021 Adopted Budget	2021-2022 ** Proposed Budget	Percent Change
	NoRedInk	1.00	9,000.00	EA	9,000.00				
2610-460-09-9000	-311 LIB SOFTWARE MS					14,278.04	22,565.00	30,565.00	35.45
	Software Subscriptions	1.00	5,500.00	EA	5,500.00				
	Turn-It-In	1.00	6,700.00	EA	6,700.00				
	zSpace software renewals	4.00	1,250.00	EA	5,000.00				
	Sign Enhancers - Online Video Streaming 50 users	1.00	1,250.00	EA	1,250.00				
	ExamGen Online site license	1.00	800.00	EA	800.00				
	SnapStream Media Services	1.00	2,000.00	EA	2,000.00				
	Text Help Read and Write	1.00	1,315.00	EA	1,315.00				
	NoRedInk	1.00	8,000.00	EA	8,000.00				
2610-490-04-9000	-401 LIB BOCES EH					-	3,000.00	4,000.00	33.33
	Subscriptions for electronic databases from BOCES such as Grolier, CultureGrams, Pebble Go, Soundzabound	1.00	4,000.00	EA	4,000.00				
	2610 School Library & AV Function SubTotal					703,869.47	780,973.00	799,666.00	2.39%
2630 Computer As	ssisted Instruction Function								
2630-152-03-9000	-303 Prog Spec Tech & Curr					85,000.00	86,700.00	88,434.00	2.00
2000 450 00 2000	70UD 1007 0 U					04.700.55			
2630-158-03-9000	-303 TCHR ASST SAL					31,793.97	-	-	-
2630-158-08-9000	-303 TCHR ASST SAL HS					-	-	27,979.00	-

Budget Development Detail Report

Fiscal Year: 2022

Budget Account		Description	Quantity	Unit Cost	Unit Measure	Request/ Item Amount	2019-2020 Actual Expenditure	2020-2021 Adopted Budget	2021-2022 ** Proposed Budget	Percent Change
2630-200-03-8900-	-303	COVID Inst Equip					-	170,488.00	-	-100.00
2630-220-03-1100-3	-311	COMPUTER HARDWARE					219,758.36	208,200.00	195,000.00	-6.34
Including: Student and Tead	cher IPads	and Chromebooks								
Dell Computers f	for High Sc	nool Classrooms								
	equested ir	nards for Middle School and High School Classrooms I this code include instructional technology and 21-centry leads.	arning spaces including	but not limited	to					
	Interactive	e TVs and Boards	25.00	3,500.00	EA	87,500.00				
	Dell comp	outers and laptops	75.00	1,100.00	EA	82,500.00				
	Computer	furniture	1.00	25,000.00	EA	25,000.00				
2630-430-03-1100-3	-311	COMP CONTR					128,034.20	115,000.00	115,000.00	-
	astructure si	and audio installations. upport for VMware ,Veeam and Microsoft products. irs								
	-	upport Services - Apple Care, Dell support, cable ofessional development,iPad repairs and installation	1.00	115,000.00	EA	115,000.00				
2630-430-03-1100-9	-999	CARRY OVER ENCUMBRANCE					15,074.96	-	-	-
2630-450-03-1100-3	-311	COMP SUPPLIES DW					747,528.10	226,000.00	226,000.00	-
	Computer etc.)	Supplies (class room printer toner, cables, cases,	1.00	52,500.00	EA	52,500.00				
	Computer	wiring materials	1.00	6,000.00	EA	6,000.00				
	Chromebo replacemo	ooks - 300 for K students, and 200 for district wide ents	500.00	300.00	EA	150,000.00				

Budget Development Detail Report

Fiscal Year: 2022

Budget Account		Description	Quantity	Unit Cost	Unit Measure	Request/ Item Amount	2019-2020 Actual Expenditure	2020-2021 Adopted Budget	2021-2022 ** Proposed Budget	Percent Change
	iPads - re	eplacements and special needs	50.00	350.00	EA	17,500.00			-	
2630-460-04-9000-	-311	STATE AID COMP SOFT EH					1,499.00	2,200.00	-	-100.00
2630-460-06-9000-	-311	STATE AID COMP SOFT HTS					-	2,200.00	-	-100.00
2630-460-07-9000-	-311	STATE AID COMP SOFT HH					-	2,200.00	-	-100.00
2630-460-08-9000-	-311	STATE AID COMP SOFT HS					14,053.50	14,807.00	6,756.00	-54.37
	SPSS St	atistics Software Annual Software Maintenance	1.00	6,756.00	EA	6,756.00				
2630-460-09-9000-	-311	STATE AID COMP SOFT MS					5,561.00	7,250.00	5,500.00	-24.14
	SANS La	anguage Lab Annual Software Maintenance	1.00	5,500.00	EA	5,500.00				
2630-490-03-9000-	-311	BOCES COMP SVCES DW					744,307.54	859,817.00	884,833.00	2.91
	Network	Support - Tier 2 & 3 (B-602.287)	1.00	274,934.00	EA	274,934.00				
		BoTIE 200 Meg Pipe and LightPath 300 Meg Pipe ernet (B-602.298)	1.00	59,000.00	EA	59,000.00				
		CES Data Warehousing = \$8.40 per student	1.00	32,500.00	EA	32,500.00				
	BOCES	Test Scoring = \$3.98 per student (B-602.094 BEDS rehouse) (602.071 State reporting BEDS)	1.00	14,300.00	EA	14,300.00				
		CH (B-514.010)	1.00	6,500.00	EA	6,500.00				
	Nassau E	BOCES Data Warehouse AP Reports (B-602.094)	1.00	50.00	EA	50.00				
		BOCES Test reporting 3-8 ELA/Math, NYS Regents, 4 & 8, NYSAA, NYSESLAT, FAST (B-602.570)	1.00	12,277.00	EA	12,277.00				

Budget Development Detail Report

Fiscal Year: 2022

Budget Account	Description	Quantity	Unit Cost	Unit Measure	Request/ Item Amount	2019-2020 Actual Expenditure	2020-2021 Adopted Budget	2021-2022 ** Proposed Budget	Percent Change
	Nassau BOCES ERATE (B-532-030)	1.00	7,540.00	EA	7,540.00				
	WAN Lease (B-602.298) - 10GE Fiber connection between buildings (NOC to - EH,HH, HTS, MS & Transportation) - Year 2 of 5 Payment five will be for 7 months at a cost of \$27,965	1.00	47,940.00	EA	47,940.00				
	BOCES - TI Calculators for MS and HS	1.00	45,281.00	EA	45,281.00				
	BOCES - PowerSchool Premier annual software maintenance and support (New gradebook pro training at all buildings).	1.00	65,000.00	EA	65,000.00				
	Microsoft Consortium Licensing - Windows , Servers, Office licenses	1.00	29,000.00	EA	29,000.00				
	Library software and support	1.00	25,000.00	EA	25,000.00				
	Odysseyware online distance learning	25.00	550.00	EA	13,750.00				
	SchoolWires Website Hosting	1.00	14,500.00	EA	14,500.00				
	Discovery Education	1.00	16,000.00	EA	16,000.00				
	PowerSchool parent portal online registration	1.00	9,000.00	EA	9,000.00				
	Communication Center Program - repair services	1.00	15,000.00	EA	15,000.00				
	Castle Learning	1.00	9,390.00	EA	9,390.00				
	Nearpod - Online learning service with Flocabulary	1.00	5,700.00	EA	5,700.00				
	Adobe Cloud	1.00	15,550.00	EA	15,550.00				
	Model Schools Professional Development - 24 days	1.00	35,000.00	EA	35,000.00				
	Installation services and support from PCU (CoSer 532 And CoSer 602)	1.00	18,000.00	EA	18,000.00				
	VC and Distance Learning - Videoconferencing CoSer 409.520	1.00	17,000.00	EA	17,000.00				
	Classlink 500-5000 users	1.00	11,995.00	EA	11,995.00				
	Network Support - Tier 1	1.00	67,626.00	EA	67,626.00				
	NoRedInk for MS and HS	1.00	17,000.00	EA	17,000.00				
	2630 Computer Assisted Instruction Function SubTotal					1,992,610.63	1,694,862.00	1,549,502.00	-8.58%

Budget Development Detail Report

Fiscal Year: 2022

Fund: A GENERAL FUND

Budget Account	Description	Quantity	Unit Unit Cost Measure	Request/ Item Amount	2019-2020 Actual Expenditure	2020-2021 Adopted Budget	2021-2022 ** Proposed Budget	Percent Change
2810-121-03-9000-308	Elementary Home Instructo				4,829.58	5,000.00	5,000.00	-
2810-131-03-9000-308	Secondary Home Instructor				55,054.88	65,000.00	65,000.00	-
2810-150-03-9000-303	GUID ADMIN SAL				166,883.00	170,171.00	160,000.00	-5.98
2810-152-08-9000-303	GUIDANCE HS SAL				928,533.00	965,651.00	986,455.00	2.15
2810-152-09-9000-303	GUIDANCE MS SAL				338,337.00	342,616.00	353,606.00	3.21
2810-153-03-9000-303 Allowance for overtime at the past seven years.	GUID CERT SAL ADD'L nd special assignments throughout the school year.	The allocation is based on histo	rical expenditures for		1,393.00	500.00	500.00	-
2810-157-08-9000-308	GUID PROG CHAP & SUP				4,799.00	8,000.00	8,000.00	-
2810-160-08-9000-303	GUID NON-INST HS				200,386.05	204,961.00	212,332.00	3.60
2810-160-09-9000-303	GUID NON- INST MS				76,067.00	77,437.00	79,467.00	2.62
2810-161-03-9000-303	GUID NON CERT SUPLM				-	500.00	500.00	-

Allowance for overtime and special assignments and the hiring of per diem substitutes throughout the school year. The allocation is based on historical expenditures for the past seven years.

Budget Development Detail Report

Fiscal Year: 2022

Budget Account	Description	Quantity	Unit Cost N	Unit Measure	Request/ Item Amount	2019-2020 Actual Expenditure	2020-2021 Adopted Budget	2021-2022 ** Proposed Budget	Percent Change
2810-161-03-9000-30	8 GUID NON CERT SUPLM					-	5,000.00	5,000.00	-
2810-230-08-9000-30	8 GUID FURN HS					-	1,500.00	-	-100.00
2810-430-08-9000-308 Speakers for Variou	8 GUID CONTR HS us Programs: Drugs, Aids, Drinking Honorariums					895.00	3,845.00	3,845.00	-
	Peer Drug Education Training	1.00	2,000.00	EA	2,000.00				
н	HOBY Fee	1.00	395.00	EA	395.00				
А	Athletic Night Fee	0.00	300.00	EA	0.00				
F	Financial Aid Consultant	0.00	300.00	EA	0.00				
C	College Night Speakers	1.00	1,000.00	EA	1,000.00				
N	National Merit Celebration	0.00	100.00	EA	0.00				
S	Speakers for Various Programs	1.00	450.00	EA	450.00				
2810-433-08-9000-30	8 GUID MEMB DUES HS					619.00	1,173.00	1,173.00	-
N	Nassau Counselors' Assocation dues	8.00	30.00	EA	240.00				
	National Assoc of College Adm Cnsl (NACAC) - includes nstitutional membership along with 3 individual memberships	1.00	370.00	EA	370.00				
C	College Board Membership	1.00	350.00	EA	350.00				
Α	American School Cnsl. Association	1.00	125.00	EA	125.00				
N	NYSACAC	1.00	35.00	EA	35.00				
А	ASCD	1.00	53.00	EA	53.00				
2810-433-09-9000-30	8 GUID MEMB DUES MS					90.00	90.00	90.00	-
N	National Counselors' Association dues	3.00	30.00	EA	90.00				

Budget Development Detail Report

Fiscal Year: 2022

Budget Account	Desc	ription	Quantity	Unit Cost	Unit Measure	Request/ Item Amount	2019-2020 Actual Expenditure	2020-2021 Adopted Budget	2021-2022 ** Proposed Budget	Percent Change
			0.00	0.00	EA	0.00	,			
2810-440-08-9000-3	308 GUII) TRAV CONF WKSHP					6,265.09	10,500.00	10,500.00	-
The NACAC Conf development relat		Association for College Admission Counseling) values on topics.	will address issues and prov	ride professiona	al					
The ASCA Confer emotional counse		School Counselor Association) will provide profe	ssional development related	l to social and						
	NACAC Confere	nce in Minneapolis, MN - 1 counselor	2.00	1,700.00	EA	3,400.00				
	College Visits by	Counselors	8.00	600.00	EA	4,800.00				
	Miscellaneous D	ay Conferences	1.00	500.00	EA	500.00				
	LICAC		2.00	75.00	EA	150.00				
	NYSACAC Conf	erence - 3 counselors	3.00	550.00	EA	1,650.00				
2810-440-08-9000-9	999 CAR	RY OVER ENCUMBRANCE					926.77	-	-	-
2810-450-08-4700-3	308 GUII) TESTING MATERIAL HS					329.28	-	-	-
2810-450-08-9000-3	308 GUII	D MAT/SUPPLIES HS					1,479.50	2,000.00	2,000.00	_
Miscellanous offic	e supplies:									
Fax supplies Xerox fax service	contract									
	Miscellaneous su	upplies & fax supplies	1.00	2,000.00	EA	2,000.00				
	Wintergreen Col	ege CD Rom	0.00	220.00	EA	0.00				
2810-450-09-9000-3	308 GUII) MAT/SUPPLIES MS					-	357.00	357.00	-
	The Career Gam	e - 300 @ \$1 + S & H	1.00	357.00	EA	357.00				

Budget Development Detail Report

Fiscal Year: 2022

Budget Account	Description	Quantity	Unit Cost	Unit Measure	Request/ Item Amount	2019-2020 Actual Expenditure	2020-2021 Adopted Budget	2021-2022 ** Proposed Budget	Percent Change
2810-459-08-9000-308	GUID LIBRARY BKS & MATS					-	900.00	900.00	-
Misc Books & College Gu	uides:								
Fiske Wintergreen College Board Princeton Publications									
Miscell	laneous books & college guides	1.00	900.00	EA	900.00				
2810-474-08-9000-308	Contract Home Instruction					43,735.46	40,000.00	45,000.00	12.50
For Creative Tutoring inve	oices								
For all learnin	contracted tutoring invoices - including distance	1.00	40,000.00	EA	40,000.00				
		1.00	5,000.00	EA	5,000.00				
2810-490-08-9000-308	GUID BOCES COMP S					12,378.52	10,623.00	12,600.00	18.61
Navian	nce for high school - used just to transition the seniors	0.00	4,475.00	EA	0.00				
Maia L	earning software for middle and high school	1.00	10,623.00	EA	10,623.00				
		1.00	1,977.00	EA	1,977.00				
	2810 Guidance Services Function SubTotal					1,843,001.13	1,915,824.00	1,952,325.00	1.91%
2815 Health Services Fund	ction								
2815-164-04-9000-303	HLTH SVCES NON-INS EH					74,178.70	76,121.00	56,475.00	-25.81
2815-164-06-9000-303	HLTH SVCES NON-INS HGTS					77,991.70	79,608.00	83,099.00	4.39
2815-164-07-9000-303	HLTH SVCES NON-INS HH					66,049.70	73,028.00	76,204.00	4.35

Budget Development Detail Report

Fiscal Year: 2022

Budget Account	Description	Quantity	Unit Cost	Unit Measure	Request/ Item Amount	2019-2020 Actual Expenditure	2020-2021 Adopted Budget	2021-2022 ** Proposed Budget	Percent Change
2815-164-08-9000-303	HLTH SVCES NON-INS HS					51,394.70	55,105.00	57,178.00	3.76
2815-164-09-9000-303	HLTH SVCES NON-INS MS					56,017.70	59,779.00	61,895.00	3.54
2815-165-03-9000-303	HLTH SVCES SUPLM					26,206.59	40,000.00	35,000.00	-12.50
2815-200-06-9000-307	HLTH EQUIP HTS					588.00	-	-	-
2815-200-07-9000-307	HLTH EQUIP HH					588.00	-	3,600.00	-
Titmus	V3 General Model Vision Screener	1.00	3,600.00	EA	3,600.00				
2815-200-08-9000-307	HLTH EQUIP HS					588.00	-	3,600.00	-
Titmus	400 Vision Machine	1.00	3,600.00	EA	3,600.00				
2815-200-09-9000-307	HLTH EQUIP MS					588.00	-	-	-
2815-230-08-9000-307	HLTH SVCES FURN HS					-	-	1,150.00	-
Desk C	Chair Nurses Office	2.00	200.00	EA	400.00				
Chairs	for Waiting Room	3.00	150.00	EA	450.00				
Desk		1.00	300.00	EA	300.00				
2815-430-03-9000-307	HLTH SVCES OTHER					34,062.52	120,000.00	472,000.00	293.33

Budget Development Detail Report

Fiscal Year: 2022

Budget Account	Description	Quantity	Unit Cost	Unit Measure	Request/ Item Amount	2019-2020 Actual Expenditure	2020-2021 Adopted Budget	2021-2022 ** Proposed Budget	Percent Change
Horizon Healthca 2% Cost Increas	are for sub nurse coverage	j							
Nursing services	s for Roslyn students who are in non-public private settings.								
	Nursing services for Roslyn students who are in non-public private settings	2.00	60,000.00	EA	120,000.00				
	Sub Nursing Services (Horizon)	1.00	200,000.00	EA	200,000.00				
	Health and Welfare for current and previous years	1.00	152,000.00	EA	152,000.00				
2815-450-03-9000-	307 HLTH SVCES SUPP DW					48,099.98	17,108.00	19,215.00	12.32
Unfunded State I	Mandated Supplies								
	Epipens	1.00	15,000.00	EA	15,000.00				
	Sanitary Supplies - Napkins	10.00	55.00	EA	550.00				
	Sanitary Supplies - Tampons	15.00	93.33	EA	1,399.95				
	4% Cost Increase	1.00	764.32	EA	764.32				
		1.00	0.05	EA	0.05				
	Anti Bacterial Wipes - Heights	1.00	1,000.00	EA	1,000.00				
	Condoms	1.00	500.00	EA	500.00				
2815-450-04-9000-	401 HLTH SVCES SUPP EH					824.67	2,120.00	2,120.00	-
	Supplies and materials for School Nurse 555 students at per child	1,000.00	2.12	EA	2,120.00				
2815-450-06-9000-	601 HLTH SVCES SUPP HTS					4,000.00	6,000.00	6,000.00	-
Increase of \$2,00	00 for wipes due to increased wiping of hands in allergy classes.								
	Medical supplies & office supplies	1.00	1,000.00	EA	1,000.00				
	Nice-n-clean wipes for allergy students	1.00	5,000.00	EA	5,000.00				
2815-450-07-9000-	-701 HLTH SVCES SUPP HH					762.49	981.00	981.00	-

Budget Development Detail Report

Fiscal Year: 2022

Budget Account	Description	Quantity	Unit Cost	Unit Measure	Request/ Item Amount	2019-2020 Actual Expenditure	2020-2021 Adopted Budget	2021-2022 ** Proposed Budget	Percent Change
	rses office 520 students x \$1.50 = \$780.00 rials	Quantity	Om Good	Wedsure	iciii / tiilouit	Experiorure	Budget	buuget	Change
	Health Services Supplies	520.00	1.50	EA	780.00				
	Ed Data Supplies	1.00	200.00	EA	200.00				
		1.00	0.50	EA	0.50				
		1.00	0.50	EA	0.50				
2815-450-08-9000	0-801 HLTH SVCES SUPPLIES HS					2,690.95	3,994.00	3,994.00	-
ED-DATA Supp	lies								
	ED-DATA Supplies	1.00	2,400.00	EA	2,400.00				
	Various Nurse Supplies - Cough Drops, Organic Kidz Ba Baby Wipes, Insta-Heat Hot Packs, Thermal Blankets, AUtomatic BP Monitor	ars, 1.00	523.12	EA	523.12				
	(3) Wheelchairs - Student Needs	3.00	345.00	EA	1,035.00				
	Shipping	1.00	35.00	EA	35.00				
		1.00	0.88	EA	0.88				
2815-450-09-9000	0-901 HLTH SVCES SUPP MS					1,849.19	1,500.00	1,500.00	-
	Bid book supplies (band aids, first aid items and all othe related supplies)	r 1.00	1,500.00	EA	1,500.00				
	2815 Health Services Function SubTotal					446,480.89	535,344.00	884,011.00	65.13%
2820 Psychologic	al Services Function								
2820-152-03-9000-303 PSYCH SVCES DIST						87,973.40	137,784.00	78,537.00	-43.00
2820-152-04-9000	0-303 PSYCH SVCES EH					121,092.00	125,195.00	132,586.00	5.90

Budget Development Detail Report

Fiscal Year: 2022

Budget Account	Description	Quantity	Unit Unit Cost Measure	Request/ Item Amount	2019-2020 Actual Expenditure	2020-2021 Adopted Budget	2021-2022 ** Proposed Budget	Percent Change	
2820-152-06-9000-303	PSYCH SVCES HTS				104,094.00	108,454.00	112,887.00	4.09	٦
2820-152-07-9000-303	PSYCH SVCES HH				79,646.00	83,785.00	88,005.00	5.04	\neg
2820-152-08-6600-303	PSYCH SVCES Hilltop				79,629.60	83,100.00	86,665.00	4.29	\neg
2820-152-08-9000-303	PSYCH SVCES HS				133,285.88	147,656.00	200,855.00	36.03	
2820-152-09-9000-303	PSYCH SVCES MS				207,491.00	210,441.00	228,484.00	8.57	\neg
2820-153-03-9000-303 Psychologists are from t	PSYCH SVCES CERT SUPLM time to time asked to perform additional duties including attend	ance at CSE meetings	during the year.		20,560.06	5,000.00	15,000.00	200.00	
	2820 Psychological Services Function SubTotal				833,771.94	901,415.00	943,019.00	4.62%]
2825 Social Work Services	Function								_
2825-152-04-9000-303	Social Worker Salary				96,218.00	100,532.00	107,561.00	6.99	ļ
2825-152-06-9000-303	Social Worker Salary				132,920.00	134,221.00	138,313.00	3.05	\neg
2825-152-07-9000-303	Social Worker Salary				79,646.00	83,785.00	88,005.00	5.04	
2825-152-08-9000-303	SOC WORKERS CERT				142,744.00	144,146.00	90,000.00	-37.56	

Budget Development Detail Report

Fiscal Year: 2022

Fund: A GENERAL FUND

Budget Account	Description	Quantity	Unit Cost	Unit Measure	Request/ Item Amount	2019-2020 Actual Expenditure	2020-2021 Adopted Budget	2021-2022 ** Proposed Budget	Percent Change	ı
2825-152-09-9000-303	SOC WORKERS CERT					121,092.00	125,195.00	132,586.00	5.90	\neg
2825-440-08-9000-308	SOC WKR TRAV CONF WKSHP					-	1,000.00	1,000.00	-	
	Worker Conference - cover registration and misc. fees to conference attendance for all Social Workers	1.00	1,000.00	EA	1,000.00					
2825-450-03-9000-308	SOCIAL WORK SUPPLIES					-	2,500.00	2,500.00	-	
Materia	als/supplies for social workers	5.00	500.00	EA	2,500.00					
	2825 Social Work Services Function SubTotal					572,620.00	591,379.00	559,965.00	-5.31%]
2850 Co-Curricular Activitie	es Function									
2850-156-04-6700-401	CLUB STIPENDS					1,032.50	1,501.00	1,515.00	0.93	
2850-156-07-6700-701	CLUB STIPENDS					1,032.50	1,600.00	1,600.00	-	\neg
2850-156-08-6500-801	MARCH BAND STIPENDS					32,274.00	39,900.00	39,262.00	-1.60	\neg
2850-156-08-6700-801	CLUB STIPENDS					153,547.00	202,655.00	190,691.00	-5.90	\neg
2850-156-09-6700-901	CLUB STIPENDS					40,953.43	53,899.00	54,443.00	1.01	
2850-157-04-6700-401	CHAP/SUPV NON-ATH					-	2,425.00	2,450.00	1.03	\neg

Chaperones for Events such as Game Nights, Circus, Grade 5 Dance, and Concerts

Budget Development Detail Report

Fiscal Year: 2022

Budget Account	Description	Quantity	Unit Unit Cost Measure	Request/ Item Amount	2019-2020 Actual Expenditure	2020-2021 Adopted Budget	2021-2022 ** Proposed Budget	Percent Change	
2850-157-04-6900-401	INTRAMURAL HOURLY s LEGO, Backgammon, Chess and other Intramuyral Activities				9,226.50	18,792.00	18,980.00	1.00	7
Eurich time clubs such as	LEGO, Backgarillion, Chess and other intramityral Activities								
2850-157-06-6700-601	CHAP/SUPV NON-ATH				-	1,170.00	1,170.00	-	
2850-157-06-6900-601	INTRAMURAL HOURLY				4,132.50	8,584.00	8,816.00	2.70	7
2850-157-07-6700-701	CHAP/SUPV NON-ATH				-	2,461.00	2,461.00	-	7
2850-157-07-6900-701	INTRAMURAL HOURLY				11,691.50	18,067.00	18,067.00	-	7
2850-157-08-6500-801	CHAP/SUPV MARCHING BAND				70,909.00	39,000.00	86,050.00	120.64	7
2850-157-08-6700-801	CHAP/SUPV NON-ATH				35,905.25	62,000.00	63,000.00	1.61	7
2850-157-08-6900-309	INTRAMURAL HOURLY				1,243.13	6,785.00	6,900.00	1.69	٦
2850-157-09-6700-901	CHAP/SUPV NON-ATH				9,825.88	25,476.00	25,740.00	1.04	٦
2850-157-09-6900-309	INTRAMURAL HOURLY				6,552.00	14,868.00	15,120.00	1.69	٦
2850-429-08-6500-801	UNIFORMS				3,500.00	4,000.00	4,000.00	-	٦

Budget Development Detail Report

Fiscal Year: 2022

Budget Account		Description	Quantity	Unit Cost	Unit Measure	Request/ Item Amount	2019-2020 Actual Expenditure	2020-2021 Adopted Budget	2021-2022 ** Proposed Budget	Percent Change
	Marching	Band End of year uniform dry cleaning	1.00	4,000.00	EA	4,000.00	·			
2850-430-08-6500)-801	CONTRACTED SVCS- M BAND					4,626.52	5,250.00	5,250.00	-
	Rental of	f Lights for Fall Marching Band Evening Practices	1.00	5,250.00	EA	5,250.00				
2850-430-08-6700)-801	CO-CURR CONTR HS					11,181.19	18,000.00	17,000.00	-5.56
		ual Expenditiures for Extracurricular Activities Prints - Literary Magazine	1.00	4,000.00	EA	4,000.00				
	Yearbook	× ·	1.00	8,200.00	EA	8,200.00				
	Hilltop Be	eacon Printing	6.00	800.00	EA	4,800.00				
2850-430-08-7000)-801	CONTR HS Theatre Arts					9,551.39	17,300.00	16,300.00	-5.78
	Props/Co	ostume Rentals for both shows -Fall/Spring	1.00	7,000.00	EA	7,000.00				
	Rights fo	r both Shows \$2,150.00 each	2.00	2,150.00	EA	4,300.00				
	Lighting I	Professional - \$2000 per show	2.00	2,000.00	EA	4,000.00				
	Lighting I	Rentals Spring Only	1.00	1,000.00	EA	1,000.00				
2850-430-09-7000	9-901	CONTR MS Theatre Arts					17,045.04	15,000.00	15,000.00	-
	Costume	Rental	1.00	8,000.00	EA	8,000.00				
	Set Rent	al	1.00	4,000.00	EA	4,000.00				
	Right to t	the Play	1.00	3,000.00	EA	3,000.00				
2850-433-08-6500)-801	CO-CURR MEMB - MARCH BAND					600.00	600.00	600.00	-
	Marching	g Band - Membership Dues	1.00	600.00	EA	600.00				

Budget Development Detail Report

Fiscal Year: 2022

Budget Account	Description	Quantity	Unit Cost	Unit Measure	Request/ Item Amount	2019-2020 Actual Expenditure	2020-2021 Adopted Budget	2021-2022 ** Proposed Budget	Percent Change
2850-433-08-6700	-801 CO-CURR MEMB					12,515.00	25,549.00	26,163.00	2.40
	NY State Forensics League	1.00	40.00	EA	40.00				
	National Forensics League	1.00	149.00	EA	149.00				
	Continental Math League	1.00	255.00	EA	255.00				
	NY Math League	1.00	90.00	EA	90.00				
	NCIML	1.00	4,500.00	EA	4,500.00				
	All-Stars Math	1.00	1,320.00	EA	1,320.00				
	Mock Trial - Wheatley School	1.00	350.00	EA	350.00				
	National Honor Society Chapter Affiliation	1.00	385.00	EA	385.00				
	Regional Quiz Bowl	1.00	175.00	EA	175.00				
	Science Olympiad - Islip invitational - 2 teams	1.00	200.00	EA	200.00				
	Science Olympiad - Regional Competition	1.00	450.00	EA	450.00				
	Science Olympiad - States Competition	1.00	150.00	EA	150.00				
	Tri-M Music Honor Society - NAFME annual fee	1.00	150.00	EA	150.00				
	Tri-M Honor Society - Membership	1.00	250.00	EA	250.00				
	4N6 Fanatics	1.00	150.00	EA	150.00				
	Mock Trial - County Tournament	1.00	150.00	EA	150.00				
	Code Club (2 ACLS Divisions)	1.00	225.00	EA	225.00				
	NASC - Student Council	1.00	95.00	EA	95.00				
	Quill & Scroll Society - Beacon	1.00	200.00	EA	200.00				
	American Scholastic Press Assoc Beacon	1.00	60.00	EA	60.00				
	National Scholastic Press Assoc Beacon	1.00	189.00	EA	189.00				
	Columbia Scholastic Press Assoc Beacon	1.00	235.00	EA	235.00				
	Science National Honor Society	1.00	60.00	EA	60.00				
	Robotics Ed Competition	1.00	150.00	EA	150.00				
	LILT - Wld Lang	1.00	20.00	EA	20.00				

Budget Development Detail Report

Fiscal Year: 2022

Budget Account	Description	Quantity	Unit Cost	Unit Measure	Request/ Item Amount	2019-2020 Actual Expenditure	2020-2021 Adopted Budget	2021-2022 ** Proposed Budget	Percent Change
	Catholic Forensics	1.00	3,100.00	EA	3,100.00			-	
	LI Forensics Association	1.00	2,700.00	EA	2,700.00				
	Robotics Club	1.00	5,915.00	EA	5,915.00				
	DECA - Business Registration	1.00	3,125.00	EA	3,125.00				
	International Thespian Society - Honor Society	1.00	125.00	EA	125.00				
	PAC Club Registration	1.00	275.00	EA	275.00				
	Model Government Registration	1.00	125.00	EA	125.00				
	MAA AMerican Math Association - Contest	1.00	800.00	EA	800.00				
2850-433-08-7000	0-801 MEMB HSTheatre Arts					91.75	1,500.00	1,500.00	-
	Memberships - International Thespian Honor Society	1.00	1,500.00	EA	1,500.00				
2850-440-08-6500	0-801 M BAND TRAV CONF WKSHP					-	500.00	500.00	-
	Marching Band Conference-Workshop - NYSFBC Meetings	1.00	500.00	EA	500.00				
2850-445-08-6500	0-801 MARCHING BAND REPAIRS					-	1,500.00	1,500.00	-
	Pit Repairs for marching Band	1.00	1,500.00	EA	1,500.00				
2850-448-08-6500	0-801 FIELD TRIP EXP- M BAND					48,572.29	35,000.00	62,000.00	77.14
	Transportation Marching Band - Marching Band Events Additional cost reflects an additional bus due to the increase in the band size Summer Camp Weekend Competitions - 6 events Syracuse Disney Trip	1.00	62,000.00	EA	62,000.00				

Budget Development Detail Report

Fiscal Year: 2022

Budget Account	Description	Quantity	Unit Cost	Unit Measure	Request/ Item Amount	2019-2020 Actual Expenditure	2020-2021 Adopted Budget	2021-2022 ** Proposed Budget	Percent Change
2850-448-08-6700-801	CO-CURR FIELD TRIPS					40,231.30	77,000.00	65,000.00	-15.58
Tran	acurricular Field Trips isportation, hotels, food reimbursement ensics, DECA, PAC/Suss Team	1.00	65,000.00	EA	65,000.00				
2850-448-08-6700-999	FIELD TRIP EXPENSES					32.64	-	-	-
2850-448-09-9000-901	FIELD TRIP EXPENSES - MS					-	4,400.00	4,400.00	-
Field	d trip transportation outside the school day	5.00	500.00	EA	2,500.00				
Musi	ic Festival Buses	4.00	475.00	EA	1,900.00				
2850-450-04-6900-401	SUP & MATERIALS					-	229.00	229.00	-
Math	hematical Olympiads Enrollment	1.00	99.00	EA	99.00				
Math	hematical Olympiad Tournament Registration Fee	1.00	130.00	EA	130.00				
2850-450-07-6900-701	SUP & MATERIALS					1,902.00	2,859.00	2,859.00	-
Math	h Olympiad Registration	1.00	193.60	EA	193.60				
Math	h Olympiad Competition Fee - two teams	2.00	108.90	EA	217.80				
Arts	and craft supplies	1.00	110.00	EA	110.00				
Athle	etics Supplies	1.00	115.50	EA	115.50				
STE	M Supplies	1.00	110.00	EA	110.00				
PAC	CT Supplies	960.00	2.20	EA	2,112.00				
Add	to next whole dollar	1.00	0.10	EA	0.10				

Budget Development Detail Report

Fiscal Year: 2022

Budget Account	Description	Quantity	Unit Cost	Unit Measure	Request/ Item Amount	2019-2020 Actual Expenditure	2020-2021 Adopted Budget	2021-2022 ** Proposed Budget	Percent Change
2850-450-08-6500-8	Marching Band Supplies HS					15,128.49	16,370.00	11,820.00	-27.79
	Marching Band Supplies - Flags, Field Show props	1.00	4,000.00	EA	4,000.00				
	Marchin Band Prop Sets	1.00	4,000.00	EA	4,000.00				
	Shipping	1.00	120.00	EA	120.00				
	Colorguard Uniforms	1.00	3,700.00	EA	3,700.00				
2850-450-08-6700-8	01 CO-CURR SUPPLIES HS					8,469.92	14,500.00	11,000.00	-24.14
	Misc - Newspaper, Student Prints, yearbook, etc.	1.00	9,000.00	EA	9,000.00				
	Robotics Supplies	1.00	2,000.00	EA	2,000.00				
2850-450-08-7000-8	01 SUPP HSTheatre Arts					6,040.35	7,600.00	7,600.00	-
	Stage Craft Materials- wood, painting supplies	1.00	5,000.00	EA	5,000.00				
	Programs	2.00	1,300.00	EA	2,600.00				
2850-450-09-6700-9	01 CO-CURR SUPPLIES MS					2,191.75	1,500.00	1,500.00	-
	Supplies for co-curricular clubs	1.00	1,500.00	EA	1,500.00				
2850-450-09-7000-9	001 SUPP MSTheatre Arts					-	1,000.00	1,000.00	-
	Backstage Supplies	1.00	1,000.00	EA	1,000.00				
	2850 Co-Curricular Activities Function SubTotal					560,004.82	748,840.00	791,486.00	5.69%
2855 Interscholastic	Athletics Function								
2855-150-03-6800-3	103 INTER-SCH ATHLETIC					85,619.00	87,296.00	89,475.00	2.50

Budget Development Detail Report

Fiscal Year: 2022

Budget Account	Description	Quantity	Unit Cost I	Unit Measure	Request/ Item Amount	2019-2020 Actual Expenditure	2020-2021 Adopted Budget	2021-2022 ** Proposed Budget	Percent Change
2855-153-08-6800-309	ATHLETIC SUPERVISION- HS					66,556.50	106,150.00	112,515.00	6.00
2855-153-09-6800-309	ATHLETIC SUPERVISION- MS					37,763.88	33,582.00	33,930.00	1.04
2855-156-08-6800-309	COACH STIPENDS - HS					305,937.34	499,086.00	503,338.00	0.85
2855-156-09-6800-309	COACH STIPENDS - MS					152,419.69	245,176.00	248,833.00	1.49
2855-160-03-6800-303	CLERICAL SAL-ATHLETICS					53,904.27	55,128.00	56,358.00	2.23
	CLERICAL SAL SUPLM nd special assignments such as preparations for the the cout the school year. The allocation is based on historical			er		166.75	500.00	500.00	-
2855-200-08-6800-309	INTER-SCH EQUIP HS					15,358.20	41,675.00	33,000.00	-20.82
KWIK (GOAL PRO PREMIER MATCH GOAL	1.00	10,000.00	PR	10,000.00				
Fencin	g Score Keepter	1.00	1,000.00	EA	1,000.00				
Softbal	Il Scoreboard (solar power, Daktronics)	1.00	20,000.00	EA	20,000.00				
AED		1.00	2,000.00	EA	2,000.00				
2855-200-08-6800-999	EQUIPMENT					13,853.60	-	-	-
2855-200-09-2000-309	PHYS ED EQUIP MS					529.08	-	-	-

Budget Development Detail Report

Fiscal Year: 2022

Budget Account	Description	Quantity	Unit Cost	Unit Measure	Request/ Item Amount	2019-2020 Actual Expenditure	2020-2021 Adopted Budget	2021-2022 ** Proposed Budget	Percent Change
2855-200-09-6800-3	09 INTER-SCH EQUIP MS					2,500.00	-	-	-
2855-230-08-6800-3	09 INTER-SCH FURN HS					7,166.51	3,000.00	-	-100.00
2855-429-08-6800-3	09 INTER-SCH UNIFORMS HS					18,910.73	19,505.00	19,505.00	-
	Baseball	20.00	85.00	EA	1,700.00				
	Game Sock per dozen	25.00	28.00	EA	700.00				
	Team Pullovers	30.00	65.00	EA	1,950.00				
	Tennis Unifroms	45.00	95.00	EA	4,275.00				
	Team practice Shorts	50.00	20.00	EA	1,000.00				
	Team Practice shirts	96.00	5.00	EA	480.00				
	Misc HS Uniforms Hats, Visors, Etc.	1.00	4,400.00	EA	4,400.00				
	Replacement Uniforms	1.00	5,000.00	EA	5,000.00				
2855-429-08-6800-9	99 UNIFORMS					8,765.40	-	-	-
2855-429-09-6800-3	09 INTER-SCH UNIFORMS MS					15,683.29	11,666.00	11,666.00	-
	baseball hat	42.00	11.00	EA	462.00				
	softball visor	24.00	11.00	EA	264.00				
	Replacement Uniforms	24.00	30.00	EA	720.00				
	Royal game socks	15.00	28.00	DZ	420.00				
	Track and Field T-Shirts	100.00	15.00	EA	1,500.00				
	Misc ms uniforms	1.00	5,000.00	EA	5,000.00				

Budget Development Detail Report

Fiscal Year: 2022

Budget Account	Description	Quantity	Unit Cost	Unit Measure	Request/ Item Amount	2019-2020 Actual Expenditure	2020-2021 Adopted Budget	2021-2022 ** Proposed Budget	Percent Change
Che	eerleading Rain Jackets Jackets	30.00	110.00	EA	3,300.00				
2855-429-09-6800-999	UNIFORMS					128.60	-	-	-
2855-430-03-9000-309	Athletic Event Cont Sec					-	8,200.00	8,200.00	-
Cor	ntracted Security Services at AthleticEvents as Necessary	1.00	8,200.00	EA	8,200.00				
2855-430-08-6800-309	INTER-SCH CONTR HS					29,197.81	53,515.00	53,515.00	
All	American Riddell Reconditioning/Laundry/NOCSAE	1.00	8,000.00	EA	8,000.00				
Inde	loor batting cage rental fee	1.00	3,700.00	EA	3,700.00				
Ice	Machine Repair	1.00	400.00	EA	400.00				
Boy	wling practice/match play facility	1.00	6,500.00	EA	6,500.00				
Insi	ide tennis court rental facility	1.00	3,265.00	EA	3,265.00				
Clir	nicians/Speakers	2.00	2,500.00	EA	5,000.00				
Gol	If Course Fees including indoor range	1.00	7,000.00	EA	7,000.00				
Imp	pact Concussion Management Program	1.00	800.00	EA	800.00				
hud	dl computerized video program for District	1.00	3,500.00	EA	3,500.00				
Pro	ofessional Videographer	1.00	12,000.00	EA	12,000.00				
swi	immng rental fee with pt wash	1.00	2,000.00	EA	2,000.00				
wre	estling Weight Certification	1.00	250.00	EA	250.00				
We	eatherbug Program	1.00	1,100.00	EA	1,100.00				
2855-430-08-6800-999	CARRY OVER ENCUMBRANCE					156.65			

Budget Development Detail Report

Fiscal Year: 2022

Budget Account	Description	Quantity	Unit Cost	Unit Measure	Request/ Item Amount	2019-2020 Actual Expenditure	2020-2021 Adopted Budget	2021-2022 ** Proposed Budget	Percent Change
2855-430-09-6800-309	INTER-SCH CONTR MS					6,098.69	14,990.00	14,990.00	-
Rido	dell All Americn-Reconditioning, Laundry & NOCSAE	1.00	10,000.00	EA	10,000.00				
Fitn	ness Equipment Service/Inspection	1.00	2,040.00	EA	2,040.00				
Her	rill Lanes Bowling Rental-Practices/Matches	1.00	2,200.00	EA	2,200.00				
Imp	pact Concussion Management Program	1.00	750.00	EA	750.00				
2855-430-09-6800-999	CARRY OVER ENCUMBRANCE					257.10	-	-	-
2855-440-08-6800-309	INTER-SCH TRAV CONF WKSHP					2,017.32	8,000.00	8,000.00	-
Con	nference/clinic attendance	1.00	5,000.00	EA	5,000.00				
Athl	letic Director's Conference	1.00	3,000.00	EA	3,000.00				
2855-443-08-6800-309	INTER SCH HS PROF SERV					26,418.32	39,272.00	40,059.00	2.00
	fessional Orthopedics & Sports PT provides athletic ning servrces for all student-athletes at the high school	1.00	37,559.00	EA	37,559.00				
	Dept of Orthopaedics provides doctor coverage at all ne football games	10.00	250.00	EA	2,500.00				
2855-443-09-6800-309	INTER SCH MS PROF SERV					27,005.68	38,241.00	39,007.00	2.00
serv	vices porvided by Professional Orthopedics for athletic vice coverage for middles athletic teams for the 2021-2022 lool year.	1.00	37,507.00	EA	37,507.00				
	ctor coverage at all middle school football games by LIJ hopaedics	6.00	250.00	EA	1,500.00				
2855-445-08-6800-309	INTER SCH HS EQPT REP					2,890.00	5,000.00	5,000.00	-

Budget Development Detail Report

Fiscal Year: 2022

Budget Account		Description	Quantity	Unit Cost	Unit Measure	Request/ Item Amount	2019-2020 Actual Expenditure	2020-2021 Adopted Budget	2021-2022 ** Proposed Budget	Percent Change
	RHS Gym	Repairs	1.00	5,000.00	EA	5,000.00				
2855-445-09-6800-	-309	INTER SCH MS EQPT REP					-	1,000.00	1,000.00	-
	RMS Gym	n Repairs	1.00	1,000.00	EA	1,000.00				
2855-448-08-6800-	-309	ATHLETICS ADMISSIONS- HS					11,791.11	15,000.00	15,000.00	-
	teams as	fees for tournament play for all JV & V athletic welll as covering the cost of all league dinners for and players receiving a league award.	1.00	15,000.00	EA	15,000.00				
2855-448-08-6800-	-999	FIELD TRIP EXPENSES					371.00	-	-	-
2855-448-09-6800-	-309	ATHLETICS ADMISSIONS- MS					-	1,000.00	1,000.00	-
	Entrance t	fees for tournaments/clinics for all middle school ams	1.00	1,000.00	EA	1,000.00				
2855-450-08-6800-	-309	INTER-SCH SUPPLIES HS					66,250.24	59,750.00	59,750.00	-
	Football		1.00	4,000.00	EA	4,000.00				
	Boys Cros	es Country	1.00	500.00	EA	500.00				
	Girls Cros	s Country	1.00	500.00	EA	500.00				
	Boys Soco	cer	2.00	1,000.00	EA	2,000.00				
	Girls Soco	per	2.00	1,000.00	EA	2,000.00				
	Girls Tenn	iis	2.00	1,000.00	EA	2,000.00				
	Boys Golf		2.00	500.00	EA	1,000.00				
	Boys Badı	minton	1.00	500.00	EA	500.00				
	Boys Bask	ketball	3.00	1,200.00	EA	3,600.00				

Budget Development Detail Report

Fiscal Year: 2022

		- ···		Unit	Request/	2019-2020 Actual	2020-2021 Adopted	2021-2022 ** Proposed	Percent
Budget Account	Description Cida Paylantall	Quantity	Unit Cost		Item Amount	Expenditure	Budget	Budget	Change
	Girls Basketball	2.00	1,200.00	EA	2,400.00				
	Boys Bowling	1.00	500.00	EA	500.00				
	Girls Bowling	1.00	500.00	EA	500.00				
	Wrestling	2.00	1,000.00	EA	2,000.00				
	Gymnastics	1.00	1,000.00	EA	1,000.00				
	Boys Winter Track	1.00	500.00	EA	500.00				
	Girls Winter Track	1.00	500.00	EA	500.00				
	Baseball	2.00	1,000.00	EA	2,000.00				
	Boys Lacrosse	2.00	1,500.00	EA	3,000.00				
	Girls Lacrosse	2.00	1,500.00	EA	3,000.00				
	Softball	1.00	1,000.00	EA	1,000.00				
	Boys Tennis	2.00	1,000.00	EA	2,000.00				
	Girls Golf	2.00	500.00	EA	1,000.00				
	Girls Badminton	1.00	500.00	EA	500.00				
	Awards	1.00	10,000.00	EA	10,000.00				
	Office Supplies	1.00	3,000.00	EA	3,000.00				
	Boys Track and Field Spring	1.00	1,000.00	EA	1,000.00				
	Girls Track and Field Spring	1.00	1,000.00	EA	1,000.00				
	Cheerleading	1.00	750.00	EA	750.00				
	Fencing	2.00	2,000.00	EA	4,000.00				
	Boys Volleyball	2.00	1,000.00	EA	2,000.00				
	Girls Volleyball	2.00	1,000.00	EA	2,000.00				
2855-450-08-6800	0-999 CARRY OVER ENCUMBRANCE					9,486.54	-	-	-

Budget Development Detail Report

Fiscal Year: 2022

Budget Account	Description	Quantity	Unit Cost N	Unit Measure	Request/ Item Amount	2019-2020 Actual Expenditure	2020-2021 Adopted Budget	2021-2022 ** Proposed Budget	Percent Change
	Baseball	2.00	1,000.00	EA	2,000.00			_ aaget	
	Bowling	2.00	250.00	EA	500.00				
	Basketball Boys	3.00	500.00	EA	1,500.00				
	Lacrosse Boys	1.00	1,000.00	EA	1,000.00				
	Soccer Boys	2.00	500.00	EA	1,000.00				
	Track and Field Boys and Girls	1.00	500.00	EA	500.00				
	Volleyball Boys	2.00	750.00	EA	1,500.00				
	Winter Track Boys and Girls	1.00	750.00	EA	750.00				
	Cross Country	1.00	500.00	EA	500.00				
	Football	1.00	3,000.00	EA	3,000.00				
	Badminton	1.00	500.00	EA	500.00				
	Basketball Girls	3.00	500.00	EA	1,500.00				
	Lacrosse Girls	1.00	1,000.00	EA	1,000.00				
	Soccer Girls	2.00	500.00	EA	1,000.00				
	Volleyball Girls	2.00	500.00	EA	1,000.00				
	Softball	1.00	1,500.00	EA	1,500.00				
	Wrestling	1.00	1,500.00	EA	1,500.00				
	Tennis Boys	2.00	750.00	EA	1,500.00				
	Tennis Girls	2.00	750.00	EA	1,500.00				
	Office	1.00	1,500.00	EA	1,500.00				
	Cheerleading	1.00	1,000.00	EA	1,000.00				
2855-450-09-6800	0-999 CARRY OVER ENCUMBRANCE					4,478.40	-	-	-
2855-490-08-6800	0-309 INTER-SCH OFF FEES HS					88,969.42	93,357.00	97,346.00	4.27
	Baseball / V 10C 2Off	20.00	130.00	EA	2,600.00				

Budget Development Detail Report

Fiscal Year: 2022

Budget Account	Description	Quantity	Unit Cost N	Unit Measure	Request/ Item Amount	2019-2020 Actual Expenditure	2020-2021 Adopted Budget	2021-2022 ** Proposed Budget	Percent Change
	Baseball / JV 10C 2Off	20.00	107.00	EA	2,140.00				
	Boys Basketball / V 10C 2Off	22.00	131.00	EA	2,882.00				
	Boys Basketball / JV 9C 2Off	18.00	107.00	EA	1,926.00				
	Girls Basketball / V 10C 2Off	20.00	131.00	EA	2,620.00				
	Girls Basketball / JV 9C 2Off	18.00	107.00	EA	1,926.00				
	Cross Country Boys & Girls 10C 1Off	16.00	163.00	EA	2,608.00				
	Football / V 4C 4Off	32.00	133.00	EA	4,256.00				
	Football / JV 4C 3Off	32.00	107.00	EA	3,424.00				
	Gymnastics 6C 2Off	12.00	110.00	EA	1,320.00				
	Boys Lax / V 9C 3Off	27.00	132.00	EA	3,564.00				
	Boys Lax / JV 8C 2Off	16.00	107.00	EA	1,712.00				
	Girls Lax / V 9C 2Off	18.00	132.00	EA	2,376.00				
	Girls Lax / JV 8C 2Off	16.00	107.00	EA	1,712.00				
	Boys Soccer / V 10C 3Off	30.00	130.00	EA	3,900.00				
	Boys Soccer / JV 8C 2Off	16.00	103.00	EA	1,648.00				
	Girls Soccer / V 9C 2Off	18.00	130.00	EA	2,340.00				
	Girls Soccer / JV 8C 2Off	16.00	103.00	EA	1,648.00				
	Softball / V 10C 2Off	20.00	130.00	EA	2,600.00				
	Softball / JV 10C 2Off	20.00	107.00	EA	2,140.00				
	Track Boys & Girls / Winter & Spring 32 C 10ff	32.00	148.00	EA	4,736.00				
	Boys Volleyball / V 12C 2Off	24.00	118.00	EA	2,832.00				
	Boys Volleyball / JV 10C 2Off	20.00	96.00	EA	1,920.00				
	Girls Volleyball / V 12C 2Off	24.00	118.00	EA	2,832.00				
	Girls Volleyball / JV 10C 2Off	20.00	96.00	EA	1,920.00				
	Wrestling / V 6C 1Off	6.00	142.00	EA	852.00				
	Wrestling / JV 6C 1Off	6.00	95.00	EA	570.00				
	Section 8 Basic Fee per High School	1.00	1,163.00	EA	1,163.00				

Budget Development Detail Report

Fiscal Year: 2022

Budget Account	Description	Quantity	Unit Cost	Unit Measure	Request/ Item Amount	2019-2020 Actual Expenditure	2020-2021 Adopted Budget	2021-2022 ** Proposed Budget	Percent Change
	Operating Fee per grade	4.00	640.00	EA	2,560.00				
	Athletic Council Dues	1.00	1,000.00	EA	1,000.00				
	Per Varsity Activity Requiring Officials	23.00	213.00	EA	4,899.00				
	Per JV Activity Requiring Officials	13.00	200.00	EA	2,600.00				
	Per Activity Not Requiring Officials	20.00	133.00	EA	2,660.00				
	Sports Association Membership Fees	1.00	975.00	EA	975.00				
	Post-Season Fees for All Teams	1.00	4,500.00	EA	4,500.00				
	Professional Associations	1.00	560.00	EA	560.00				
	Bethpage State Park Bus Passes	12.00	36.00	EA	432.00				
	Physical Education Consortium	1.00	1,459.00	EA	1,459.00				
	Additional Section 8 Directories	30.00	10.00	EA	300.00				
	PE Membership	20.00	110.00	EA	2,200.00				
	.NYSPHSAA Fee 7-12	1.00	2,000.00	EA	2,000.00				
	Fencing	28.00	111.00	EA	3,108.00				
	Winter Cheerleading	15.00	0.00	EA	0.00				
	Boys Basketball / JV2 9C 2off	18.00	107.00	EA	1,926.00				
2855-490-09-6800	-309 INTER-SCH OFF FEES MS					21,296.05	33,273.00	33,970.00	2.09
	Baseball (2 Teams) 12C 2Off	24.00	92.00	EA	2,208.00				
	Basketball Boys (3 Teams) 12C 2Off	36.00	107.00	EA	3,852.00				
	Basketball Girls (3 Teams) 12C 2Off	36.00	107.00	EA	3,852.00				
	Cross Country Boys and Girls 8C 1Off	16.00	101.00	EA	1,616.00				
	Football 5C 3Off	15.00	103.00	EA	1,545.00				
	Boys Lax (2 Teams) 10C 2Off	10.00	96.00	EA	960.00				
	Girls Lax (2 Teams) 10C 2Off	20.00	96.00	EA	1,920.00				
	Boys Soccer (2 Teams) 10C 2Off	20.00	89.00	EA	1,780.00				

Budget Development Detail Report

Fiscal Year: 2022

Budget Account		Description	Quantity	Unit Cost	Unit Measure	Request/ Item Amount	2019-2020 Actual Expenditure	2020-2021 Adopted Budget	2021-2022 ** Proposed Budget	Percent Change
	Girls S	occer 5C 2Off	10.00	89.00	EA	890.00	Exponentario	Baagot	Budget	onango
	Softba	II (2 Teams) 12C 2Off	24.00	92.00	EA	2,208.00				
	Track I	Boys & Girls, Winter & Spring 8C 4Off	32.00	89.00	EA	2,848.00				
	Boys V	/olleyball 6C 2Off (2 Teams)	24.00	87.00	EA	2,088.00				
	Girls V	olleyball (2 Teams) 12C 2Off	24.00	87.00	EA	2,088.00				
	Wrestli	ing 8C 2Off	16.00	102.00	EA	1,632.00				
	Section	n 8 Basic Fee per Middle School -	1.00	756.00	EA	756.00				
	Athletic	c Council Dues	1.00	592.00	EA	592.00				
	Operat	ting Fee per grade (7th and 8th)	2.00	700.00	EA	1,400.00				
	Per Ac	tivity Not Requiring Officials	7.00	135.00	EA	945.00				
	Profes	sional Associations	1.00	400.00	EA	400.00				
	Late F	ees for Track (Meets extending more than 4 hours.	10.00	39.00	EA	390.00				
		2855 Interscholastic Athletics Function SubTotal					1,103,587.22	1,499,112.00	1,511,707.00	0.84%
5510 District Trans	sportatio	n Services Function								
5510-162-03-9000	-303	TRANS NON-INST					2,479,549.56	2,560,808.00	2,797,175.00	9.23
5510-163-03-6800	-303	TRANS ATHLETICS					87,006.75	120,000.00	120,000.00	-
The cost of trans	sporting o	our teams to practices and games is budgeted here.								
5510-163-03-9000	-303	TRANS N C SAL SUPLM					74,279.56	70,000.00	70,000.00	-
We budget fund	s in this o	code to pay for overtime incurred by our drivers.								
5510-168-03-9000	-303	TRANS PARTTIME BUS					461,387.98	561,471.00	508,189.00	-9.49
5510-200-03-9000	-510	TRANS EQUIP					2,000.00	2,000.00	2,000.00	-

Budget Development Detail Report

Fiscal Year: 2022

Budget Account	Description	Quantity	Unit Cost	Unit Measure	Request/ Item Amount	2019-2020 Actual Expenditure	2020-2021 Adopted Budget	2021-2022 ** Proposed Budget	Percent Change
	set wrr rat flx flr nut 6pc met	1.00	200.00	EA	200.00		· ·	· ·	
	set wr rat comb flex sae 13pc	1.00	340.00	EA	340.00				
	trq wr flex head 1/2 dr 30-250	1.00	230.00	EA	230.00				
	wr trq micro 1/4 dr 30-200 in	1.00	160.00	EA	160.00				
	set skt imo std/dp sae 1/2 dr 3	1.00	250.00	EA	250.00				
	set skt imp std/dp met 1/2 dr 3	1.00	200.00	EA	200.00				
	wr rat comb flex 16 pc	1.00	370.00	EA	370.00				
	set wr rat xl gearbox met 12pc	1.00	250.00	EA	250.00				
5510-200-03-9000	0-999 Repairs to Buses & Gar Bu					575.00	-	-	-
5510-210-03-9000	0-510 TRANS BUSES					25,994.60	170,000.00	150,000.00	-11.76
	Large diesel replace #85 2005 with 109640 miles	0.00	0.00	EA	0.00				
	large gasoline replace #86 2006 with 102890 miles	0.00	0.00	EA	0.00				
	small van replace #44 2008 with 130973miles	0.00	0.00	EA	0.00				
	small van replace #45 2012 with 102106 miles	0.00	0.00	EA	0.00				
		1.00	150,000.00	EA	150,000.00				
5510-422-03-9000	0-510 Trans Repairs to Buses					58,724.50	71,000.00	75,000.00	5.63
	Blue Chip- Glass parts labor and install	1.00	1,000.00	EA	1,000.00				
	All System Brake - All air brakes components including drums and shoes and occasional bendix brand brake	1.00	6,000.00	EA	6,000.00				
	Hempstead Ford Lincoln-Ford brand parts and repairs including warranty	1.00	5,000.00	EA	5,000.00				
	Suffolk Communication - Install two way Radios and cameras and repairs	1.00	2,000.00	EA	2,000.00				
	L.I. Foreign Auto - Light truck and car parts	1.00	5,000.00	EA	5,000.00				

Budget Development Detail Report

Fiscal Year: 2022

Budget Account	Description	Quantity	Unit Cost	Unit Measure	Request/ Item Amount	2019-2020 Actual Expenditure	2020-2021 Adopted Budget	2021-2022 ** Proposed Budget	Percent Change
	Bird Bus - Bluebird bus body, Cummins and Caterpillar engine parts	1.00	15,000.00	EA	15,000.00				
	Islandwide Auto/Truck - Body work for all buses	1.00	3,000.00	EA	3,000.00				
	Hub Spring & Suspension Air Brake shoes for blue birds and parts for Heavy Suspension work	1.00	5,000.00	EA	5,000.00				
	Choice - mutli purpose cleaners, window cleaners shop hand cleaners and bus wash soap	1.00	3,000.00	EA	3,000.00				
	HO Penn - caterpiller engine service and parts	1.00	2,000.00	EA	2,000.00				
	Cummings Power Cummins and Caterpillar engine parts, Factory authorized repairs for BlueBird Bodies and Cummins engines including warranty reparis	1.00	2,000.00	EA	2,000.00				
	Sailon Auto - Heavy Generators and starters	1.00	0.00	EA	0.00				
	All Points - Seats,lights,switches,buzzers,mirrors,heaters	1.00	5,000.00	EA	5,000.00				
	New York Bus Sales - Bluebird Bus Body and cummins parts	1.00	10,000.00	EA	10,000.00				
	Better Miles Transmissions for Buses	1.00	1,000.00	EA	1,000.00				
	JJ miles Alignments and suspension	1.00	1,000.00	EA	1,000.00				
	Truck King parts for new busesbits	1.00	4,000.00	EA	4,000.00				
	Brake Service - All air brake componentes including drums and shoes	1.00	5,000.00	EA	5,000.00				
5510-427-03-9000	0-311 OPER TELEPHONE- TRANS					22,092.00	22,092.00	22,092.00	-
	Wireless Telephone - Transportation	12.00	1,841.00	EA	22,092.00				
5510-430-03-3600	0-510 Repairs to Maint Veh					5,000.00	5,000.00	5,000.00	-
	L I Foreign	1.00	2,500.00	EA	2,500.00				
	Barnwell Tires	1.00	2,500.00	EA	2,500.00				
5510-430-03-9000	0-510 TRANS CONTR					38,014.38	53,000.00	56,000.00	5.66

Budget Development Detail Report

Fiscal Year: 2022

Budget Account	Description	Quantity	Unit Cost I	Unit Measure	Request/ Item Amount	2019-2020 Actual Expenditure	2020-2021 Adopted Budget	2021-2022 ** Proposed Budget	Percent Change
	Transfinder- License,maintenance & routing	1.00	10,000.00	EA	10,000.00	Exportantiare	Daagot	Budget	Onungo
	Suffolk comunications to swap out existing two way radios	1.00	8,000.00	EA	8,000.00				
	Suffolk Communication maintenance for all 2 - way radios	1.00	17,000.00	EA	17,000.00				
	Chester Towing - towing for school vehicles	1.00	3,000.00	EA	3,000.00				
	First Advantage - Drug Testing for all drivers	1.00	3,000.00	EA	3,000.00				
	Zonar - License Maintenance fees	1.00	13,000.00	EA	13,000.00				
	Zonar student tracking, Harware and Software	1.00	2,000.00	EA	2,000.00				
5510-440-03-9000	0-510 TRANS PROF DEVEL					2,337.67	1,800.00	1,800.00	-
	NYAPT annual Conf., hotel & membership	1.00	1,500.00	EA	1,500.00				
	NYAPT Nassau Membership Carmen & Dalton	1.00	200.00	EA	200.00				
	19A refresher classes as required by NYS	1.00	100.00	EA	100.00				
5510-450-03-360	0-510 Parts for Maint Vehicles					10,000.00	10,000.00	10,000.00	-
	Barnwell Tires	1.00	3,000.00	EA	3,000.00				
	Hempstead Ford	1.00	2,000.00	EA	2,000.00				
	L.I. Foriegn	1.00	3,000.00	EA	3,000.00				
	Brake Serices	1.00	2,000.00	EA	2,000.00				
5510-450-03-9000	0-510 TRANS SUPPLIES					7,840.88	10,000.00	12,000.00	20.00
	WB Mason Company- Copy Paper, office supplies	1.00	1,000.00	EA	1,000.00				
	National School Forms - Dot papers	1.00	2,000.00	EA	2,000.00				
	AC Envellope	1.00	500.00	EA	500.00				
	Waste Oil solutions -removed waste oil/antifreeze, used oil	1.00	3,000.00	EA	3,000.00				
	Island wide -Body work for buses	1.00	1,000.00	EA	1,000.00				

Budget Development Detail Report

Fiscal Year: 2022

Budget Account	Description	Quantity	Unit Cost	Unit Measure	Request/ Item Amount	2019-2020 Actual Expenditure	2020-2021 Adopted Budget	2021-2022 ** Proposed Budget	Percent Change
	Karl's equipment	1.00	1,500.00	EA	1,500.00	•	· ·		
	Zonar, student tracking hardware	1.00	2,000.00	EA	2,000.00				
	Brake Services- parts for all buses	1.00	1,000.00	EA	1,000.00				
5510-453-03-9000	0-510 Transportation Uniforms					8,556.16	9,000.00	9,000.00	-
	Uniform Allowance for Drivers including shirts and shoes	9,000.00	1.00	EA	9,000.00				
5510-454-03-9000	0-510 Trans Fuel					137,673.07	213,000.00	213,000.00	-
	United Metro- fuel for all the buses	1.00	50,000.00	EA	50,000.00				
	Propane for 12 Buses (9 Large & 3 Vans)	1.00	50,000.00	EA	50,000.00				
	WEX fueli for all buses	1.00	113,000.00	EA	113,000.00				
5510-456-03-9000	0-510 Trans Automotive Parts					167,919.92	189,000.00	189,000.00	-
	Cummins CO - Cummins and Caterpiller engine parts for Bluebird Buses	1.00	5,000.00	EA	5,000.00				
	Islandwide Auto/Truck - Body work for School Buses	1.00	15,000.00	EA	15,000.00				
	Hub Spring - Brakes for Bluebirds	1.00	5,000.00	EA	5,000.00				
	All System Brakes - Air Brake parts including drums shoes and Pads	1.00	25,000.00	EA	25,000.00				
	L.I. Foreitn - Light truck and Maint vech and van parts	1.00	30,000.00	EA	30,000.00				
	Hempstead Ford and Lincoln - Ford and Lincold Parts	1.00	5,000.00	EA	5,000.00				
	Suffolk Communication - Cover 2 way radios for all vehicles	1.00	1,000.00	EA	1,000.00				
	Bird Bus Sale - BlueBird parts	1.00	22,000.00	EA	22,000.00				
	Better miles Tranny buses	1.00	10,000.00	EA	10,000.00				
	H O penn Caperpiller engine and parts	1.00	10,000.00	EA	10,000.00				
	Salion Auto Generators and starters	1.00	0.00	EA	0.00				

Budget Development Detail Report

Fiscal Year: 2022

Budget Account	Description	Quantity	Unit Cost 1	Unit Measure	Request/ Item Amount	2019-2020 Actual Expenditure	2020-2021 Adopted Budget	2021-2022 ** Proposed Budget	Percent Change
	All Points - seat upholser,lights,buzzers,mirrors fansblowers,heaters ect.	1.00	17,000.00	EA	17,000.00	·		<u> </u>	
	New York Bus Sales	1.00	20,000.00	EA	20,000.00				
	Blue Chip	1.00	1,000.00	EA	1,000.00				
	Brake Services	1.00	10,000.00	EA	10,000.00				
	JJ Miles	1.00	5,000.00	EA	5,000.00				
	Parts Authority	1.00	5,000.00	EA	5,000.00				
	Truck King	1.00	3,000.00	EA	3,000.00				
5510-458-03-900	0-510 Trans Tires & Lubricants					45,848.51	50,000.00	50,000.00	-
	Barnwell House of Tires- Tires for Buses and Maint Veh	1.00	38,000.00	EA	38,000.00				
	Circle Lubricants - Transmission Fluiid oil	1.00	10,000.00	EA	10,000.00				
	MK Hoffman - Transmission Fluid Oil	1.00	2,000.00	EA	2,000.00				
	5510 District Transportation Services Function SubTotal					3,634,800.54	4,118,171.00	4,290,256.00	4.18%
5530 Garage Buil	ding Function								
5530-200-03-900	0-510 GARAGE EQUIP					5,997.44	6,000.00	5,000.00	-16.67
	Yellow & Black exhaust hoe 33 foot long 5 ind diameter	1.00	2,500.00	EA	2,500.00				
	14" drawer double bank rolle	1.00	2,500.00	EA	2,500.00				
5530-200-03-900	0-999 GARAGE EQUIP					500.00	-	-	-
5530-430-03-900	0-510 GARAGE CONTR					2,823.10	4,000.00	4,000.00	-
	Grainger	1.00	1,000.00	EA	1,000.00				
	Karls Equipment & Supply lift inspection yearly	1.00	1,000.00	EA	1,000.00				

Budget Development Detail Report

Fiscal Year: 2022

Budget Account	Description	Quantity	Unit Cost	Unit Measure	Request/ Item Amount	2019-2020 Actual Expenditure	2020-2021 Adopted Budget	2021-2022 ** Proposed Budget	Percent Change
	DXC Technology	1.00	2,000.00	EA	2,000.00				
5530-450-03-9000	0-510 GARAGE SUPPLIES					4,875.75	5,000.00	5,000.00	-
	National school formswires	1.00	1,500.00	EA	1,500.00				
	zonar-students tracking hardware	1.00	2,000.00	EA	2,000.00				
	Karl's Equipment	1.00	1,500.00	EA	1,500.00				
5530-450-03-9000	D-999 MATERIALS & SUPPLIES					1,200.00	-	-	-
	5530 Garage Building Function SubTotal					15,396.29	15,000.00	14,000.00	-6.67%
5540 Contract Tra	insportation Function								
5540-430-03-5500	0-510 TRANS SPECIAL SCHOOLS					313,578.28	670,452.00	764,000.00	13.95
	Special Education Schools. Avg cost per child 20,905.00 plus 3% CPI is the cause for large Increase	1.00	670,452.00	EA	670,452.00				
	DDI HUNTINGTON child 1 1 monitor	1.00	0.00	EA	0.00				
	UCP -Roosevelt 2 child & 1 monitor	2.00	0.00	EA	0.00				
	Summit Upper/Lower	6.00	0.00	EA	0.00				
	Harmony Heights	1.00	0.00	EA	0.00				
	Lowell School	1.00	0.00	EA	0.00				
	BOCES CCA NET	2.00	0.00	EA	0.00				
	Fusion Academy	2.00	0.00	EA	0.00				
	Wester Suffolk James Allan + Mont.	2.00	0.00	EA	0.00				
	Winston Prep	2.00	0.00	EA	0.00				
	Ascent School child+ monitor	1.00	0.00	EA	0.00				
	Jerusalem Avenue	1.00	0.00	EA	0.00				

Budget Development Detail Report

Fiscal Year: 2022

Budget Account	Description	Quantity	Unit Cost	Unit Measure	Request/ Item Amount	2019-2020 Actual Expenditure	2020-2021 Adopted Budget	2021-2022 ** Proposed Budget	Percent Change
	Carman Road School	0.00	0.00	EA	0.00	·	Ĭ	J	·
		1.00	93,548.00	EA	93,548.00				
5540-430-03-900	0-510 TRANS PRIVATE SCHOOLS					163,814.69	311,732.00	121,500.00	-61.02
	Private Schools Avg cost per child \$6,552.58 3 New students plus 3% CPI	1.00	311,732.00	EA	311,732.00				
	Cheder at the Ohel	1.00	0.00	EA	0.00				
	Holy Child	3.00	0.00	EA	0.00				
	St Dominic HS	1.00	0.00	EA	0.00				
	Long Island Lutheran HS	1.00	0.00	EA	0.00				
	United Nation International	2.00	0.00	EA	0.00				
	Holy Martin School	1.00	0.00	EA	0.00				
	Bais Yaakov	6.00	0.00	EA	0.00				
	Greenvale Schools	9.00	0.00	EA	0.00				
	Sacread Heart	3.00	0.00	EA	0.00				
	St Dominic elem	1.00	0.00	EA	0.00				
	Buckley School	7.00	0.00	EA	0.00				
	Yashiva Kol Yaakov	1.00	0.00	EA	0.00				
	North Shore Day center	1.00	0.00	EA	0.00				
	Chaminade	5.00	0.00	EA	0.00				
	St Francis Prep	1.00	0.00	EA	0.00				
	St Mary's elem	7.00	0.00	EA	0.00				
	St Marys' HS	2.00	0.00	EA	0.00				
	William Spyroulos	1.00	0.00	EA	0.00				
	Reduction estimated by hiring 5 new full-time and 3 new part-time drivers	-1.00	826,500.00	EA	-826,500.00				
		1.00	636,268.00	EA	636,268.00				

Budget Development Detail Report

Fiscal Year: 2022

Budget Account	Description	Quantity	Unit Cost	Unit Measure	Request/ Item Amount	2019-2020 Actual Expenditure	2020-2021 Adopted Budget	2021-2022 ** Proposed Budget	Percent Change
5540-490-03-5500-510	BOCES SVCS					4,354.70	6,000.00	42,000.00	600.00
ВОС	ES CC-Net program	1.00	0.00	EA	0.00				
BOC	ES Carmam Road School	0.00	0.00	EA	0.00				
BOC	ES Jerusalem Avenue School	0.00	0.00	EA	0.00				
		1.00	42,000.00	EA	42,000.00				
	5540 Contract Transportation Function SubTotal					481,747.67	988,184.00	927,500.00	-6.14%
5550 Public Transportation	on Function								
5550-430-03-9000-510	TRANS PUBLIC SERVICE					1,371.33	200.00	200.00	-
Train	and Bus Pass (only if needed)	1.00	200.00	EA	200.00				
	5550 Public Transportation Function SubTotal					1,371.33	200.00	200.00	0.00%
7140 Recreation Functio	n								
7140-157-03-9000-309	REC SVCES B.I.T.E.					6,200.00	11,738.00	11,738.00	-
7140-450-03-9000-309	RECREATION SUPPLIES					-	-	8,000.00	-
AED	Batteries (Cardiac Science G5)	20.00	400.00	EA	8,000.00				
	7140 Recreation Function SubTotal					6,200.00	11,738.00	19,738.00	68.15%
9010 State Employees Re	etirement Function								
9010-800-03-9000-303	EMPL RET SYSTEM					1,740,166.60	1,843,383.00	2,048,684.00	11.14
Estimated expense is b	based on data provided by the Office of the State Comptroller.								
Empl 2021	loyer Contribution to ERS est December 2020 for -22	100.00	20,486.84	EA	2,048,684.00				

Budget Development Detail Report

Fiscal Year: 2022

Budget Account	Description	Quantity	Unit Cost	Unit Measure	Request/ Item Amount	2019-2020 Actual Expenditure	2020-2021 Adopted Budget	2021-2022 ** Proposed Budget	Percent Change
	9010 State Employees Retirement Function SubTotal					1,740,166.60	1,843,383.00	2,048,684.00	11.14%
9020 State Teachers Retire	ement Function								
9020-800-03-9000-303	TCHR RET SYSTEM					3,946,622.44	4,690,991.00	4,808,042.00	2.50
10.00%) we had budget be applied to salaries pa accrued during the 2021- rate (13.36%), lower than 2018-19 (10.62%), high higher than the lowest ra	e received from TRS in November 2020 (which projected the rate of 10.00% of the projected certified salary base. We Have not in 2021-22 will be 9.8%. This amount must be paid in the falt-22 school year. This is significantly lower than the rate for 201 in the 2016-17 rate (11.72%), about the same as the rate for 201 iter than the rate for 2019-20 (8.86%), slightly higher than the rate from 2001-2003 of 0.36%. The increase is due in part to the isses the required employer contribution rate (ECR).	ow received notification of 2022 but must be I 4-15 (17.53%)., lower 017-18 (9.8%), lower te for 2020-21 (9.53%) e system lowering its results.	n of the actual in budgeted and r than the 2015 than the rate for and significant ate of return	rate to -16 or utly					
•	yer Contribution to TRS as of February 2021 using ted certified payroll as of December 2019	9.80	490,616.40	EA	4,808,040.72				
		1.00	0.98	EA	0.98				
	9020 State Teachers Retirement Function SubTotal					3,946,622.44	4,690,991.00	4,808,042.00	2.50%
9030 Social Security Func	tion								
9030-800-03-9000-303	SOCIAL SECURITY					4,219,425.93	4,506,170.00	4,703,721.00	4.38
wages but also the paym 6.2% of all salaries paid of all salaries paid in exc was made using the sala \$142,800 from each. In	the total of all salaries (Medicare Base) paid to any employee nents made to employees who opt out of health insruance (906) to a maximum of \$142,800 for calendar year 2021. From the ress of \$142,800 which is estimated to be \$1,825,000 in order three searned by all staff members during calendar year 2020, in addition, a new tax will be collected for the medicare program above a threshold amount currently set at \$200,000 individual at	5.800) The employer Medicare Base we musto determine the FICA creasing each by 2%, from both the employer	share of FICA is subtract the tase. The estinant then subtrace and employed	total mate acting					1
Medica	are Taxes	1.45	629,656.31	EA	913,001.65				
FICA T	axes	6.20	611,406.31	EA	3,790,719.12				
	9030 Social Security Function SubTotal					4,219,425.93	4,506,170.00	4,703,721.00	4.38%
9040 Workers' Compensati	ion Function								
9040-800-03-9000-303	WORKERS COMPENSATION					556,556.50	613,510.00	635,518.00	3.59

Budget Development Detail Report

Fiscal Year: 2022

Budget Account	Description	Quantity	Unit Cost	Unit	Request/ Item Amount	2019-2020 Actual	2020-2021 Adopted	2021-2022 ** Proposed	Percent
The budget had Compensation able to reduce be paid from the cooperative we payments to \$100.000 and \$100.0000 and \$1	bescription as been amended to reflect acceptance of Roslyn UFSD into the Nassau in Self-Insured Trust which will cause a significant savings over the long rust the appropriation by \$143,671. This assumes that payments for all clair he Workers Compensation Reserve. The 2021-22 contribution will be definite will be held on January 27, 2021. Our estimate of assessments to be Sedgwick reflect our estimate of payouts during 2021-22 for claims incurred sedgwick will be matched by appropriations from the Workers Compensal.	County Schools Coopium. During 2014-15, fc ms incurred on or prior etermined at the annua be paid directly to the Wed prior to July 1, 2014	or example, we we to June 30, 2014 I meeting of the I/CB is \$40,000.	rs ere	nem Amount	Expenditure	Budget	Budget	Change
	Sedgewick Claims Handling Fee	1.00	2,500.00	EA	2,500.00				
	Allowance for Direct Benefits prior to 2014-15 funded by appropriation from Reserve	1.00	20,000.00	EA	20,000.00				
	State Assessment Fees	1.00	37,500.00	EA	37,500.00				
	Bollinger Consulting Fee	1.00	2,000.00	EA	2,000.00				
	Membership in Nassau Coop as determined by Actuarial Study completed in January 2021.	1.00	573,518.00	EA	573,518.00				
						556,556.50	613,510.00	635,518.00	3.59%
	9040 Workers' Compensation Function SubTotal					556,556.50	613,510.00	000,010.00	
9045 Life Insura 9045-800-03-900	nce Function					16,734.96	21,622.00	22,652.00	4.76
9045-800-03-900 Life insurance has recently in addition, we pretirees is \$0.	nce Function	nonth to \$0.22 per thou ractually obligated to do reduced because we a	sand per month. so. The cost four re now accounting	In r		,	, 	·	
9045-800-03-900 Life insurance has recently in addition, we pretirees is \$0. for the life insurance.	nce Function 00-303 LIFE INS ADM e is provided to active employees in face amounts ranging from \$20,000 increased due to our actuarial experience from \$0.165 per thousand per norovide life insurance in retirment to a few people for whom we were control of per thousand per month. The cost of this benefit has been drastically	nonth to \$0.22 per thou ractually obligated to do reduced because we a	sand per month. so. The cost four re now accounting	In r	9,000.00	,	, 	·	
9045-800-03-900 Life insurance has recently in addition, we pretirees is \$0. for the life insurance.	DO-303 LIFE INS ADM e is provided to active employees in face amounts ranging from \$20,000 increased due to our actuarial experience from \$0.165 per thousand per norovide life insurance in retirment to a few people for whom we were control of thousand per month. The cost of this benefit has been drastically urance we allow retirees to buy through us at their own cost in the Trust and Paraprofessionals \$25,000 @ .22 per M per MO plus .02 per	nonth to \$0.22 per thou ractually obligated to do reduced because we a and Agency Fund instead	sand per month. so. The cost four re now accounting of the general	In r ng	9,000.00 2,419.20	,	, 	·	
9045-800-03-900 Life insurance has recently in addition, we pretirees is \$0. for the life insurance.	DO-303 LIFE INS ADM It is provided to active employees in face amounts ranging from \$20,000 increased due to our actuarial experience from \$0.165 per thousand per norovide life insurance in retirment to a few people for whom we were control per thousand per month. The cost of this benefit has been drastically urance we allow retirees to buy through us at their own cost in the Trust at Paraprofessionals \$25,000 @ .22 per M per MO plus .02 per M per MO for AD&D per employee RESA \$30,000 @ .22 per M per MO plus .02 per M Per MO	nonth to \$0.22 per thou rectually obligated to do reduced because we a and Agency Fund instead	sand per month. o so. The cost four re now accounting ad of the general	In r g YR	,	,	, 	·	
9045-800-03-900 Life insurance has recently in addition, we pretirees is \$0. for the life insurance.	nce Function O0-303 LIFE INS ADM e is provided to active employees in face amounts ranging from \$20,000 increased due to our actuarial experience from \$0.165 per thousand per morovide life insurance in retirment to a few people for whom we were control of per thousand per month. The cost of this benefit has been drastically urance we allow retirees to buy through us at their own cost in the Trust at Paraprofessionals \$25,000 @ .22 per M per MO plus .02 per M per MO for AD&D per employee RESA \$30,000 @ .22 per M per MO plus .02 per M Per MO ADD per employee All other Classified \$20,000 @ .22 per M per MO plus .02 per	nonth to \$0.22 per thou rectually obligated to do reduced because we a and Agency Fund instead 125.00 28.00	sand per month. so so. The cost four now accounting of the general 72.00 86.40	In In In In In In In In In In In In In I	2,419.20	,	, 	·	
9045-800-03-900 Life insurance has recently in addition, we pretirees is \$0. for the life insurance.	DO-303 LIFE INS ADM The is provided to active employees in face amounts ranging from \$20,000 of the increased due to our actuarial experience from \$0.165 per thousand per morovide life insurance in retirment to a few people for whom we were controlled in the insurance in retirment to a few people for whom we were controlled in the insurance we allow retirees to buy through us at their own cost in the Trust at the insurance we allow retirees to buy through us at their own cost in the Trust at the insurance we allow retirees to buy through us at their own cost in the Trust at the insurance we allow retirees to buy through us at their own cost in the Trust at the insurance we allow retirees to buy through us at their own cost in the Trust at the insurance we allow retirees to buy through us at their own cost in the Trust at the insurance we allow retirees to buy through us at their own cost in the Trust at the insurance we allow retirees to buy through us at their own cost in the Trust at the insurance we allow retirees to buy through us at their own cost in the Trust at the insurance we allow retirees to buy through us at their own cost in the Trust at the insurance we allow retirees to buy through us at their own cost in the Trust at the insurance we allow retirees to buy through us at their own cost in the Trust at their own cost in the Trus	nonth to \$0.22 per thousactually obligated to do reduced because we as and Agency Fund instead 125.00 28.00 120.00	sand per month. s so. The cost for now accounting of the general 72.00 86.40 57.60	In rg YR EA YR	2,419.20 6,912.00	,	, 	·	

Budget Development Detail Report

Fiscal Year: 2022

Fund: A GENERAL FUND

Budget Account	Description	Quantity	Unit Cost	Unit Measure	Request/ Item Amount	2019-2020 Actual Expenditure	2020-2021 Adopted Budget	2021-2022 ** Proposed Budget	Percent Change
9050-800-03-9000-312	UNEMPLOY ADM					65,000.00	15,500.00	25,000.00	61.29
We have moved this app the payment of benefits.	propriation to the Human Resources Administrator's Budget since	ce that office is the one	e which authoriz	es					
Unemp	ployment administration	1.00	25,000.00	EA	25,000.00				
	9050 Unemployment Insurance Function SubTotal					65,000.00	15,500.00	25,000.00	61.29%
9055 Disability Insurance	Function								
9055-800-03-9000-303	DISABILITY INSURANCE					4,743.74	5,760.00	5,760.00	-
\$60,00	Term Disability Insurance at 60% of salary (with a 00 cap) with 180 day waiting period for members of and RPA @\$.125 per \$100 of covered estimated .	12.00	480.00	МО	5,760.00				
	9055 Disability Insurance Function SubTotal					4,743.74	5,760.00	5,760.00	0.00%
9060 Health Insurance Fu	nction								
9060-800-03-8010-303	MEDICARE Part B Reimb					1,420,005.90	1,487,574.00	1,622,348.00	9.06

Retirees are provided health insurance as required by the state plan and in accordance with our bargaining agreements. The state plan gives us a discount for those retirees who are eligible for medicare coverage at age 65. However, in return, the district must reimburse medicare eligible retirees for the cost of their Medicare Part B premium. Currently the standard Medicare Part B premium is \$148.50 per month and there are approximately 570 retirees and spouses (including surviving spouses of deceased retirees) who are covered by our health insurance plan and eligible for Medicare. Federal law changed the amount charged for Medicare Part B coverage for beneficiaries with modified adjusted gross incomes (MAGI) that exceeded \$82,000 in 2006. Starting January 1, 2007, such individuals were charged an income-related monthly adjustment amount (IRMAA) in addition to the standard premium. The 2021 IRMMA adjustment amounts range from \$59.40 per month to \$356.40 per month. Civil Service Law, Section 167-a, requires NYSHIP employers to reimburse the entire premium paid for Part B (including the IRMAA adjustment) by a Medicare primary NYSHIP enrollee and/or any of their Medicare primary enrolled dependents.

Individual Income **	Joint Income **	Part B Premium
\$88,000 or less	\$176,000 or less	\$148.50
Above \$88,000 up to \$111,000	Above \$176,000 up to \$222,000	\$207.90
Above \$111,000 up to \$138,000	Above \$222,000 up to \$276,000	\$297.00
Above \$138,000 up to \$165,000	Above \$276,000 up to \$330,000	\$386.10
Above \$165,000 up to \$500,000	Above \$330,000 up to \$750,000	\$475.20
Above \$500,000	Above \$750,000	\$504.90
** Based on 2019 Income		

Retired Employees Standard (256)

12.00 38,016.00

MO

456,192.00

Budget Development Detail Report

Fiscal Year: 2022

Budget Account	Description	Quantity	Unit Cost	Unit Measure	Request/ Item Amount	2019-2020 Actual Expenditure	2020-2021 Adopted Budget	2021-2022 ** Proposed Budget	Percent Change
•	Retired Employees IRMAA Level 1 (43)	12.00	8,939.70	МО	107,276.40				
	Retired Employees IRMAA Level 2 (36)	12.00	10,692.00	MO	128,304.00				
	Retired Employees IRMAA Level 3 (27)	12.00	10,424.70	MO	125,096.40				
	Retired Employees IRMAA Level 4 (35)	12.00	16,632.00	МО	199,584.00				
	Retired Employees IRMAA Level 5 (4)	12.00	2,019.60	МО	24,235.20				
	Retired Employees Spouses Standard (125)	12.00	18,562.50	МО	222,750.00				
	Retired Employees Spouses IRMAA Level 1 (29)	12.00	6,029.10	МО	72,349.20				
	Retired Employees Spouses IRMAA Level 2 (12)	12.00	3,564.00	МО	42,768.00				
	Retired Employees Spouses IRMAA Level 3 (8)	12.00	3,088.80	МО	37,065.60				
	Retired Employees Spouses IRMAA Level 4 (23)	12.00	10,929.60	МО	131,155.20				
	Retired Employees Spouses IRMAA Level 5 (3)	12.00	1,514.70	МО	18,176.40				
	Allowance for 10 New Retirees at Standard Rate	12.00	1,485.50	МО	17,826.00				
	Allowance for percentage increase during second 6 months of the school year (from January 1, 2022 to June 30, 2022. This is calculated by Sum of 12 month cost at the 2021 rates divided by 2 (to reflect only 6 months) multiplied by the estimated percentage increase	0.05	791,389.20	EA	39,569.46				
9060-800-03-9000	0-303 MEDICAL INS ADM					12,356,868.03	13,711,143.00	13,469,100.00	-1.77

2021-2022 **

Roslyn Public Schools

Budget Development Detail Report

Fiscal Year: 2022

Fund: A GENERAL FUND

2019-2020

2020-2021

Budget Account Description Unit Request/ Actual Adopted Proposed Percent Unit Cost Measure Item Amount Expenditure Budget Budget Change

Medical insurance premiums are paid by the district in accordance with the terms of the collective bargaining agreements with each unit of employees. Employees contribute to the cost of the insurance at rates ranging from 15% (nurses) to 27% (newly hired members of the Custodial, Maintainers and Bus Drivers Unit) with the majority of employees (teachers) contributing 23% during the 2021-22 school year and administrators contributing 25%. All recently negotiated agreements called for an increased contribution by employees. During 2021-22 all members of the Rolsyn Paraprofessionals Association (RPA) hired prior to 10/18/12 will contribute 19%, those hired on or after 10/18/12 contribute 23%, and those hired on or after 71/120 will contribute 25%. All members of the Roslyn Custodial Bus Drivers and Maintenance Association hired before 3/28/12 will contribute 22% of the premium while those hired on or after 3/28/12 contribute 27%. All members of the Roslyn Food Service Workers Association hired before 9/20/12 will contribute 15% of the premium while those hired on or after 9/20/12 contribute 20% and those hired on or after 9/10/15 will contribute 25%. All members of the Roslyn Educational Secretaries Association (RESA) hired before 7/1/20 will contribute 20% while those hired on or after July 1, 2020 will pay 25%.

The premiums for 2021 for the Statewide health insurance plan (NYSHIP) which covers the vast majority of our employees reflected a significant application of dividend by the insurance carriers. This resulted in a moderate increase in premiums. We are, however, estimating that the premiums will increase by 8% for 2022.

For calendar year 2018, the premium for NYSHIP plan was \$1,014.98 per month for individual coverage and \$2,348.15 per month for family coverage. For retirees on medicare, the cost for an individual was \$444.39 per month, \$1,777.54 per month for family coverage if only one member of the family is on medicare, and \$1,206.95 per month if both retiree and spouse are on medicare.

For calendar year 2019, the premium for NYSHIP plan is \$1,042.85 per month for individual coverage (an increase of 2.74%) and \$2,412.77 per month for family coverage (an increase of 2.75%). For retirees on medicare, the cost for an individual is \$403.27 per month (a derease of 9.25%), \$1,773.19 per month for family coverage if only one member of the family is on medicare (a decrease of 0.24%), and \$1,133.57 per month if both retiree and spouse are on medicare (a decrease of 6.08%).

For calendar year 2020, the premium for NYSHIP plan is \$1,031.82 per month for individual coverage (a decrease of 1.06%) and \$2,387.58 per month for family coverage (a decrease of 1.04%). For retirees on medicare, the cost for an individual is \$388.60 per month (a derease of 3.64%), \$1,744.35 per month for family coverage if only one member of the family is on medicare (a decrease of 1.63%), and \$1,101.10 per month if both retiree and spouse are on medicare (a decrease of 2.86%).

For calendar year 2021, the premium for NYSHIP plan is \$1,074.87 per month for individual coverage (an increase of 4.17%) and \$2,452.24 per month for family coverage (an increase of 2,71%). For retirees on medicare, the cost for an individual is \$389.77 per month (an inrease of 0.30%), \$1,393.47 per month for family coverage if only one member of the family is on medicare (a decrease of 20.12%), and \$1,107.40 per month if both retiree and spouse are on medicare (an increase of 0.57%).

The amounts specified in each detail line below are net of the retiree's and employee's contributions to the cost. It is important to remember that the actual premiums we will pay can only be accurate for the first six months of the school year (July through December 2021) and must be estimated for the second half of the year (January through June 2022). That estimate is calculated as follows: Sum of 12 month cost at the 2021 rates divided by 2 (to reflect only 6 months) multiplied by the estimated percentage increase

Wage Works - COBRA Administration - \$0.73 per benefitseligible employee per month	600.00	8.46	YR	5,076.00
Excess MM with Vision Ind @ \$3.85/mo (\$46.20 per year) per employee for 96 employees	96.00	46.20	YR	4,435.20
Excess MM with Vision Fam @ 9.20/mo ((\$110.40 per year) per employee for 144 employees	144.00	110.40	YR	15,897.60

Budget Development Detail Report

Fiscal Year: 2022

Budget Account	Description	Quantity	Unit Cost	Unit Measure	Request/ Item Amount	2019-2020 Actual Expenditure	2020-2021 Adopted Budget	2021-2022 ** Proposed Budget	Percent Change
	Individual Vision Coverage @ \$5.38/mo (\$64.56 per year) per employee for 15 employees	15.00	64.56	YR	968.40				
	Family Vision Coverage @ \$13.53/mo (\$162.36 per year) per employee for 63 employees	63.00	162.36	YR	10,228.68				
	Flex Plan Administrative Fee @ \$5/mo/enrollee (\$57 peryear)	105.00	60.00	YR	6,300.00				
	NYSHIP Administrative Fee @ \$3 per month (\$36 per year) per enrollee	910.00	36.00	YR	32,760.00				
	15 New Staff Members Electing NYSHIP \$2,412.77 per month. allows for the additional cost we may incur for rettiees with benefits who are replaced by new staff members with benefits. This includes an allowance for the addition of five full-time bus drivers who will take over a number of routes currently covered by contractors.	12.00	36,191.55	МО	434,298.60				
	Health Insurance for Part time drivers which will allow us to take over routes currently covered by contractors. The part-time drivers will pay 50% of the cost of individual premium plus 65% of the additional cost of family coverage if they choose to elect it. The maximum cost for family coverage is \$12,625 per year.	8.00	12,625.00	YR	101,000.00				
	ASUP 1 Individual NYSHIP	12.00	859.90	MO	10,318.80				
	ASUP 1 Family NYSHIP	12.00	1,912.75	MO	22,953.00				
	CMBD 24 Individual NYSHIP	12.00	19,476.64	MO	233,719.68				
	CMBD 36 Family NYSHIP	12.00	67,387.56	MO	808,650.72				
	CMBD 1 HIP Individual	12.00	984.00	MO	11,808.00				
	CONF 3 Individual NYSHIP	12.00	2,676.43	MO	32,117.16				
	CONF 2 Family NYSHIP	12.00	4,070.72	MO	48,848.64				
	MGRL 4 Individual NYSHIP	12.00	3,439.58	MO	41,274.96				
	MGRL 4 Family NYSHIP	12.00	7,847.17	MO	94,166.04				
	FSW 6 Individual NYSHIP	12.00	5,428.09	MO	65,137.08				
	FSW 7 Family NYSHIP	12.00	14,345.60	MO	172,147.20				
	RASA 3 Individual NYSHIP	12.00	2,418.46	MO	29,021.52				
	RASA 16 Family NYSHIP	12.00	29,426.88	MO	353,122.56				
	RESA 9 Individual NYSHIP	12.00	7,739.06	МО	92,868.72				

Budget Development Detail Report

Fiscal Year: 2022

Budget Account	Description	Quantity	Unit Cost	Unit Measure	Request/ Item Amount	2019-2020 Actual Expenditure	2020-2021 Adopted Budget	2021-2022 ** Proposed Budget	Percent Change
	RESA 14 Family NYSHIP	12.00	27,465.09	MO	329,581.08		· ·		
	RET HIP 5 Individual	12.00	2,946.28	MO	35,355.36				
	RET 18 Individual	12.00	15,726.50	MO	188,718.00				
	RET 24 Family	12.00	47,587.74	MO	571,052.88				
	RET 200 Individual Medicare	12.00	67,390.49	MO	808,685.88				
	RET 32 Family 1 Mediciare	12.00	39,730.17	MO	476,762.04				
	RET 176 Family 2 Medicare	12.00	167,753.44	МО	2,013,041.28				
	RPA 37 Individual NYSHIP	12.00	31,074.49	МО	372,893.88				
	RPA 39 Family NYSHIP	12.00	74,719.75	МО	896,637.00				
	RTA 56 Individual NYSHIP	12.00	46,348.39	MO	556,180.68				
	RTA 179 Family NYSHIP	12.00	338,776.96	MO	4,065,323.52				
	SUPT 1 Family NYSHIP	12.00	1,839.18	MO	22,070.16				
	Allowance for percentage increase during second 6 months of the school year (from January 1, 2022 to June 30, 2022. This is calculated by Sum of 12 month cost at the 2021 rates divided by 2 (to reflect only 6 months) multiplied by the estimated percentage increase	0.08	6,320,994.56	EA	505,679.56				
	9060 Health Insurance Function SubTotal					13,776,873.93	15,198,717.00	15,091,448.00	-0.71%
9061 ATTENDANO	CE PAYMENT Function								
9061-161-03-9000	0-303 ATTEND PAYMT PER CONTRACT					6,478.50	10,000.00	10,000.00	-
Some contracts payment.	s allow for a payment to employees for unused sick and personal days.	EBALR funds can be	e allocated to offse	et this					
	9061 ATTENDANCE PAYMENT Function SubTotal					6,478.50	10,000.00	10,000.00	0.00%
9065 HEALTH INS	OPT OUT Function								
9065-800-03-9000	0-303 HEALTH INS OPT OUT					1,137,179.77	1,381,538.00	1,256,047.00	-9.08

Percent Change

2021-2022 **

2020-2021

2019-2020

Roslyn Public Schools

Budget Development Detail Report

Fiscal Year: 2022

Budget Account Description Classifity Unit Cost Member Employees are entitled through their employment agreement or collective bargaining agreement to receive health insurance value contributing a percentage of the cost. If they have the ability to secure health insurance through another source (for example, through a spouse) the "waiter" program allows both the employee and the district to save mone that the results for the waiter is abarted between the sident of and the employee and the district to save mone than 18 and					Unit	Request/	Actual	Adopted	Proposed	F
conflictuting a percentage of the cost. If they have the ability to secure health insurance through another source (for example, through a spouse) the "valvet" program allows both the employee and the elistict to save more, that would otherwise be paid for health insurance. There are two levels of waiver: waiving coverage completely or reducing coverage from family to individual. The savings that results from the waiver is shared between the district and the employee according to a contributual argred upon percentage. Employee waiver payments are based on NYSHIP Empire Plan Annual Premiums and the specific provisions in the collective bargaining agreement. For 2021 calendar year 2022, we estimate these premiums will increase by 8%. The precentage of the savings path to the employee who chooses to waive coverage is 40% for secretaries, flood service workers, paraprofessionals, custodians and bus drivers, 30% for runses and teachers and 50% for all other employees. The percentage is applied to the basine that would be paid after the employee contribution. For example, RTM members therefore the July 1, 2019 pag 25% during 2021-22 so the contractual amount of 90% is applied to 77% of the premium. (RTM members therefore to July 1, 2019 pag 25% during 2021-22 so the contractual amount of 90% is applied to 1200 and 11,610.25 mode of 1200 and 11,610.25 mode and 1200	Budget Account	Description	Quantity			Item Amount	Expenditure	Budget	Budget	(
CMBD Family (16) 12.00 11,610.25 MO 139,323.00 CMBD Individual (2) 12.00 670.72 MO 8,048.64 CMBD Reduction (8) 12.00 3,205.61 MO 38,467.32 CONF Family (1) 12.00 965.11 MO 11,581.32 CONF Individual (1) 12.00 429.95 MO 5,159.40 RASA Individual (2) 12.00 500.00 MO 6,000.00 RESA Family (8) 12.00 6,147.74 MO 73,772.88 RESA Reduction (5) 12.00 2,135.29 MO 25,623.48 FSW Family (7) 12.00 5,259.84 MO 63,118.08 FSW Reduction (1) 12.00 25,324.43 MO 30,183.09 RPA Family (34) 12.00 2,326.02 MO 27,912.24 RPA Reduction (6) 12.00 2,515.25 MO 30,183.00 RTA Family (67) 12.00 30,76.85 MO 402,922.20 RTA Individuall 12.00 500.00 MO 6,000.00	contributing a puthrough a spous health insurance. The savings that percentage. Encollective barga \$2,452.24 per numer percentage of the paraprofessions applied to the burgay 23% during July 1, 2019 are	ercentage of the cost. If they have the ability to secure health insurance se) the "waiver" program allows both the employee and the district to save. There are two levels of waiver: waiving coverage completely or reduct results from the waiver is shared between the district and the employee mployee waiver payments are based on NYSHIP Empire Plan Annual Princing agreement. For 2021 calendar year the premium is \$1,074.87 per month for family coverage. For calendar year 2022, we estimate these per he savings paid to the employee who chooses to waive coverage is 40% als, custodians and bus drivers, 30% for nurses and teachers and 50% for alance that would be paid after the employee contribution. For example provided a flat dollar amount for waiving their health insurance: \$3,500 per second of the present s	through another source we money that would off cing coverage from fame according to a contra emiums and the specific month for individual coremiums will increase be for secretaries, food so or all other employees. RTA members hired primum. (RTA members	e (for example, herwise be paid to individual. ctually agreed up a provisions in the provisions. The percentage or or of July 1, 20 hired on or after	for con ee is 19					
CMBD Individual (2) 12.00 670.72 MO 8,048.64 CMBD Reduction (8) 12.00 3,205.61 MO 38,467.32 CONF Family (1) 12.00 965.11 MO 11,581.32 CONF Individual (1) 12.00 429.95 MO 5,159.40 RASA Individual (2) 12.00 500.00 MO 6,000.00 RESA Family (8) 12.00 6,147.74 MO 73,772.88 RESA Reduction (5) 12.00 2,135.29 MO 25,623.48 FSW Family (7) 12.00 5,259.84 MO 63,118.08 FSW Reduction (1) 12.00 454.89 MO 5,458.68 RPA Family (34) 12.00 25,324.43 MO 303,893.16 RPA Individuall (7) 12.00 2,326.02 MO 27,912.24 RPA Reduction (6) 12.00 2,515.26 MO 30,183.00 RTA Family (57) 12.00 33,576.86 MO 402,922.20 RTA Individuall 12.00 500.00 MO 6,000.00		Administrators Family (3)	12.00	2,810.88	MO	33,730.56				
CMBD Reduction (8) 12.00 3,205.61 MO 38,467.32 CONF Family (1) 12.00 965.11 MO 11,581.32 CONF Individual (1) 12.00 429.95 MO 5,159.40 RASA Individual (2) 12.00 500.00 MO 6,000.00 RESA Family (8) 12.00 6,147.74 MO 73,772.88 RESA Reduction (5) 12.00 2,135.29 MO 25,623.48 FSW Family (7) 12.00 5,259.84 MO 63,118.08 FSW Reduction (1) 12.00 454.89 MO 5,458.68 RPA Family (34) 12.00 25,324.43 MO 303,893.16 RPA Individual (7) 12.00 2,326.02 MO 27,912.24 RPA Reduction (6) 12.00 2,515.25 MO 30,183.00 RTA Family (57) 12.00 33,576.85 MO 402,922.20 RTA Individual (7) 12.00 50.00 MO 6,000.00		CMBD Family (16)	12.00	11,610.25	MO	139,323.00				
CONF Family (1) 12.00 965.11 MO 11,581.32 CONF Individual (1) 12.00 429.95 MO 5,159.40 RASA Individual (2) 12.00 500.00 MO 6,000.00 RESA Family (8) 12.00 6,147.74 MO 73,772.88 RESA Reduction (5) 12.00 2,135.29 MO 25,623.48 FSW Family (7) 12.00 5,259.84 MO 63,118.08 FSW Reduction (1) 12.00 454.89 MO 5,458.68 RPA Family (34) 12.00 25,324.43 MO 303,893.16 RPA Individual (7) 12.00 2,326.02 MO 27,912.24 RPA Reduction (6) 12.00 2,515.25 MO 30,183.00 RTA Family (57) 12.00 33,576.85 MO 402,922.20 RTA Individual 12.00 500.00 MO 6,000.00		CMBD Individual (2)	12.00	670.72	MO	8,048.64				
CONF Individual (1) RASA Individual (2) RESA Family (8) RESA Reduction (5) 12.00		CMBD Reduction (8)	12.00	3,205.61	MO	38,467.32				
RASA Individual (2) RESA Family (8) 12.00 500.00 MO 6,000.00 RESA Family (8) 12.00 6,147.74 MO 73,772.88 RESA Reduction (5) 12.00 2,135.29 MO 25,623.48 FSW Family (7) 12.00 5,259.84 MO 63,118.08 FSW Reduction (1) 12.00 454.89 MO 5,458.68 RPA Family (34) 12.00 25,324.43 MO 303,893.16 RPA Individuall (7) 12.00 2,326.02 MO 27,912.24 RPA Reduction (6) 12.00 2,515.25 MO 30,183.00 RTA Family (57) 12.00 33,576.85 MO 402,922.20 RTA Individuall		CONF Family (1)	12.00	965.11	МО	11,581.32				
RESA Family (8) 12.00 6,147.74 MO 73,772.88 RESA Reduction (5) 12.00 2,135.29 MO 25,623.48 FSW Family (7) 12.00 5,259.84 MO 63,118.08 FSW Reduction (1) 12.00 454.89 MO 5,458.68 RPA Family (34) 12.00 25,324.43 MO 303,893.16 RPA Individuall (7) 12.00 2,326.02 MO 27,912.24 RPA Reduction (6) 12.00 2,515.25 MO 30,183.00 RTA Family (57) 12.00 33,576.85 MO 402,922.20 RTA Individuall 12.00 500.00 MO 6,000.00		CONF Individual (1)	12.00	429.95	МО	5,159.40				
RESA Reduction (5) 12.00 2,135.29 MO 25,623.48 FSW Family (7) 12.00 5,259.84 MO 63,118.08 FSW Reduction (1) 12.00 454.89 MO 5,458.68 RPA Family (34) 12.00 25,324.43 MO 303,893.16 RPA Individuall (7) 12.00 2,326.02 MO 27,912.24 RPA Reduction (6) 12.00 2,515.25 MO 30,183.00 RTA Family (57) 12.00 33,576.85 MO 402,922.20 RTA Individuall 12.00 500.00 MO 6,000.00		RASA Individual (2)	12.00	500.00	МО	6,000.00				
FSW Family (7) 12.00 5,259.84 MO 63,118.08 FSW Reduction (1) 12.00 454.89 MO 5,458.68 RPA Family (34) 12.00 25,324.43 MO 303,893.16 RPA Individuall (7) 12.00 2,326.02 MO 27,912.24 RPA Reduction (6) 12.00 2,515.25 MO 30,183.00 RTA Family (57) 12.00 33,576.85 MO 402,922.20 RTA Individuall 12.00 500.00 MO 6,000.00		RESA Family (8)	12.00	6,147.74	МО	73,772.88				
FSW Reduction (1) 12.00 454.89 MO 5,458.68 RPA Family (34) 12.00 25,324.43 MO 303,893.16 RPA Individuall (7) 12.00 2,326.02 MO 27,912.24 RPA Reduction (6) 12.00 2,515.25 MO 30,183.00 RTA Family (57) 12.00 33,576.85 MO 402,922.20 RTA Individuall 12.00 500.00 MO 6,000.00		RESA Reduction (5)	12.00	2,135.29	МО	25,623.48				
RPA Family (34) 12.00 25,324.43 MO 303,893.16 RPA Individuall (7) 12.00 2,326.02 MO 27,912.24 RPA Reduction (6) 12.00 2,515.25 MO 30,183.00 RTA Family (57) 12.00 33,576.85 MO 402,922.20 RTA Individuall 12.00 500.00 MO 6,000.00		FSW Family (7)	12.00	5,259.84	МО	63,118.08				
RPA IndividualI (7) 12.00 2,326.02 MO 27,912.24 RPA Reduction (6) 12.00 2,515.25 MO 30,183.00 RTA Family (57) 12.00 33,576.85 MO 402,922.20 RTA IndividualI 12.00 500.00 MO 6,000.00		FSW Reduction (1)	12.00	454.89	МО	5,458.68				
RPA Reduction (6) 12.00 2,515.25 MO 30,183.00 RTA Family (57) 12.00 33,576.85 MO 402,922.20 RTA Individuall 12.00 500.00 MO 6,000.00		RPA Family (34)	12.00	25,324.43	МО	303,893.16				
RTA Family (57) 12.00 33,576.85 MO 402,922.20 RTA IndividualI 12.00 500.00 MO 6,000.00		RPA Individuall (7)	12.00	2,326.02	МО	27,912.24				
RTA IndividualI 12.00 500.00 MO 6,000.00		RPA Reduction (6)	12.00	2,515.25	МО	30,183.00				
		RTA Family (57)	12.00	33,576.85	МО	402,922.20				
RTA Reduction (5) 12.00 2,211.94 MO 26,543.28		RTA Individuall	12.00	500.00	МО	6,000.00				
		RTA Reduction (5)	12.00	2,211.94	МО	26,543.28				

Budget Development Detail Report

Fiscal Year: 2022

Budget Account		Description	Quantity	Unit Cost	Unit Measure	Request/ Item Amount	2019-2020 Actual Expenditure	2020-2021 Adopted Budget	2021-2022 ** Proposed Budget	Percent Change
	of the s	nnce for percentage increase during second 6 months school year (from January 1, 2022 to June 30, 2022. If 12 month cost divided by 2 multiplied by percentage se	0.08	603,868.62	EA	48,309.49				
		9065 HEALTH INS OPT OUT Function SubTotal					1,137,179.77	1,381,538.00	1,256,047.00	-9.08%
9070 Dental Insura	ance Fur	nction								
9070-800-03-9000)-303	DENTAL INSURANCE					155,998.03	161,248.00	162,615.00	0.85
	the cos	strict contributes a specified amount (\$350 per year) to st of dental insurance for members of the RCBDMA in lance with their collective bargaining agreement.	81.00	350.00	YR	28,350.00				
	the cos	strict contributes a specified amount (\$350 per year) to st of dental insurance for members of the FSA in dance with their collective bargaining agreements.	20.00	350.00	YR	7,000.00				
	the cos	strict contributes a specified amount (\$350 per year) to st of dental insurance for members of the RPA in lance with their collective bargaining agreement.	120.00	350.00	YR	42,000.00				
		strict contributes a specified amount (\$650 per year) at the cost of dental insurance for the members of .	33.00	650.00	YR	21,450.00				
	family)	strict pays 100% of the cost of coverage (individual or) for all managerial and confidential employees (19 yees) in accordance with their employment agreement	1.00	22,098.72	YR	22,098.72				
	of indivi towards balance	employees contribute \$28.76 per year towards the cost vidual coverage (3 employees) and \$132.26 per year its the cost of family coverage (19 employees) with the per paid by the district in accordance with their collective ning agreement.	1.00	38,527.66	YR	38,527.66				
	Allowar	nnce for 2% increase in premium for 2021	0.02	159,427.26	EA	3,188.55				
		9070 Dental Insurance Function SubTotal		,			155,998.03	161,248.00	162,615.00	0.85%
9075 Union Welfar	re Trust 1	Function								
9075-800-03-9000)-303	Union Welfare Trust Benef					794,508.00	842,625.00	874,125.00	3.74

Budget Development Detail Report

Fiscal Year: 2022

Budget Account		Description	Quantity	Unit Cost 1	Unit Measure	Request/ Item Amount	2019-2020 Actual Expenditure	2020-2021 Adopted Budget	2021-2022 ** Proposed Budget	Percent Change
We are budgeting These payments a of this payment is vision insurance at 2018-19 as a resu	are on a p to allow t t no addi ilt of a ne	ments made to the RTA Benefits Fund for members of the R per capita basis in accordance with the provisions of the Co the Benefits Fund to provide benefits such as life insurance itional cost to the district. The budgeted amount is significate we collective bargaining agreement with the RTA that eliminating by members with the Benefit Fund.	RTA and others covered bollective Bargaining Agreed, excess major medical intention lower than the actual	by the Benefit Fu ement . The pur nsurance, and I expenditure fro	ind . pose om	Ilem Amount	Experiordie	Buuyet	Duuyet	Citatige
	Contribu CBA	tion to RTA Welfare Trust Fund in accordance with	315.00	2,775.00	EA	874,125.00				
		9075 Union Welfare Trust Function SubTotal					794,508.00	842,625.00	874,125.00	3.74%
9080 Non-Cash Annu	uity Fun	ction								
9080-800-03-9000-30	03	BENEFITS NON CASH ANNUITY					181,000.00	195,000.00	206,000.00	5.64
1	the distri	dance with collective bargaining agreements (RASA) ict contributes towards a non-elective 403b plan in unt of \$5,000 per member paid out in two equal ents during the year.	23.00	5,000.00	EA	115,000.00				
In acco district Superir Superir Adminis Officer Operati Techno manage Murtagi		dance with individual employment agreements, the contributes to non-elective 403b programs for the tendent of Schools (\$25,000), Assistant tendent for Busines (\$15,000), two Assistant tendents for Instruction (\$7,000 each), Assistant trator for Business (\$8,500), Public Information \$4,000), Assistant to the Superintendent for ons (\$3,500), Assistant to the Superintendent for ons (\$3,500), Assistant to the Superintendent for ons (\$3,500), Assistant to the Superintendent for one (\$1,500), Assi	1.00	81,000.00	EA	81,000.00				
,	Allowand	ce for Negotiated Increases	1.00	10,000.00	EA	10,000.00				
		9080 Non-Cash Annuity Function SubTotal					181,000.00	195,000.00	206,000.00	5.64%
9089 Other Employe	e Benefi	ts Function								
9089-160-03-9000-303 CLERICAL TERM PAY							40,866.34	-	-	-

Budget Development Detail Report

Fiscal Year: 2022

Budget Account	Description	Quantity	Unit Cost 1	Unit Measure	Request/ Item Amount	2019-2020 Actual Expenditure	2020-2021 Adopted Budget	2021-2022 ** Proposed Budget	Percent Change
	9089 Other Employee Benefits Function SubTotal					40,866.34	-		***.**%
9711 Serial Bonds-Scl	hool Construction Function								
9711-600-03-9000-303	3 PRINCIPAL					3,350,000.00	3,435,000.00	3,535,000.00	2.91
During 2008 we refusignificant savings in during 2009 we refuz012 we refundied the principal and interesissued \$24.5 million. We also plan to app	made our last payment on that portion of the bonds that had been unded the remaining portion of the bonds that had been issued in interest payments as a result of the favorable interest rate environded the 2001 Serial Bonds that had been issued at a great saving the 2002 Serial Bonds and additional savings are reflected in this st payments on the refunding bonds for that portion of the 1997 but in new debt in September 2016 the final \$3.945 million in April 2 propriate from the Debt Service Fund the full amount of the debt stallow taxpayers to experience a relatively level tax levy to support	1997 and were callable comment for borrowing at age on interest payment budget. During 2015-1 ands that were callable. D17 as authorized by the cruice payments for all the comments for all the comments.	resulting in a that time. Similar s. During the spri 6 we made the las During 2016-17 v e voters in May 20 conds issued prior	ng t ve 114.					
20	009 Serial Bond (2001 Refunding) (Final Payment)	1.00	1,390,000.00	EA	1,390,000.00				
20	012 Serial Bond (2002 Refunding) (Final Payment)	1.00	325,000.00	EA	325,000.00				
20	016 Serial Bond 24,505,000 @ 2.0027%	1.00	1,555,000.00	EA	1,555,000.00				
20	017 Serial Bond 3,945,000 @ 2.3713%	1.00	265,000.00	EA	265,000.00				
9711-700-03-9000-303	3 INTEREST					717,718.76	602,294.00	483,144.00	-19.78
20	009 Serial Bond (2001 Refunding) (Final Payment)	1.00	34,750.00	EA	34,750.00				
20	002 Serial Bond (2012 Refunding) (Final Payment)	1.00	6,500.00	EA	6,500.00				
20	016 Serial Bond 24,505,000 @ 2.0027%	1.00	353,243.76	EA	353,243.76				
20	017 Serial Bond 3,945,000 @ 2.3713%	1.00	88,650.00	EA	88,650.00				
		1.00	0.24	EA	0.24				
	9711 Serial Bonds-School Construction Function SubT	otal				4,067,718.76	4,037,294.00	4,018,144.00	-0.47%
9720 Statutory Bonds	-Other (specify) Function								
9720-600-03-9000-303	3 EPC PRINCIPAL					281,499.40	288,467.00	295,607.00	2.48

50,000.00

Roslyn Public Schools

Budget Development Detail Report

Fiscal Year: 2022

Fund: A GENERAL FUND

Budget Account	Description	Quantity	v Unit Cos	Unit t Measure	Request/ Item Amount	2019-2020 Actual Expenditure	2020-2021 Adopted Budget	2021-2022 ** Proposed Budget	Percent Change
The Energy Per lighting, motors, bills each year. under the super the cost of the r 2011-12, as a reagreement at a	formance Contract (EPC) was designed to make o , burners and windows. The project virtually pays for the project was financed through the lease-purcharvisorn of our architect and with the approval of the new equipment on February 18, 2024 which will reseault of very favorable market conditions, we have be significant additional savings to taxpayers. The path principal and interest will be \$40,000 less per year.	or itself through the energy savings that ase of the equipment we had installed State Education Department. We will ult in an additional savings of \$316,16 peen able to refinance the lease purch yments this year and for the remaining	nstalling more effici at we realize in our by Johnson Contro have completely p 0 per year. During ase installment y years of the new	ent utitlity ols oaid off			zuagok	Sugu	Sharigo
	EPC Principal Payments 20 and 21 of 25	1.0	295,606.79	9 EA	295,606.79				
9720-700-03-9000	1-303 EPC INTEREST					34,660.74	27,694.00	20,554.00	-25.78
	EPC Interest Payments 20 and 21 of 25	1.0	0 20,553.3	5 EA	20,553.35				
	9720 Statutory Bonds-Other (specify)	Function SubTotal				316,160.14	316,161.00	316,161.00	0.00%
9731 Bond Anticip	pation Notes Function								
9731-600-03-9000	9-303 BAN PRINCIPAL					92,976.60	173,784.00	234,882.00	35.16
	Payment of 1/5 of the principal amount of BAN is purchase of Buses	ssued for the 0.2	20 1,174,407.0	0 EA	234,881.40				
9731-700-03-9000	0-303 BAN INTEREST					13,946.48	17,379.00	23,489.00	35.16
	Payment of Interest Accrued on BAN issued for to f Buses	the purchase 0.0	1,174,407.00	0 EA	23,488.14				

or our randolpation motor i another

9760-700-03-9000-303 INTEREST TANS

The first installment of school taxes transmitted to us from the tax receiver happens in late November each year. Our cash flow and fund balance has allowed us to avoid the necessity of borrowing money in anticipation of taxes that would be received after the beginning of the school year. We are including an appropriation for 2021-22 even though we have not had to sell TANS for several years. This year, with the possibility of delayed tax payments and mid-year reductions in state aid, we need to be prepared for a possible shortfall in our cash flow in the first semester. This approporation is in anticipcatation of a borrowing of \$5 million at 2% interest for 6 months.

Budget Development Detail Report

Fiscal Year: 2022

Fund: A GENERAL FUND

Budget Account	Description	Quantity	Unit Cost	Unit Measure	Request/ Item Amount	2019-2020 Actual Expenditure	2020-2021 Adopted Budget	2021-2022 ** Proposed Budget	Percent Change
5 n	nm at 2% for 6 months	0.01	5,000,000.00	EA	50,000.00				
	9760 Tax Anticipation Notes Function SubTot	al				-	-	50,000.00	***.**%
9785 Install Purch Debt	t-State Aided Hardware Function								
9785-600-03-9000-303	PRINCIPAL					360,700.80	268,420.00	95,044.00	-64.59
now paying off the las	a total of 5 lease purchases for new buses during the st one. The current budget (2021-22) also includes the assuming financial conditions remain favorable, we will use of buses during the 2018-19, 2019-20, 2020-21 and	ne funds necessary to continue on Il once again go out to bid on a B	ur replaceement	of our					
	s Lease Payments 8 and 9 of 10 (Key Govt Finance) 117)	1.00	95,043.14	EA	95,043.14				
9785-700-03-9000-303	INTEREST					12,872.26	6,836.00	2,646.00	-61.29
	s Lease Payments 8 and 9 of 10 (Key Govt Finance)	1.00	2,645.88	EA	2,645.88				
	9785 Install Purch Debt-State Aided Hardware	Function SubTotal				373,573.06	275,256.00	97,690.00	-64.51%
9901 Transfer to Other	Funds Function								
9901-930-03-9000-303	TRANSFER TO SCHOOL LUNCH					400,000.00	450,000.00	450,000.00	-
	ne recommendations of our auditor and review by the ochool Lunch Fund so that it accurately reflects the cost food to children.								
ope foo	ansfer to School Lunch Fund to cover deficits created be eration of the program, Federal and State rules concer and swe are allowed to serve and restrictions on our electing debts from students.	•	450,000.00	EA	450,000.00				
9901-950-03-9000-303	TRANSFER TO SPEC AID FUND					146,505.07	428,607.00	428,607.00	-
the	ansfer to Special Aid Fund to cover expenses paid thro e Special Aid Fund but not reimbursed in accordance w accordance was special solutions and SED requirements other than Sumi	vith	150,000.00	EA	150,000.00				

Program

Budget Development Detail Report

Fiscal Year: 2022

Budget Account	Description	Quantity	Unit Cost	Unit Measure	Request/ Item Amount	2019-2020 Actual Expenditure	2020-2021 Adopted Budget	2021-2022 ** Proposed Budget	Percent Change
	Transfer to Special Aid Fund to cover expenses for the Summer Program paid through the Special Aid Fund but not reimbursed in accordance with grant regulations and SED requirements	1.00	278,606.11	EA	278,606.11				
		1.00	0.89	EA	0.89				
	9901 Transfer to Other Funds Function SubTotal					546,505.07	878,607.00	878,607.00	0.00%
9950 Transfer to C	Capital Fund Function								
9950-900-03-9000	1-303 TFER-CAPITAL FUND					1,750,000.00	2,000,000.00	2,380,000.00	19.00

Budget Development Detail Report

Fiscal Year: 2022

Fund: A GENERAL FUND

2021-2022 ** 2019-2020 2020-2021 Unit Request/ Actual Adopted Proposed Percent **Budget Account** Description Quantity Unit Cost Measure **Item Amount** Expenditure **Budaet** Budget Change

The transfer of \$2,380,000 to the Capital Fund, in addition to the projects listed below, will allow us to complete capital projects that may not be included in, or anticipated to be fully funded by, the bond proposition and/or the capital reserve expenditure propositions and/or previous transfers to the Capital Fund. For example, we can purchase furniture and equipment that was not included in the renovation work paid for through the bond and/or the capital reserve expenditures. Funds will be allocated so as to complete projects that have not yet been completed, to insure student safety, and to preserve and protect district property.

- * Replacement of the Lift at the Heights Gymnasium
- * Replacement of sidewalks, curbs, paving, drainage and lighting at all district locations (including parking lots) as necessary
- * Renovation of the Interior space at Hilltop Academy including doors, floors, ceilings, windows, lighting, HVAC and electric service upgrade as necessary
- * District wide abatement of hazardous materials including but not limited to basement at the Administration building
- * Repair and replacement of septic systems at all district locations including but not limited to the Administration Building
- * Purchase and installation of a generator to provide continuous uninterrupted power at the bus garage
- * Renovation of Administration Building including both the lower level and the first floor which will allow us to return the Board Room to the Administration Building for use as a community resource room and moot court as well as returning the HS Commons to instructional use
- * Improving the acoustics in classrooms including but not limited to the installation of sound-proofing materials in classroom walls at the High School
- * Irrigation and sitework including drainage on playfields, flower beds, and grass areas around buildings at all district locations including site work at the Harbor Hills and Heights Elementary Schools fields, including drainage, irrigation and associated remediation work
- * Repair and replacement of roof systems district wide
- * Repair and replacement of fuel tanks and fuel alarms district wide
- * Upgrades of ceilings, lighting, flooring and wall coverings in all district locations including specifically the Heights Gymnasium, padding at the MS gymnasium, the main gymnasium at the high school and 2nd floor classrooms at the High School
- * Replacement of existing HVAC systems at all district locations as necessary
- * Replacement of plumbing fixtures and associated piping as necessary throughout the district (for example, the sinks in the high school science laboratories).
- * Furnishings and equipment necessary for the renovated libraries and new instructional spaces furnished through the bond and/or the capital reserve.
- * Renovation of common spaces (including but not limited to the cafeterias, libraries and auditoria) at each school
- * Renovation of interior classroom closets/lockers/cubbies at all locations including but not limited to East Hills Elementary School
- * Replace the doors and windows and HVAC system at the Harbor Hill breezeway
- * Renovate the courtyard at Harbor Hill to accomodate an outdoor classroom
- * Additional funding as may be required in order to add up to 10 new classrooms at East Hills Elementary School
- * Reconstruct the tennis courts at the HS and MS and create appropriate walkways and spectator areas at these courts
- * Replacement of the turf blanket at the HS athletic field and construction of new turf baseball and soccer fields at the HS
- * Renovation of the kitchens at each school building with the exception of the high school
- * Security upgrades as necessary at all district locations
- * Repair and replacement of perimeter fencing district wide

Continuing Annual Appropriation	1.00	750,000.00	EA	750,000.00
2020-21 Additional Appropriation	1.00	1,630,000.00	EA	1,630,000.00

Budget Development Detail Report

Fiscal Year: 2022

Budget Account	Description	Quantity	Unit Cost	Unit Measure	Request/ Item Amount	2019-2020 Actual Expenditure	2020-2021 Adopted Budget	2021-2022 ** Proposed Budget	Percent Change
9950-970-03-9000-303	TFER-Repair Reserve					-	200,000.00	200,000.00	-
	eserve is to have funds available to make repairs to capital importance bearing preceding the expenditure. Voter approval is require								
all district replenish during 20	Il Funds dedicated to the repair of capital assets at locations. This is the second installment to the repair reserve after expenditures authorized 17-18 for refinishing gym floors, replacing HVAC triping the HS track.	1.00	200,000.00	EA	200,000.00				
[9950 Transfer to Capital Fund Function SubTotal					1,750,000.00	2,200,000.00	2,580,000.00	17.27%
Total GENERAL FUND						107,083,829.16	115,330,236.00	118,663,250.00	2.89%

^{*}Proposed budget amounts reflect rounding of the sum of the detailed items listed.